AGIOGID

5)) 7] 3E B8
25 JH BRI B

HENMERT 2!

POWER CHUCKS ROTARY CYLINDERS CLAMPING SERIES




l:w .=w ‘A ‘ -

THERRROARAT

FE B 1989 F=RMIINEE - L AUTOGRIP frAEFTEH
2R BN AKRE - FHELDEHEEEERIT A
FIERMNIFEENE BT HRBRESBE(CNERS
ZHPRTE -

BMEE

EEBRATRMEEE RS BRI - 151 4000 £F -
ERELENEERE  EU/MBPL BFETIES
BEHNERECEHREURTERHE - RAFFERR
RE  BAORNREEREK  BESKINEFRRE

LOCATION OF AUTOGRIP

“RANUREMRETERE - HEMCEERNEFRE
ER FELEEG6N - 8K 10 WA hZEE) /) 3eFE K38
BHEL FEERAMELEE  EEREHSHREL

BRHEK -

REEE

KT

VITANT

AUTOGRIP MACHINERY COMPANY

AUTOGRIP machinery was established in 1989 in Taiwan.
Our product lines focus on the power chucks, rotary
cylinders and automatic clamping series.

We provide the optimized solutions and services for our
customers worldwide.

AUTOGRIP Machinery's main factory is located in Puxin,
Changhua, Taiwan, covering an area of 13,223 square
meters. It is equipped with advanced production equipment
and serves as the company's R&D center, focusing on the
production of small-volume, customized parts and new
product development. We adhere to world-class standards to
meet customer needs and ensure high customer satisfaction.

The second factory, located in Yunlin Technology Industrial
Park, is an automated production line specializing in
standard products. It mainly produces 6", 8", and 10" hollow
power chucks and rotary hydraulic cylinders. With a focus
on mass production, it meets the market demand for quick
delivery.

= AUTOGRIP'S BUSINESS PHILOSOPHY

FHMEHEEERBE  ROIRNEHREEENEmERT -

Committed to integrity and professionalism, we strive to
provide the most professional products and services.



AUGTOG >

BMREEE WEARE FROM TAIWAN

EEBWITANERE 2T - SEFTRETHENE  Frld All the products of AUTOGRIP are designed and made in
oI BRIBRANERERANSERE - BREMA - our hometown-Taiwan. You can find that our products have
BASHMESEENSRE - BENEREXEEA a strong Taiwan spirit- solid and durable, with high rigidity
7O - EERAREHEBILN T4 ISRR SRR and high precision.

AR7 - Our company has a good reputation in the industry.

AUTOGRIP is devoted to providing the optimized solutions
and service for the workpiece clamping needs.



EEHEmMEEAIGRERE

AUTOGRIP MECHANICAL TESTING LAB.

EEHMEENHEREANRRIZWARRBEERT  REMMBERERRENEE - MEMLHA -
PR —ERRENAE - BRERMERBESSRAESE ERRREBREPTFERRER - BREm
ERmEE—NY  BEFPHNERLER RUHEPEZONERERLER -

mé‘ﬂi

AUTOGRIP mechanical testing lab. continues to develop reliable test equipments and technique for controlling the
product quality. Before the new product is launched to the market, the products will go through a series of tests to
ensure that the performance and accuracy meet the design specifications. Products in the manufacturing process are
also tested regularly to ensure the products are of good quality and consistent.

The Lab controls the quality for the customers and provides customers with the most satisfied experience when

using the products.



B A& 345 R0
Dynamic Gripping Force Test

e The curve of gripping force against rotary speed is obtained via force sensor at a given test condition.

BAERIT JM4EE  Gripping Force Graph
-4~ Autogrip 3H-206
- FEHEES
80
70
60 — —
E [~
%
g ; -\"\.\
g ~
g ~
g
O 20
R
w10
13
0 1000 2000 3000 4000 5000 6000
@ 3% speed (r.p.m.)

&) 2208 085

Dynamic Oil Leaking Test

o SRPHERLIEAREE FRRE - BARAKTSHE -

e The oil leaking of cylinder is measured at different rotary speed to ensure it is within engineering specification.

BRREtSMHEARE Total Leakage Characteristic Graph

4 ALRREE B BILRRE Model: TH-AS36

26
25

y -

@35 R E Total Leakage( |/min)
N
sy

0 —p

0 1000 2000 3000 4000 5000 6000 7000

# 3% speed (rp.m.)




vour TRUSTED PARTNERON \WORKHOLDING



EJ R

Why AUTOGRIP?

1 BMRAEERENRETEEE

FEHNEBW : BB URFRRAERAFR
7RI HER L B8 5 R R R R,
1SR, S SR E m B RIE MRS 2

2. FTEEN ] AR GAMN 2 ) ER R B ]

BYJ3KEE BT~ 7\, BRMNITIE , BAIT,
VEN, ARREAZNERNE UK
51,
T RS B TR R,
SRR [ SRR, BSEI | SITRIRRIBERESE
EiE,

3. RIFRVRZ BN =AY AR TS

AUTOGRIP BRI UKR—EHUE R REES
BEBE, BfNFEE RSB AEIREE
B E AR

IR T HRIGHREBH !

1. Custom design service

Example: Solution of automatic workholding
and workpiece seating confirmation, special
requirement on air/hydraulic cylinder, rotary valve,
rotary joint, or customized soft jaw/hard jaw.

2. Variety of chucks & cylinders

Chuck: 1-jaw to 6-jaw chuck from 3” to 797, Extra
long stroke, Pull back, Stationary chucks, Collet
chucks and other clamping solution.

Cylinder: through-hole, Non-through hole, Stroke
control, Coolant/air connection, Air cylinder,
Double rod, Compact style.

3. Faster delivery and satisfied service.

Since its establishment, AUTOGRIP has always
prioritized customer satisfaction as our primary
goal. Our professional team is dedicated to
providing you with high-quality products and
services.



GRIPPING FORCE SENSOR

LSS Pal- ¥k

AUTOGRIP

GFS-100

3 155 71 BRI 2%

Gripping force sensor

Y58 / FEATURES

e EF 50 EHEE -

« Type-C ZEEF -

- SHAEIREES

= 712 Android 1 iOS -
e TJfCE 2 JTUEL 3 JTURAE -

Supports Android and iOS.

Stable Bluetooth 5.0 Transmission.
Convenient Type-C Charging.
High-Performance Lithium Battery.

Configurable for 2-Jaw or 3-Jaw Operation.

GFS-100

\ ANDROID APP ON
Google Play

2 Available on the

.Apple Store

FFFHRORZRRAE « % - F2SHESMMAEE - GFS-100 specifications and dimensions, Please refer to Accessories pages.




POWER CENTERING VISE
8 71 %€ 10 R §H

AUTOGRIP

B 1 E /DR

POWER CENTERING VISE

Y58 / FEATURES

- SMNUE - FE - BRRAEZEEAA -

o WEMEM - CERREIREES -

- NEAESERBARNE - IRFEREFEE -
o BRARTRENIPOH -

= Slim and short profile for improved workspace utilization.
= Built-in hydraulic cylinder operable by either

pneumatic or hydraulic pressure.
= |nput ports available on both the side and

bottom for flexible connection options.
= Suitable for milling machines and machining centers.

Rl RiR T E
Side air inlet port

SR - G - E - BH2EENELRIEER - Model, specifications, and dimensions, please refer to the Power Centering Vise page.



SWING TYPE THREE-JAW CHUCK

EEN BB HI = T\ 3R EH
o\¢;
AUTOGRIP '\ll

ny, g
NS,
BE1S5H 2020

TAIWAN EXCELLENCE
W 1R B 15 1 = TR
SWING TYPE THREE-JAW CHUCK

Y58 / FEATURES

o BERFIHE  BiEFEUNE -

- BEBRHFREHNEREERS BESEK20E -
- RMEBRA 5 EREEHERXKT -

- BRKKTIBRE -

* Grip the work piece in radial direction and then pull down.
* Gripping on forging or casting part with taper up to 20°

e Jaw equalizing: 5°Max.

« Anti-dust and Seal proof for cutting fluid,easy to maintain.




LARGE THRU-HOLE AIR CHUCK

KA EPZERENFE

AUTOGRIP

SN
INe

BE15m2018
TAIWAN EXCELLENCE

=M

thZs )

¥ / FEATURES

o BAREAR : @52mm~B375mm -

o BEARREMML -

ENERZRF - NEREL -
BRERLRIE  HELEREEBRE -
Large thru-hole : @52mm~@375mm.
No distributor ring needed.

Easy to install.
Less maintenance.

HHFIRARL

PATENTED AIR FEED SYSTEM

e HEATUERZS - BARE CHTEMUSH/RK -

o BIEFHE ol AR SR - HER
REFLE -

e Built-in cylinder / Check valve.

e Pressure detection / Unique design.



POWER CHUCK FOR VERTICAL LATHE
B PEMTE KB 7K 8) 71385

AUTOGRIP

SERIES
E]l

B KB ZEO[2ZE The maximum diameter is

2000mm(79")

= T ch B e e EmAR/RT: B 3,45 6MEET -
e IXo— SREE

= 30 N e B :12"~79"EEEE -
o FMOIFERETE, URIHKLD - ¥ 30 S R A |:E 25 -
BrthiB RFhKaast - RAIBEEEARUNER - e

. . e Various Models / Size:
It's a WEDGE-HOOK type 3-jaw high speed power chuck. Available in 3 , 4 and 6-jaw versions
With manual radial setting of master jaws for the workpieces centering. - ’ '
Sealed against swarf, chips and coolant, suitable for vertical lathe. -

with sizes 12 to 79 inch diameter.
Rotary cylinder : RE series .



POWER INDEXING CHUCK

BH&#53 EREE

AUTOGRIP

3 &) 70 [ 3 BH
Power Indexing Chuck

Y58 / FEATURES

o THEBBRTETHEERNF URSELFMZEETRESRSE -
o REASHIERCRBEBME - WEEES -

e BKRBIERET -

- SHMERBRSEERE -

BRNDERXRNREZGE - KEEBRNRANEE - UEMS -

Indexing operates during the spindle rotation, can perform a quick change between multiple working axles.
All parts of chuck hardened, ground and lubricated directly.

Sealed against swarf, chips and coolant.

High rigidity and high repeatability precision.

Unique indexing system and hydraulic system, with pressure detection device in chuck, high reliability.




STATIONARY CHUCK BASE PLATE
17 B 3R BR EE

AUTOGRIP

17 & 2 B8 FEE 1y

Multi-plate.4-plate

MP

’f*—;@ / FEATURES

o BRARHRK / HEMIPOH -

o [EIRSANLTIE T4 (oI51%2 23,6 THEMNER) -

» OJ#&fc SP/SM/SD/SU/SE 11 &35 -

- ERHE/ RE -

- SERESBIIEIEEH -

- RIHEMET  URERBRLFESE -

- REBEE (ER)-

- BB (ER) -

e For milling machine / machine center.

Allow simultaneous machining with up to 4 grippers.
(Order can be customized for 2,3,6 grippers).

Work with SP/SM/SD/SU/SE vertical chuck.

Driven by Hydraulic or Pneumatic.

Individual circuit for each chuck.

Special design and reduce the height of working surface.

Lock valve unit (optional).
Air tight detection function(optional).

T ERXKIEZRT| STATIONARY CHUCK SERIES

SP - T B =/TKEE
SP-type

* R -
*Wedge-hook type.

SD - U E X EHIRER
SD-type

* sl BUH I RERA -

*Pull down / Heavy duty

machining/Air tight detection.

SE - U B NREHI TR
SE-type

B AERE | fER
e

*Pull lock / Inner dia. clamping
/ Air tight detection.

SM - T E R RITIZHER
SM-type

*BRIUTE / 8818 -
*Long jaw stroke/Air tight
detection.

SU - Y E R MEEEHIEGE
SU-type
*arst / BYHI RBRA -

*Pull lock / Heavy duty machining/

Air tight detection.



RUBBER GRIP COLLET
1R

AUTOGRIP

REE

BHRAR

i —
—= ¥

I EFRAEES

CBD

g | BAtlE | RE

=18 I

PIARFHES : REM (R) il
BEETURETE - MEEREER

SCB

5 JR 05 7

HEEARS 18 2 1 A0

RG

TR Ss

ENMEE

RG

E—HBEEXRZRFHEETTEZE £0.5mm



ROTARY CYLINDER & LINEAR POSITION SENSOR
EEHGZE / pEEEHBIMNAMEEURAKE

AUTOGRIP

Y58 / FEATURES

e Z1TIEWMA -

o BT HRATFEHEETIEREA -

o SHMEHRISRE - B TIEREE -

o = %5128 M ERE EE E] B O] #E AL -

e Entire stroke range position monitoring.

e Position setup by teach-in function.

e Manual adjustment for proximity switch is
unnecessary when changing workpiece.

e Suitable for sub-spindle or vertical
lathes with limited space.

e Reduce idle time, increase throughput.

U BRI BRI

© AUTOGRIP



HYDRAULIC CYLINDER WITH ROTATING JOINT

40 33 432 5A b 32 BY 30 83 0 B 6]

AUTOGRIP

RC-125S-F2- 5k / BIED / £3@E
Proximity switch with bracket With double paths rotating joint(Fixed type)

Rc series

30§83 0A I % B T B BA ]

HYDRAULIC CYLINDER WITH ROTATING JOINT

%58 / FEATURES

BTG REHET -

o4 MEERE ERELEEER - BRRERERA KD O KIFEK

NI E7E B A -

OB IEFT S BRI RS AR AL E BORI SR E I TIT IR 12 -
MERBNIMNEEREN SR EEEHRAERM

Medium and solid hydraulic cylinder with channel.

Can choose an external rotary joint with either single or double paths.

It meets the demand for coolant through spindle and airtight pressure detect function.
Has a buil-in check valve for safety.

The proximity switch and single or double paths rotating joint are optional.
Stroke control via proximity switch or linear positioning system.



AT

Y
H

H
UCK CHOOES PROPOSE LIST

4

TE 12 i %

ik

i:Eu::

W EHEIH
(THZBEEA)

Shaft-type workpiece
Pipe-type workpiece

(FRZEED

(reEmEE=

}______

(Insertion of workpiece
axis into chuck required)

Bk - ZREEIH
Plate-type workpiece ]
Flange-type workpiece

BEOEETH
Center-based
workpiece

L Seating confirmation not required) k Reduce maintenance frequency
= )
Bl ¥ 3 5 SMEEE
Gripping round figure (" N N\ O.D. (Outer Diameter) based
= T Y
L Seating confirmation required . W @-é Ei% h
1.D. (Inner Diameter) based )
[l
4 — = N |
PR AL i
\Buﬂt—ln air cylinder ) |
|
|
|
|
|
% |
B IS |
REATH = TR '
Gripping taper Seating confirmation not required :
Iregular workpiece |
L J |
|
|
e A |
ABH - G |
Large-sized shaft e it
Pipe-type
(. J
([ FrRzERR )
Seating confirmation not required)
B 3 4% i
Gripping round figure p N
BUR HMITRF
= EE EE i'sg‘ 1 Rough machining operation
Seating confirmation required \ %
( ) _
WwWIMLITF
Finish machining operation
- J
BT )
Easily deformed workpiece J
T 3% 55 |
% ﬁﬁ yz ?‘:‘j ':F' ll:u\ E i% T ﬁ: Gripping on 2 sides
Z B Center-based workpiece
RENTH I
Gripping taper
Iregular workpiece
7Y T 3% §5
Grippping on 4 sides

BEEEEZEM)

_{

|

Single-side-based (Fixed jaws) J

(EmIIm

LRough machining operation

)

)

(wmITE

L Finish machining operation

\

)




(BEEEE

I

Exceed specifications
\diameter workpiece

>
B AR

Grippi d big di i
_ Gripping exceed big diameter )

~
> 3H
Y,
> 3L
> 3HS
= 3U-K

_ ((mEsmns

L Gripping position diameter small )

\i

AP-115LLF

\/

_ (epEsmk

Gripping position diameter large P
~ 7 BEAE
Gripping e

i )

AP-1451) F

xceed big diameter J > APS
- N 2H /4H
—[ #ﬁ ’EE *ﬁ E ﬁ‘é I {tl: Exceed specifications diameter workpiece J >
- A - |
—[ EAKEHIS Gripping exceed big diameter J > 2L
- 3P |
““““““““““““““““ K 4[ PRIE(RESEZE Reduce maintenance frequency) =I 3PS |
|
: 4[ & 3 R R daw lift reduction] =I 3N |
l Y
: IITCFEEH  Vertical spindle ] :I 3V |
|
: 4( ﬂ’% 7( /ETé m ?;t‘r Gripping exceed big diameterj =l 3 M |
|
— p | - 3W |
45T -+ | N
—  MERES | (womssEs, THERMATS R
| OuiEGEmEE gy | : When not clamped, the workpiece ™ 3D |
Ve | and the jaw do not interfere
. P 5 15 Y [rr—— | |
Inner diameter gripping L3S ;Iiﬁ ,; 2 & > 3U
& J Stable gripping precision
]
— [ FmERs 7
End surface gripping allowed ) |
N
_ (FREEER N
[ Seating confirmation not required) '| 2P / 2M |
| [ EAEns ) _
Gripping exceed big diameter J 2M
N
EE TR _ W
Seating confirmation required ) o
- 4T
> 1L
— [ mmmEw ) .
[Gripping round figure J 3W'C
BRI - FARANTE | [ owe
Gripping taper Irregular workpiece
> 3R

*ARRPIABTMBEEN - BASTEA -

*The contents in this chart are subject to change without notice for further improvement, etc.




I N D EX [Product Description]

I &) 7758 Power Chucks

3H-2/3H-2A 3H/3H-A 2H[2H-A
ShZEE) IR ER CRZEE) AR thZE &) I3 ER
LARGE THRU-HOLE POWER CHUCK THRU-HOLE POWER CHUCK THRU-HOLE POWER CHUCK
2% THRU-HOLE 725 THRU-HOLE pZ2# THRU-HOLE
=M 3-JAW g =M 3-JAW 4 T 2-IAW 4
4H/4H-A 3P/3P-A 2P/2P-A
thZEE) ) PCER hEEN SRR hEE) KRR
THRU-HOLE POWER CHUCK POWER CHUCK POWER CHUCK
2% THRU-HOLE A NON-THRU-HOLE &% NON-THRU-HOLE
TU/T 4-JAW A =T 3-JAW A T 2-JAW A
3L/3L-A 2L/2L-A L
HBREMTITEEH5ER BRMITEE KR BERMUTEE RE
EXTRA LONG JAW STROKE EXTRA LONG JAW STROKE EXTRA LONG JAW STROKE
POWER CHUCK POWER CHUCK POWER CHUCK
P75 THRU-HOLE $Z2% THRU-HOLE % NON-THRU-HOLE
=T 3-JAW T 2-JAW BT 1AW
3M M 3V-A
hER/MTITIZNER PERMITIENRE UERPEE KR
LONG JAW STROKE POWER CHUCK LONG JAW STROKE POWER CHUCK FOR
P ER NON-THRU-HOLE POWER CHUCK VERTICAL LATHE
=/ 3-JAW 4 %% NON-THRU-HOLE 4 % NON-THRU-HOLE 4
ZM2-JAW = 3-JAW
4V-A 3HS 3PS
U EBERAPEE R —MpZEEIREEN SR GE —MPERRE KR
POWER CHUCK FOR THRU-HOLE FULLY SEALED FULLY SEALED TYPE POWER CHUCK
VERTICAL LATHE TYPE POWER CHUCK EZEA fully sealed type
DA NON-THRU-HOLE 2B fully sealed type =T 3-JAW
TUTT 4-JAW =/ 3-JAW
=+ — °
I ¥55% 80 /13258 Special Purpose Power Chucks
3N 3D 2D
UMt 8 = I3 A1 8 S5 I 8 1358
INCLINED MASTER JAWS PULL DOWN POWER CHUCK PULL DOWN POWER CHUCK
POWER CHUCK P NON-THRU-HOLE %% NON-THRU-HOLE
P& % NON-THRU-HOLE g =T 3-JAW g T 2-JAW g
=T 3-JAW
3E 3U 3U-K
AsRERITNEN S 358 BIUEISH T E) e EE BIEHE B HHEEE
EXPANSIBLE PULL LOCK PULL LOCK POWER CHUCK PULL LOCK POWER CHUCK
POWER CHUCK 228 THRU-HOLE % NON-THRU-HOLE
%% NON-THRU-HOLE g =T 3-JAW g =T 3-JAW g
=1 3-JAW
3w/3w-C 3RF 3R
IREN AR = T\ 3<5E i E5 Il FA 7K BE RENHEI =TGR
SWING TYPE 3-JAW POWER CHUCK RETRACTABLE-JAW 3-JAW SWING COMPENSATING TYPE
#EENE SWING TYPE SHAFT CHUCK 3-JAW POWER CHUCK
=T 3-AW g (% COMPENSATING TYPE ﬂ 18 COMPENSATING TYPE g
- =/ 3-JAW =1 3-JAW
a7 3J 2)
TU T & Eh AL 3lega BB R hEIE B REE
FOUR-JAW TWO MOTION FINGER POWER CHUCK FINGER POWER CHUCK
TYPE POWER CHUCK <% NON-THRU-HOLE &% NON-THRU-HOLE
EHE NON-THRU-HOLE =M 3-JAW TN 2-JAW
TU/T 4-JAW é é g
IS AP APS
i _ -
EEL AAE PR BISTE KA EPZE R BB
POWER INDEXING CHUCK LARGE THRU-HOLE AIR CHUCK ( —Eﬁit{-r *i )
pZ=R THRU-HOLE LARGE THRU-HOLE AIR CHUCK
= 3-JAW (DOUBLE SPEED JAW STROKE)
2% THRU-HOLE / =Tt 3-JA




AGIOGI»

Z3& 358 Collet Chucks

CL
EEESE
COLLET CHUCK
P THRU-HOLE

CL-A DIN6343
EEESE SEM R

COLLET CHUCK STEEL COLLET

e THRU-HOLE R STEEL COLLET

CB/CB-A
I TR

DRAW BACK COLLET CHUCK
thZe A THRU-HOLE

BHIEUA BRI BB E T 1R B B PR 3R B

END STOP COLLET CHUCK DEAD LENGTH COLLET CHUCK

thZeR THRU-HOLE a thze A THRU-HOLE ﬂ

RG
BB

RUBBER GRIP COLLET

NG| -N

thZe#) THRU-HOLE

I CBE/CBE-A CBD/CBD-A

A

I E%FE Stationary Chucks

VH VP
Pz E TR PEITENRE

STATIONARY CHUCK WITH
THRU-HOLE STATIONARY CHUCK

P E THRU-HOLE STATIONARY, T ONARY N THRU-HOLE
Z /=M 2/3-IAW /=N 2/3-1AW

SP SD
AvA=E W\ U ENEHIRER

U ERMEFERE
STATIONARY CHUCK STATIONARY PULL DOWN CHUCK

STATIONARY PULL LOCK CHUCK
P EE NON-THRU-HOLE A NON-THRU-HOLE
pZeE THRU-HOLE g =/ 3-JAW g
Z /=M 2/3-IAW

A NON-THRU-HOLE
=/ 3-JAW 4
SE MP4 VH-201

SM
UENRITIERE

LONG JAW STROKE
STATIONARY CHUCK
A NON-THRU-HOLE
=/ 3-JAW

SuU

T EASREHI TG 17 B RBR R FEIAH

STATIONARY EXPANSIBLE STATIONARY CHUCK BASE PLATE HAND OPERATED AIR VALVE
PULL LOCK CHUCK

E A NON-THRU-HOLE T ACCESSORIES
=T 3-JAW

S9AE A SRR 2R ER F B 3258 BN O E

SCB
hvA=Ea W S Y
STATIONARY DRAW COLLET CHUCK

Pneumatic Rotary Chuck Manual Chuck Power Centering Vise
RAP 3MF VR
W AR =T HEFHR = MHE BAEEH
P;VEUM:TLCUROTARY QHUCK ﬁ/IIEALI;I—S)AEII\gﬁT‘I'gE 3-JAW POWER CENTERING VISE
B9 KB Pneumatic rotary TYPE T%% j\jA(\)A?jfTHRUfHOLE 4195 Wedge Type
=/ 3-

I FEEH

Vise

MVSC MVRH MVRE
TSRO MC 5% B T £ MC 1B & IR
5-AXIS SELF CENTERING VISE MC HYDRAULIC VISE MC POWER VISE

FRiH Vise R Vise FREH Vise

fRJ)EREE

Facing Heads

FA FD

FRJIVEER EnR/JEER
SINGLE-SLIDE FACING HEAD DOUBLE-SLIDE FACING HEAD
@4 SINGLE SLIDE 4 DOUBLE SLIDE




I N D EX [Product Description]

I B 3B Synchronous Clamp

CEZ=
SYNCHRONOUS CLAMP
#HRE Crank Type

cw
MR EDHRE

WEDGE-DRIVEN
SYNCHRONOUS CLAMP

F23 Wedge-Driven

Z5;H B Rotary Cylinders

TK

838 A oh 22 0 85 [BR ]
SHORT TYPE ROTATING HYDRAULIC
CYLINDER WITH THRU-HOLE

TS
AFLE B AR B o 22 30§ ER ]

SHORT TYPE ROTARY HYDRAULIC
CYLINDER WITH BIG-BORE

TH

2238 ¥ BR ]
ROTATING HYDRAULIC CYLINDER
WITH THRU-HOLE

AND SAFETY DEVICE THRU-HOLE AND SAFETY DEVICE AND SAFETY DEVICE
hz= THRU-HOLE cpz=7) THRU-HOLE Z27 THRU-HOLE
/B HYDRAULIC #E HYDRAULIC I HYDRAULIC
B g B oh 270 9 e e JBR ] th & Jm 7 B T th B D EE i BRI
SMALL TYPE ROTARY HYDRAULIC
CYLINDER WITH THRU-HOLE ROTATING AIR CYLINDER ROTATING HYDRAULIC CYLINDER
AND SAFETY DEVICE %% NON-THRU-HOLE 5% NON-THRU-HOLE
227 THRU-HOLE 22 AIR I HYDRAULIC
/B HYDRAULIC
N [ N st | L B A0 a1 s
P38 | e o 8 A e R T oh e 700 35 BR L P33 L A TAE P2 2D BR AT
ROTATING HYDRAULIC CYLINDER ROTATING HYDRAULIC CYLINDER WSPRGO%I%RC?#TUR% (L:‘IUNDER
WITH SAFETY DEVICE %% NON-THRU-HOLE AN SATENY DEVICE
% NON-THRU-HOLE #/E HYDRAULIC T2 STROKE CONTROL
e HYDRAULIC 3 HYDRAULIC
1772 YR 2Y 28 82 [ER T P35 LI R 3 7K ZY A e [BR L JE7K B i i ER T
ROTATING HYDRAULIC CYLINDER ROTATING HYDRAULIC CYLINDER ROTATING HYDRAULIC CYLINDER
WITH STROKE CONTROL WITH COOLANT CONNECTION WITH COOLANT CONNECTION
T2 24IE STROKE CONTROL AND SATETY DEVICE 3#7KE COOLANT CONNECTION
#E HYDRAULIC fég%fgﬁm\‘g CONNECTION B HYDRAULIC
iz
S B e R L 155 B S B ch B JE dE i ER ] e B B 5 S 0 8 P [BR €T
COMPACT STYLE HYDRAULIC CYLINDER COMPACT STYLE HYDRAULIC
sﬁm Em%gﬁ.%ﬁ%gNCYUNDER WITH STROKE CONTROL CYLINDER WITH AR CONNECTION
e AND SAFETY DEVICE AND SAFETY DEVICE
593%%%%&83‘2‘ FeTon TB/RESE COMPACT STYLE #5435 &5 COMPACT STYLE
SH/E HYDRAULIC 3B HYDRAULIC
W= RS L AT 5 SthEE = N
TR S B KImEE f/ER L oA SME B H B L i 355 | F 7R €8 19 B 0 88 JBR T
COMPACT STYLE HYDRAULIC HYDRAULIC CYLINDER WITH
CYLINDER WITH COOLANT ROTATING JOINT T SARETY DEVIGE - VNDER
CONNECTION AND SAFETY DEVICE .
V&8RS % COMPACT STYLE IR R 2% DOUBLE-ROD
/% HYDRAULIC ROTATING JOINT /% HYDRAULIC

817 B30 9 ER ]

DOUBLE ROD ROTATING CYLINDER

424 DOUBLE-ROD
JH/E HYDRAULIC

#4578 Rotary Valvies

S ERE 8E 53 7R
HYDRAULIC ROTARY VALVE
PP sl

OIL CIRCUIT DISTRIBUTOR

jWi51%FE Rotary Joints

RV-A

ZE RO R
AR ROTARY VALVE
22/ AIR

RJ- 80

2 AR D s R
COOLANT ROTATING JOINT
183558 COOLANT JOINT

RJ-92

SANRBEERAM
JJ:7J<F'§ EENFREHE

COOLANT ROTATING JOINT WITH
AUTOMATIC ON/OFF SEAL

@9 3%58 COOLANT JOINT




AGIOGI»

I ;BRI\ 22 Self-Centering Steady Rest

SR SRR SRB
JHERPLZR JHIERCRNZR SHERRLZR
SELF-CENTERING STEADY REST SELF-CENTERING STEADY REST SELF-CENTERING STEADY REST

EARE BASICTYPE #EPEE ADVANCED TYPE {IEE SIDE-MOUNTED TYPE

EMEELE {th Parts and Accessories

GFS-100 sJ HJ
s HERIE =L RERN
GRIPPING FORCE SENSOR STANDARD SOFT BLANK JAW STANDARD HARDENED JAW

- T
{E84E T STANDARD SOFT JAW g CTANDARD HARDENED JAW g

T-NUT FL CcT/CT-S
T FAUZENE P SED NG ] SEKREHRITIEMREE
T-NUT CHUCK ADAPTORS COOLANT COLLECTOR
S WITH STROKE CONTROL
TR T /ER ADAPTOR 4 %K@ COOLANT COLLECTOR 4

CT-SB/CT-SBS FV
SEkBRITRERLEE AT P R

COOLANT COLLECTOR WITH STATIONARY CYLINDER LOCK VALVE
STROKE CONTROL FOR AIR STATIONARY CHUCK
£7K& COOLANT COLLECTOR

ZfC - ACCESSORIES

DRAW TUBE DRAW BAR
PEARNRERE PEANRNRERE

THE CALCULATION OF DRAW TUBE LENGTH THE CALCULATION OF DRAW BAR LENGTH

P22 DRAW TUBE g P& DRAW BAR g




= g = MBAFLE A
’ 3H-2I 3H-2A EER%EPJF?U?ESIE POWER CHUCK

o BE=ZTBREBAL -
o RBIEHIIERICRBRME WEEEE -
o SHMEBRERIFHEE -

WEDGE-HOOK type 3-jaw with the extra large through-hole.
® Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

JEREHBEARBRETG Z ALK -

K Default [/ RIEERE Z HME -

K max BREALBIEVERIET THEARE  oIIRERBKETH -
J is the hole diameter of blank draw nut.

If not notified, AUTOGRIP will adopt the K Default as K value.

K is the maximum thread specification and it could be customize.

Serration Pitch BF&5EE 1.5

3H-215 A8 G H M ‘ 3H-221,3H-224,3H-232 3.0
3H-215 A1l | /
Refer to Fig.A cH A
2REIE A R o N R [ 1 iy ol
. o 'g*z
1
E1 ff—;t‘ N

N o| K
8 % ol LI M w o

esg |8 o e

] L1 =2 FE@ S

L =ty o
1B 1/

' 3H-204 #371242

Fig.A L E 3H-205 Only 3 bolts

& A

—_— B

3H-BA,3H-2A 3H-B,3H-2

RBIEAER AT
Subject to technical changes
BHIRR1& SPECIFICATIONS

g o MTE S SRER | osueiog | BAkin | BETER B8 EMLSE  BABREH

" = (Ef®) | Chucking Dia. = ; = *

Plunger | Jawstroke &A= &=/ Max. Clamping Moment of )
Model stroke (Dia.) Max. Min. e (2 (il force i, e inertia el Matching cyl. WY, [ressite
mm mm mm mm kN (kgf) kN (kgf) min™ (r.p.m.) kg * m? kg MPa (kgf/cm?)

3H-204 A4 13 5.5 113 7 13.7(1400) 36.0(3670) 8000 0.012 4.22 | 5.34 | TK-A528 2.0(20)
3H-205 A4 13 55 138 10 17.2(1750) 48(4890) 7000 0.02 6.3 | 71 TK-A533 2.5(25)
3H-206 @ A5 14 6 170 13 23.3(2375) 66.8(6810) 6000 0.06 13.1 | 149 | TK-A646 2.5(25)
3H-208 @ A6 18 7.6 210 17 31.9(3250) 107(10900) 5000 0.15 21.8 | 23.4 | TK-A853 2.6(26)
3H-210 @ A8 21 8.9 260 37 49.1(5010) 152(15500) 4500 0.32 37.5 | 43 | TK-A1075 3.2(32)
3H-212 A1l 25 10.6 315 43 58.8(6000) 157(16010) 3700 0.74 58.6 | 64.7 | TK-A1512 1.9(19)
3H-215 A8 25 10.6 405 49 71(7240) 180(18350) 2500 2.8 127 | 149 @ TK-2114 2.1(21)
3H-215 A1l 25 10.6 405 49 71(7240) 180(18350) 2500 2.8 127 |143.3| TK-2114 2.1(21)
3H-215  A15 25 10.6 405 49 71(7240) 180(18350) 2500 2.8 127 |135.6 TK-2114 2.1(21)
3H-18B | A15 23 10.6 456 79 71(7240) 180(18350) 2000 4.8 162.4 173.4| TK-2416 1.9(19)
3H-221 | A15 28 12.9 530 | 105 90(9175) 234(23860) 1800 7.5 223 | 234 | TK-2416 2.4(24)
3H-224 | A20 28 12.9 610 @ 135 100(10200) | 240(24500) 1500 15.8 270 | 284  TK-2820 2.1(21)
3H-232 | A20 34 18 800 & 205  100(10200) | 240(24500) 1200 47 546 | 560  TK-2820 2.1(21)

AT EENES 3H-2A. 3H-BA BLZH3% (The dimensions and the specifications of 3H-2A,3H-BA type are in red data.)

1 AuToGRIP



- - RS &) 3K 58 = TBATL @R
’ 3 H 2I3 H 2A LAR:GI:E THRU-HSLE POWER CHUCK

4R~ DIMENSIONS &)
Model A B C D D1 D2 E E1l F G max. G min. H J ;]E
3H-204 A4 113 59 83 85 70.6 63.51 82.6 4 28 32 35 315 -9.5 185 | 175 12 ]
3H-205 A4 138 60 71 110 82.6 63.51 96 4 15 39 1 16 -12 3 20 12
3H-206 A5 170 81 91 140 104.8 | 82.56 116 5 15 53 13 28 -1 14 175 20
3H-208 A6 210 91 103 | 170 133.4 | 106.38 | 150 5 17 66 165 | 335 | -15 153 20 30
3H-210 A8 | 260 | 102 115 | 220 171.4 | 139.72 | 190 5 18 86 105 | 28,5 | -105 7.5 25 45
3H-212 A11 315 110 | 126 | 300 235 196.87 | 260 6 22 106 10 32 -15 7 28 50
3H-215 A8 405 | 132 159 | 380 330.2 | 139.72 | 171.4 6 33 145 11 44 -14 19 39 60
3H-215 A11 405 | 132 166 | 380 330.2 | 196.87 | 235 6 40 145 11 51 -14 26 39 60
3H-215 A15 405 | 132 153 | 380 330.2 | 285.78 | 330.2 6 27 145 11 38 -14 13 39 60
3H-18B Al15 456 | 145 166 @ 380 330.2 | 285.78 | 330.2 6 27 165 18 45 £S5 22 40 60
3H-221 A15 530 | 140 161 | 380 330.2 | 285.78  330.2 6 27 180 15 42 -13 14 40 80
3H-224 A20 610 | 145 166 | 520 463.6 | 412.78 | 463.6 6 27 210 15 42 -13 14 41 80
3H-232 'A20 800 | 150 170 | 520 463.6 | 412.78 463.6 6 27 275 24 51 -10 17 42 100
Model K max. K Default L L1 M N P | Qmax.| Qmin. | R max. R min. S T U
3H-204 A4 M38x1.5 M32x1.5 3~M10 16.0 15 24 | 52 | 14 1275 6.75 25 2225 23 10 | 3~M10
3H-205 A4 M45x1.5 M40x1.5 3~M10 145|145 31 | 62 | 14 | 20.25| 6.75 | 29.5 | 26.8 | 25 10 3~M6
3H-206 | A5 M60x2 M55x2 6~M10 16.0 16 37 | 73 | 20 21.25| 9.25 @ 36 33 31 12 3~M6
3H-208 | A6 M75x2 M60x2 6~M12 17.0| 15 38 | 95 | 25 | 23.7 | 10.2 | 45.7 419 35 14 3~M6
3H-210 A8 M95x2 M85x2 6~M16 20.0 22 43 | 110 | 30 322 | 127 56.5 52.05 40 16 3~M8
3H-212 A1l M115x2 M115x2 6~M20 30.0 28 51 | 130 | 30 44.75 1475 678 625 50 21 | 3~-M10
3H-215 A8 M155x3 M115x2 M155x3 M100x2 @ 6~M24 |36.0| 24 | 63 165 43 49.75/19.75 90 | 84.7 62 | 255 6~M16
3H-215 A1l M155x3 M155x3 6~M24 36.0 31 63 | 165 43 49.75/19.75| 90 @ 84.7 | 62 | 25,5 6~-M20
3H-215 A15 M155x3 M155x3 6~M24 36.0 34 63 | 165 | 43 49.75 19.75 90 @ 84.7 62 | 255 3~Mi2
3H-18B A15 M175x3 M175x3 6~M24 38.0 36 63 | 165 | 43 64 | 205 102 | 96.7 | 62 | 255 3~M12
3H-221 A15 M190x3 M190x3 6~M24 133.0 36 73 | 180 | 60  69.5 245 1135 107.1 65 25 | 3~M12
3H-224 | A20 M225x3 M225x3 6~M24 350 33 73 | 180 | 60 935 245 128 1215 65 25 | 3~M12
3H-232 A20 M295x3 M295x3 6~M24 36.0 34 73 | 180 | 60 1505 245 166 157 @65 25 | 3~M12

AL EBEUEA 3H-2A. 3H-BA BUZ<1JE (The dimensions and the specifications of 3H-2A,3H-BA type are in red data.)

I gy e 508 BA TR B, BT 410" B ST (A 1 2 48
TS e, SRR B R R R L R ), S L P AL,
RN, SR AT,

The 3H-2 series are power chucks with extra large thru-hole design.

The rotary cylinders are recommended based on power chucks that from 4'~10" are
common used in the industry.

If you find that you need different bore size or installation interface, please just contact us.
We have many standard and customized rotary cylinders for option and meet your needs.
Please contact AUTOGRIP for more detailed information. Thanks.

AUTOGRIP 2



_ A EEHKE SMEER R
’ 3HI3H A THF\:_S-HOLE PO\—/LVER CHUCK )

BE=TMAREBLE -

BEEIKECRIERNE  TEREEE -

St EE RS RFIEE -

WEDGE-HOOK type 3-jaw with the large through-hole.

Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

J EAEGIRIERERIE TR 2 AL,

K Default {E# K18 ERE 2 LKA,

K max B4 EAE RIS P BB RME S 2 SR KFRAG, AT IKB IR R KETH,
J is the hole diameter of blank draw nut.

If not notified, AUTOGRIP will adopt the K Default as K value.

K is the maximum thread specification and it could be customize.

B

G Serration Pitch
HregiE 15

E1

3H-15 A8 =
Refer to Fig.A ]
2HE A

ol
4 o

R

aD2
QJCHS6

D2

e

U
E:
L
L1

Fig.A
A 3H-A 3H

REMIEIEDRBIHER]

Subject to technical changes

R iR SPECIFICATIONS

we  momr TR CUEE ameson mkmsn  emEem E8  EMLET  BAGEES
ol Rlnger | Jawstoke | BX B0 MaxDB.pul M CIaMPING | yay speed  Momentof  yyeignt Vatching cyl, | M Pressure
mm mm mm mm kN (kgf) kN (kgf) mint (rp.m.) = kg * m? kg MPa (kgflcm?)
3H-12 A8 25 10.6 304 | 34 | 54.9(5600) | 143.7(14650) 3300 0.77 | 56.6 59.3 TK-A1291 2.5(25)
3H-15 A8 25 10.6 381 | 50 71(7250) | 179.8(18350) 2500 228 | 120 134 | TK-A1512 2.3(23)
3H-15 | All 25 10.6 381 | 50 71(7250) | 179.8(18350) 2500 228 | 120 127 | TK-A1512 2.3(23)
3H-18 A1l 25 10.6 450 | 50 71(7250) | 180.3(18400) 2000 446 | 160 | 174  TK-A1512 2.3(23)
4MEYRST DIMENSIONS
Model A B @ D D1 D2 = El F G max. G min. H J
3H-12 A8 304 110 | 122 | 220 | 171.4 139.72 190 6 18 91 10 28 -15 3 28 50
3H-15 A8 | 381 132 159 300 235 |139.72 1714 6 33 | 120 1 44 -14 19 39 60
3H-15 A1l | 381 132 148 300 235 |196.87 260 6 22 | 120 1 33 -14 8 39 60
3H-18 A1l | 450 132 148 300 235 |196.87 260 6 22 | 120 1 33 -14 8 39 60
Model K max. K Default L L1 Mo oN P Q0 Q0 R R s T U
3H-12 A8 M100x2 M100x2 6~M16 23 25 51.3 130 30 44.75 14.75 613 56 50 21 3~M8
3H-15 A8 | M130x2 | M115x2 M130x2 M100x2 6~M20 30 24 63 | 165 43 49.75 19.75 775 722 | 62 2550r22 | 6~M16
3H-15 | All M130x2 M130x2 6~M20 30 28| 63 | 165 43 49.75 19.75 77.5 722 | 62 2550r22 | 3~M10
3H-18 | All M130x2 M130x2 6~M20 31 29| 63 165 43 82.75 21.25 77.5 722 | 62 2550r22 | 3~M10

AT EBEIES 3H-A BLZ5F3% (The dimensions and the specifications of 3H-A type are in red data.)

3 AUTOGRIP



A 2H/2H-A

=S8 /)R e

THRU-HOLE POWER CHUCK

B MRE B AL
REEISEERIBERME  WEREEE -
SIS RS RFIEE -

WEDGE-HOOK type 2-jaw with the large through-hole.
Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

BRES RIS -

J EREERERBRBTRZ AL
K Default fE23 RIEERE Z HK(E.

K max B &R 1E P SRR T 2 A, AIKE RS

J is the hole diameter of blank draw nut.

If not notified, AUTOGRIP will adopt the K Default as K value.

ST,

K is the maximum thread specification and it could be customize.

Serration Pitch

B .
G H i M HreEfE 1.5 "TS“
RSP 1T
8 S e
Q |
2H-208 A5 e p @
2H-15 A8 I - L @,
Refer to Fig.A o
SRIE A 8 @
Subject to technical changes - B Jll‘
i #Ai#R#% SPECIFICATIONS 2H-A ~ 2H2A 2H~2H2
e monR | (o ERE smexon | mxwesn  BmEEE EE  ERESE  BARAES
Model Ps!turgggr Ja‘sz?g())ke l?/liaji ﬁlr{\ % Bz el Clam’;\)/::;.force Max. speed M?::tri]etl()f Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min* (rp.m.) | kg * m? kg MPa (kgf/cm?)
2H-204 A4 13 55 13 7 9.2(940) 19.4(1980) 8000 0012 | 42 48 TK-A528 1.3(13)
2H-205 A4 13 55 138 10 11.4(1167) 32(3260) 7000 002 68 7.6 TK-A533 1.6(16)
2H-206 A5 14 6 170 13 15.5(1580) 44.4(4530) 6000 0.06 131 149 TK-A646 1.6(16)
2H-208 A5 18 7.6 210 17 | 23.1(2360) 57.3(5840) 5000 0.17 213 242 TK-A853 1.8(18)
2H-208 A6 18 7.6 210 17 23.1(2360) 57.3(5840) 5000 0.17 |21.3 224 TK-A853 1.8(18)
2H-210 A8 21 8.9 260 37  32.9(3355) = 101.9(10385) 4500 0.31 335 362 TK-A1075 2.2(22)
2H-12 A8 25 10.6 304 34 | 36.7(3740) 95.8(9780) 3300 0.70 |59.7 62.7 TK-A1291 1.7(17)
2H-15 A8 25 10.6 381 50  46.9(4790) = 119.6(12200) 2500 242 | 115 129 TK-A1512 1.5(15)
2H-15 (A1l 25 10.6 381 50  46.9(4790) = 119.6(12200) 2500 234 | 115 122 TK-A1512 1.5(15)
4R~ DIMENSIONS
Model A B © D D1 D2 E E1 F G max. G min. H J
2H-204 A4 113 59 83 85 70.6 63.51 82.6 4 28 32 35 315 -95 185 175 12
2H-205 A4 138 60 71 110 82.6 63.51 9% 4 15 39 1 6 | -12 | 3 20 12
2H-206 | A5 170 81 91 140 | 1048 = 82.56 116 5 15 53 13 28 -1 14 175 20
2H-208 | A5 210 91 109 | 170 @ 1334 8256 | 1048 5 23 66 165 395 -1.5 215 20 30
2H-208 | A6 210 91 103 | 170 | 1334  106.38 150 5 17 66 165 335 -1.5 155 20 30
2H-210 A8 260 | 102 | 115 = 220 @ 1714 @ 139.72 190 5 18 86 | 105 285 -105 7.5 | 25 45
2H-12 A8 304 | 110 | 122 | 220 | 1714 @ 139.72 190 6 18 91 10 28  -15 3 28 50
2H15 A8 381 | 133 | 160 300 235 139.72 | 1714 | 6 33 120 11 | 44 | ‘14 19 39 60
2H-15 A1l 381 | 133 | 149 | 300 235 196.87 260 6 22 120 11 33  -14 8 39 60
Model K max. K Default L L1 M N P | Qmax. | Qmin. Rmax. Rmin. | S T U
2H-204 A4 M38x1.5 M32x1.5 4~M10 | 16 15 24 52 14 | 1275 6.75 25 | 2225 23 10 3~M10
2H-205 A4 M45x1.5 M40x1.5 4~M10 145 145 31 62 14 2025 6.75 295 26.75 25 10 3~M6
2H-206 A5 M60x2 M55x2 6~M10 | 16 16 37 | 73 20| 2275 9.25 @ 36 33 31 12 3~M6
2H-208 A5 M75x2 M60x2 6~M12 | 17 18 38 95 25 237 102 457 419 35 14 6~M10
2H-208 A6 M75x2 M60x2 6~M12 | 17 15 38 95 25 23.7 102 457 419 | 35 14 3~M6
2H-210 A8 M95x2 M85x2 6~M16 = 20 22 43 110 30 322 127 565  52.05 40 16 3~M8
2H12 A8 M100x2 M100x2 6~M16 | 23 25 51 130 30  44.75 1475 613 56 | 50 21 3~M8
2H-15 A8 M130x2 | M115x2 M130x2 M100x2 | 6~M20 =30 = 24 63 165 43 | 49.75 19.75 77.5 722 62 2550r22 6~M16
2H-15 ALl M130x2 M130x2 6~M20 | 30 28 63 165 43 49.75 19.75 77.5 722 62 2550r22 3~M10

A EEIES 2H-A. 2H-2A B ZF3% (The dimensions and the specifications of 2H-A. 2H-2A type are in red data.)

AUTOGRIP 4

3
7
x
G|

u=




A 4H/4H-A

=S8 /)R e

THRU-HOLE POWER CHUCK

BEINMAEBEAE - FrlEe RS -
REEISEERIBERME  WEREEE -

SIS RS RFIEE -

WEDGE-HOOK type 4-jaw with the large through-hole.

Matching surfaces of all parts hardened, ground and lubricated directly.

High rigidity and high clamping accuracy.

J ERELIZEERERBFRZ AL

K Default {E#3RISEFRIE 2 HR(E,

K max B4 E 451218 A B RUR T 2 RARRAE, AR B IRES
J is the hole diameter of blank draw nut.

If not notified, AUTOGRIP will adopt the K Default as K value.

K is the maximum thread specification and it could be customize.

ST,

4H-208 A5 G Serration Pitch
4H-210 A6 E1 G,  H _ M HEE 15 S
4H-15 A8 U \ i g —"
Refer to Fig.A == B
25E A 5 Nl s ﬂ, T &
C = i [ el 1z
a I /== i N @ @% @
S U
W % o Kk LETH (] Y
g8 B < £ N = B B
g s °| 8 NN NN
) g o SR
Fig.A L/ )
A L1 B L E T
B J_L
1RBIARIEEXB1EF Subject to technical changes
pre 4H-A ~ 4H-2A 4H ~ 4H-2
FR1E SPECIFICATIONS —_— _—
)3 S g=rE 1772 TEFEE o = Sy = o =
Bk BRUTE | Eim  chuckngDia | BHFEAN | BAKES  RELEH ! B8 BREHLI  RAERES
Plunger = Jawstroke = A | &=/ Max. Clamping Moment of )
. e (Dia.) Max. | Min. Max. D.B. pull — Max. speed . Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min* (r.p.m.) kg * m? kg MPa (kgflcm?)
4H-206 @ A5 14 6.0 170 13 23.2(2375) 66.7(6810) 5000 0.06 125 | 16.7 | TK-C646 2.5(25)
4H-208 A5 18 7.6 210 17 34.3(3500) 85.8(8750) 4200 0.19 23,5 25.4  TK-A853 2.8(28)
4H-208 @ A6 18 7.6 210 17 34.3(3500) 85.8(8750) 4200 0.19 23.5  24.3  TK-A853 2.8(28)
4H-210 A6 21 8.9 260 @ 37 49.1(5010) 152.0(15500) 3800 0.4 38.7 44 | TK-A1075 3.2(32)
4H-210 | A8 21 8.9 260 | 37 49.1(5010) 152.0(15500) 3800 0.4 38.7 | 42.3  TK-A1075 3.2(32)
4H-12 | A8 25 10.6 304 34 54.9(5600) 143.6(14650) 2700 0.77 62 65.7 | TK-A1291 2.5(25)
4H-15 | A8 25 10.6 381 50 71(7250) 179.8(18350) 2000 2.31 117.6 | 130 | TK-A1512 2.3(23)
4H-15 | All 25 10.6 381 50 71(7250) 179.8(18350) 2000 2.31 117.6 | 123.5| TK-A1512 2.3(23)
4H-18 | All 25 10.6 450 | 50 71(7250) 179.8(18350) 1700 4.35 162.6 168.5 TK-A1512 2.3(23)
5MELR'<F DIMENSIONS
Model A B c D D1 D2 E El F G max. G min. H J
4H-206 | A5 | 170 81 91 140 104.8 82.56 116 5 15 53 13 28 -1 14 175 20
4H-208 A5 | 210 91 109 170 133.4 82.56 104.8 5 23 66 16.5 | 39.5 | -15 | 215 | 20.5 30
4H-208 A6 | 210 91 103 170 133.4 106.38 150 5 17 66 16,5 | 335 | -15 155 205 30
4H-210 A6 | 260 102 | 122 220 171.4 106.38 133.4 5) 25 86 105 | 35,5 | -10.5 | 145 25 45
4H-210 A8 | 260 102 | 115 220 171.4 139.72 190 5 18 86 105 | 28,5 -105 75 25 45
4H-12 | A8 | 304 110 | 122 220 171.4 139.72 190 6 18 91 10 28 -15 3 28 50
4H-15 | A8 | 381 132 159 300 235 139.72 171.4 6 33 120 11 44 -14 19 39 60
4H-15 A11| 381 132 | 148 300 235 196.87 260 6 22 120 11 38 -14 8 39 60
4H-18 A1l 450 132 | 148 300 235 196.87 260 6 22 120 11 33 -14 8 39 60
Model K max. K Default L L1 M N P Qmax. Qmin. Rmax. Rmin. S T U
4H-206 | A5 M60x2 M55x2 4~M10 16 16 37 73 | 20 21.25 9.25 36 33 31 12 3~M6
4H-208 A5 M75x2 M60x2 4~M12 |17 |18 | 38 | 95 | 25 | 23.7 | 10.2 | 45.7 | 419 | 35 14 6~M10
4H-208 A6 M75x2 M60x2 4~M12 17 15 38 95 25 23.7 | 10.2 457 419 35 14 3~M6
4H-210 A6 M95x2 M85x2 4~M16 20 18 43 110 30  32.2 | 12.7 56.5 52.05 40 16 6~M12
4H-210 | A8 M95x2 M85x2 4~M16 20 22 43 110 30 32.2 | 12.7 56.5 52.05 40 16 3~M8
4H-12 | A8 M100x2 M100x2 4~M16 | 23 25 |51.3 130 30 44.75 14.75 61.3 56 | 50 21 3~M8
4H-15 | A8 | M130x2 | M115x2 | M130x2 M100x2 @ 4~M20 30 24 63 165 43 49.75 19.75 775 722 62 2550r22 6~M16
4H-15 A1l M130x2 M130x2 4~M20 | 30 28 63 | 165| 43 49.75 19.75| 77.5 | 72.2 | 62 | 25.50r 22 | 3~M10
4H-18 | All M130x2 M130x2 4~M20 30 28 63 165 43 8275 21.25 775 722 62| 2550r22 | 3~M10

AL EBEES 4H-A BLZ<F7% (The dimensions and the specifications of 4H-A type are in red data.)
AUTOGRIP




VE

B =NV B B JEE -

° )
o RIEEIIKE(ERBEEME WEHEEE - V|
o BEMEANE LAVEK - %
® WEDGE-HOOK type 3-jaw mini power chuck. #
® Matching surfaces of all parts hardened, ground and lubricated directly.
® Suitable for bench lathe.
3~M8x20L
3 35 22/
A
] =
Ll ‘ -
max.15 7‘%771F:§7W oo
min. 5 i Ng| 2
M8x40L oo
_ © =
[To] e < © S E
[ee] <::'>: 0 N L |
Q| K| 9 §
Q
—
| \_3~M8x35L
11
36
RERRIELHIETR)
Subject to technical changes
AN SPECIFICATIONS
3 mose | TOE W skmaon skmen  emeem BE  ERENE  BAGRES
Plunger Jaw stroke =K | =N Max. Clamping Moment of )
— o, (Dia,) Max. | Min. Max. D.B. pull o Max. speed . Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (r.p.m.) kg * m? kg MPa (kgf/cm?)
3P-03 10 4.6 85 3 4.5(460) 11.3(1150) 7000 0.004 1.8 RK-75 1.2(12.4)

A 2 A2 X4 Standard Soft Jaw For 3P-03 Power Chuck
SJ-K03

40

Mounting Hole

MBI 447, T%
/ |

16

|

24.5
2.5

5.5

AUTOGRIP ©



REHSIRE ()

= =
-A
’ 3 PI 3 P POWER CHUCK
o =P EGE -
o BEHIILIELREBINE WEEES -
o SHIUAEBESREFRE -
® WEDGE-HOOK type 3-jaw power chuck.
® Matching surfaces of all parts hardened, ground and lubricated directly.
® High rigidity and high clamping accuracy.
Serration Pitch
3P-08A5 H_,. G M H G E1 H G M, HEE 1S S
3P-10A6 U | ‘
3P-12A6 — 1 e
Refer to Fig.A Eij!, a . L T ALl
279E A L =l et 8‘ 3/ B B e i
o EL N } o sig] [z ‘ ma= o
a (I T — M1 1 —
U | T T -
Qiﬂ 74LL Te—— L H S &I B H Iét
% S N !
i K
L T s v =L
Ly — <| O — b1 r—t A\
¥ g\ —— 8| § 771 S8l 7 ?
Fig.A L/ )| e L/ B L/ _J|E S8 AT
A B B
REBATHAEHOIER 3P-04,3P-05 3P-A 3P
Subject to technical changes
FATFRHE SPECIFICATIONS
e P 752 TIFEK S = ——— = P RAER
1) =] e =) =
Rigg HBOITIE (B8  Chucking Dia. BHERANA RAKHN REEEH I g8 R L B
Jaw stroke | A | &=/ Max. Clamping Moment )
. Plunger stroke (Dia,) Max. | Min. Max. D.B. pull o Max. speed - Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min™® (rp.m.) | kg * m? kg MPa (kgf/cm?)
3P-04 15 69 | 110 5 8.1(830) | 22.5(2300) 6000 001 41 - R0 Zd?é(zg))
3P-05 15 69 | 135 14  81(830) 25(2550) 5500 002 | 62 | - | RETSOD 2dgé(262))
RK-100(N) 2.6(26)
3P-06 | A5 20 9.2 165 | 16 = 17.9(1830) 52.4(5350) 5250 0.05 13 | 14 RA170 0.6(6)
RK-125(N) 2.3(23)
3P-08 | A5 21 9.7 210 | 21 25(2550) 74.5(7600) 4750 0.14 24 | 28 et 050)
RK-125(N) 2.3(23)
3P-08 | A6 21 9.7 210 | 21 25(2550) 74.5(7600) 4750 0.14 24 | 27 RA 220 0.505)
RK-125(N) 2.6(26)
3P-10 | A6 25 8.8 254 | 24  28.9(2950) = 107.8(11000) 4000 0.3 35 | 42 AR 0.6(6)
RK-125(N) 2.6(26)
3P-10 | A8 25 8.8 254 | 24  28.9(2950) = 107.8(11000) 4000 0.3 35 | 40 RA 220 0.6(6)
RK-150(N) 2.6(26)
3P-12 | A6 30 10.5 304 24 41(4180) | 155.8(15900) 3360 0.73 59 | 65 = 0.88)
RK-150(N) 2.6(26)
3P-12 | A8 30 10.5 304 24 41(4180)  155.8(15900) 3360 0.73 59 | 63 RA70 0.88)
9ME R ~) DIMENSIONS
Model A B c D D1 D2 E El F G max. G min. H J
3P-04 110 52 - 60 80 - - 6 - - 18 - 3 - 25 26
3P-05 135 55 - 80 100 - - 7 - - 9 - -6 - 35 28
3P-06 A5 165 74 84 140 | 104.8 | 82.56 116 5 15 21 | 102.6 876 826 676 35 34
3P-08 A5 210 85 103 170 | 133.4 | 82.56 | 104.8 5 23 25 127 104 106 83 36 38
3P-08 A6 210 85 97 170 | 133.4 106.38 150 5 17 25 127 110 106 89 36 38
3P-10 A6 254 89 109 220 | 171.4 |106.38| 133.4 5 25 34 158 133 133 108 36 45
3P-10 A8 254 89 102 220 | 171.4 139.72 190 5 18 34 158 140 133 115 36 45
3P-12 A6 304 106 125 220 | 171.4 |106.38| 133.4 6 25 34 163 138 133 108 36 50
3P-12 A8 304 106 118 220 | 171.4 139.72 190 6 18 34 163 145 133 115 36 50
Model K L L1 M N P Q max. Q min. R max. R min. S T U
3P-04 M10x1.5 | 3~M8 12 - 24 52 14 11.2 6.7 23.6 | 20.15 23 10 -
3P-05 M12x1.75 = 3~M8 14 - 31 62 14 15.7 5.2 304 | 26.95 25 10 -
3P-06 A5 M16x2 6~M10 @ 14 14 37 73 20 18.25 = 9.25 | 38.25 @ 33.65 31 12 3~M6
3P-08 A5 M20x25 @ 6~M12 20 17 38 95 25 25.25 | 11.75 46.3 | 41.45 35 14 6~M10
3P-08 A6 M20x25 | 6~M12 = 20 18 38 95 25 25.25 | 11.75 46.3 | 41.45 35 14 3~M6
3P-10 A6 M20x25 @ 6~M16 18 18 43 110 30 35.25 | 12.75 @ 51.1 46.7 40 16 6~M12
3P-10 A8 | M20x25 | 6~M16 18 25 43 110 30 35.25 | 12.75 @ 51.1 46.7 40 16 3~M8
3P-12 A6 | M20x25  6~M16 18 18 51 130 30 48.75 | 12.75 61 55.75 50 |18o0r21| 6~M12
3P-12 A8 | M20x25 | 6~M16 18 25 51 130 30 48.75 | 12.75 61 55.75 50 |18o0r21 3~M8

AL EBEES 3P-A BUZ<TIE (The dimensions and the specifications of 3P-A type are in red data.)

7 AUTOGRIP




= AEE (= =MERPEE
A 3P[3P-A FRBEE(=) —

B =M B35 -

RBEEISEERIBERME  WEREE -

S EE RS RFIEE -

WEDGE-HOOK type 3-jaw power chuck.

Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

3
7
x
G|

u=

Serration Pitch #FEEEE
3P-215,3P-218 : 1.5

3P-215A8 3P-221,3P-224 : 3.0
3P-221A8
3P-221A11
3P-224A11
Refer to Fig.A
2HIE A
H, G
E1 ‘—T’
i o L
ol U g R
a - 8
- K/ 1
L/ L E
L1 B g B —
I [a5°)
Fig.A 3P-2A 3P-2 3P-215,3P-218 3P-221,3P-224
BA
1REB IR IE AR
Subject to technical changes
B3 SPECIFICATIONS
)5 \s=2m | TUTEE TRFER o = Sy = o = -
B BOTR Eim  chongoia | SEEAND | BASHEH  REDEM B8 EREME  RAERES
Plunger | Jaw stroke | &K | &/)\ Max. Clamping Moment of )
Model stroke (Dia.) Max. Min. iR DL (2l force Rlatipee. inertia Vet Matching cyl. IR (TS
mm mm mm mm kN (kgf) kN (kgf) min* (rp.m.) | kg * m? kg MPa (kgf/cm?)
3P-215 | A8 35 16 381 50 82(8360) 249(25390) 3000 1.8 109.9 | 122.4 RH-200 or 2.8(28)
RK-200(N)
RH-200 or
3P-215 | A1l B85 16 381 50 82(8360) 249(25390) 3000 1.8 109.9 116 2.8(28)
RK-200(N)
3P-218 All 35 16 450 60 82(8360) 249(25400) 2800 2.32 124 130 RH-200 or 2.8(28)
) RK-200(N) )
3P-221 | A8 35 16 530 59 82(8360) 272.6(27800) 1900 4.9 177 200 RH-200 or 2.8(28)
) ) RK-200(N) )
RH-200 or
3P-221 |All 35 16 530 59 82(8360) 272.6(27800) 1900 4.9 177 194 2.8(28)
RK-200(N)
RH-200 or
3P-224 A1l 35 16 610 | 152 82(8360) 272.6(27800) 1750 7 230 |246.28 RK-200(N) 2.8(28)
RH-200 or
3P-224 | A15 35 16 610 | 152 82(8360) 272.6(27800) 1750 7 230 | 238.6 2.8(28)
RK-200(N)
4MUR~T DIMENSIONS
Model A B (© D D1 D2 (=1l G max. G min. H J K

3P-215 | A8 | 381 114 141 300 235 139.72 | 171.4
3P-215 | All| 381 114 130 300 235 196.87 260
3P-218 All| 450 114 130 300 235 196.87 260
3P-221 | A8 | 530 125 152 380 330.2 | 139.72 @ 1714
3P-221 |A11| 530 125 146 380 330.2 | 196.87 235
3P-224 A1l 610 125 146 380 330.2 | 196.87 235
3P-224 |A15 610 125 146 380 330.2 | 285.78 | 330.2

33 104 | 71 69 36 55 60 M30x3.5
22 104 82 69 47 55 60 M30x3.5
22 92 70 57 35 55 60 M30x3.5
& 97 64 62 29 55] 60 M30x3.5
27 97 70 62 35 55 60 M30x3.5
27 97 70 62 35 55 60 M30x3.5
27 97 70 62 35 55 60 M30x3.5

Lo
émmmmmmmm

Model L L1 M N P Q min. R max. R min. S) T U
3P-215 A8 6~M20 30 24 63.3 165 43 51.25 18.25 77.5 69.5 62 255 6~M16
3P-215 A11 6~M20 30 & 63.3 165 43 51.25 18.25 77.5 69.5 62 2515 3~M10
3P-218 | All 6~M20 35 33 63.3 165 43 52.75 18.25 108 100 62 255 3~M10
3P-221 | A8 6~M24 31 24 71 180 60 96.5 245 86 78 65 25 6~M16
3P-221 A1l 6~M24 31 28 71 180 60 96.5 24.5 86 78 65 25 6~M20
3P-224 | A1l 6~M24 31 28 71 180 60 96.5 24.5 125 117 65 25 6~M20
3P-224 A15 6~M24 31 34 71 180 60 96.5 24.5 125 117 65 25 3~M12

A EEIES 3P-A B2 F3X (The dimensions and the specifications of 3P-A type are in red data.)

AUTOGRIP 8



PEE)/JKREE

POWER CHUCK

A 2r/2P-A

o ME_MPERE -
o BENEMIKELRIBEME UTHEES -
o SHIMEERSHRFEER -
® WEDGE-HOOK type 2-jaw power chuck.
® Matching surfaces of all parts hardened, ground and lubricated directly.
® High rigidity and high clamping accuracy.
Serration Pitch
H G H G El H G M HHEE 15 _S_

2P-08 A5 i — ol o

2P-10 A6 = | vl e

Refer to Fig.A ,ziif a 5 b= kI

%Fﬁ] A OO Z 8“ g>7 [ARE L5 o

K| I \ SIRN = ~—]
L N v | I — = e S
au ] = T T . E—— S
8 A ,:L ﬁ} | ) K a K = L1 o
7 87 = Q < U\ sif iID, ! ,E
L §J -'ig’ SIS \ 88 2P-04 Only 4 bolts
\ 2P-05 (#4381
Ly L/ Ll |E L/ L1 B L/ _lE
) B B
Fig.A
A 2P-04 ~ 2P-05 2P-A 2P
REBREISR AR
Subject to technical changes
BTG SPECIFICATIONS
5 = miTi2 TAFER P e = =y = N =
1) {=] o =]
g BOBE | B congbia  BIFRANA  BAKEH | BHEHH 8 ERERE | RAERE.
Plunger | Jawstroke | A = &/ Max. Clamping Moment of )
T stroke (Dia) Max. | Min. Max. D.B. pull force Max. speed inertia Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (rp.m.) | kg *m? kg MPa (kgf/cm?)

§ i RK-75(N) 1.5(15)
2P-04 15 6.9 110 5 5.3(540) 14.7(1500) 6000 0.01 3.8 RA-130 0.4(4)

y RK-75(N) 1.5(15)
2P-05 15 6.9 135 14 5.3(540) 16.7(1700) 5500 0.02 518N RA-130 0.4(4)

RK-100(N) 1.7(17)
2P-06 A5 20 9.2 165 14 12(1220) 35(3570) 5250 0.04 12 | 13 RA-170 0.4(4)

i RK-125(N) 1.5(15)
2P-08 A5 21 9.7 210 17 16.5(1680) 50(5100) 4750 0.13 22 | 26 RA-220 0.4(4)

y RK-125(N) 1.5(15)
2P-08 A6 21 9.7 210 17 16.5(1680) 50(5100) 4750 0.13 22 | 25 RA-220 0.4(4)

RK-125(N) 1.8(18)
2P-10 A6 25 8.8 254 22 19.4(1980) 71.5(7300) 4000 0.29 33 | 42 RA-220 0.4(4)

i RK-125(N) 1.8(18)
2P-10 A8 25 8.8 254 22 19.4(1980) 71.5(7300) 4000 0.29 33 | 40 RA-220 0.4(4)
2P-12 A8 30 10.5 304 22 27.4(2800) 103.9(10600) 3360 0.70 57 | 61 = RK-150(N) 1.7(17)
2P-15 All 35 16 381 50 54.9(5600) 164.6(16800) 3000 1.70 96 | 103 = RK-200(N) 1.9(19)

MBI R~ DIMENSIONS
Model A B © D D1 D2 E El F G max G min. H J
2P-04 110 52 - 60 80 - - 6 - - 18 - - 25 26
2P-05 135 55 - 80 100 - - 7 - - 9 - - 35 28
2P-06 A5 | 165 74 | 84 140 104.8 82.56 116 5 15 21 102.6 | 87.6 826 | 676 35 34
2P-08 A5 | 210 85 | 103 | 170 1334 | 82.56 104.8 5] 23 25 127 104 106 83 36 38
2P-08 A6 | 210 85 | 97 170 133.4 | 106.38 150 5 17 25 127 110 106 89 36 38
2P-10 A6 | 254 89 | 109 & 220 1714 | 106.38 | 133.4 5) 25) 34 158 133 133 108 36 45
2P-10 A8 | 254 89 | 102 220 1714 | 139.72 190 5 18 34 158 140 133 115 36 45
2P-12 A8 | 304 | 106 | 118 | 220 1714 | 139.72 190 6 18 34 163 145 133 115 36 50
2P-15 A1l | 381 | 114 K 130 | 300 235 196.87 260 6 22 - 104 82 69 47 55 60
Model K L L1 M N P Q max. Q min. R max. R min. S T U
2P-04 M10x1.5 4~M8 12 - 24 52 14 11.3 8.3 23.3 20.15 23 10 -
2P-05 M12x1.75 4~M8 14 - 31 62 14 185 6 30.4 26.95 25 10 -
2P-06 A5 M16x2 6~M10 14 14 37 73 20 18.25 9.25 38.25 = 33.65 31 12 3~M6
2P-08 A5 M20x2.5 6~M12 20 17 38 95 25 22.3 11.8 46.3 41.45 35 14 6~M10
2P-08 A6 M20x2.5 6~M12 20 18 38 95 25 22.3 11.8 46.3 41.45 35 14 3~M6
2P-10 A6 M20x2.5 6~M16 18 18 43 110 30 30.8 11.3 (Sl gl 46.7 40 16 6~M12
2P-10 A8 M20x2.5 6~M16 18 25 43 110 30 30.8 11.3 51.1 46.7 40 16 6~M8
2P-12 A8 M20x2.5 6~M16 18 25 51 130 30 48.5 12.5 - - 50 |18 o0r21| 6~M8
2P-15 All | M30x3.5 6~M20 30 33 63 165 43 48.8 23.3 77.5 69.5 62 255 | 3~M10

A1 EIES 2P-A B2 <% (The dimensions and the specifications of 2P-A type are in red data.)

9 AUTOGRIP




3L/3L-A

HBER/MITIZE) /12858

EXTRA LONG JAW STROKE POWER CHUCK

=Mepzssy

A =TBABBALE - BRITUTE -

BENEII LR ERIBBITE -

St EE RS REFEE -
CRANK type 3-jaw with the large through-hole and extra long jaw stroke.
Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

JERAEGRERERBFRZ ALK,

K max (B34S 4218 P B SR OF 7 SRR, AT EFR RS

WEEES -

J is the hole diameter of blank draw nut .
K is the maximum thread specification and it could be customize.

5T,

3L-208 A5
3L-210 A6
3L-215 A8
Refer to Fig.A
2HE A

Serration Pitch

oA

1REBHREIEELHIEF] Subject to technical changes

BEEEEE 15
M
G H \
IS
— Moo
Ei o 2
K |M i
J ST
I P I .
O o 1 M e
@@[ S

FAT#IAE SPECIFICATIONS 3L-2A 3L-2
a5 e | e PIVEE | ammkan BAKSH | BEEEH B8  EROHE  BAEAEN
(BE) Chucking Dia.
mm mm mm mm kN (kgf) kN (kgf) mini(rp.m.) = kg * m? kg MPa (kgf/cm?)
3L-205 A4 12 18 138 6 15.6(1590) 17.2(1750) 4200 0.019 | 7.2 8 TK-A533 2.3(23)
3L-206 @ A5 15 24 170 24 23.5(2400)  26.0(2650) 3600 0.063 | 14.7 159  TK-C646 2.7(27)
3L-208 A5 20 32 215 30 34.3(3500) 35.0(3570) 3000 0.18 23 | 257 TK-A853 2.8(28)
3L-208 @ A6 20 32 215 30 34.3(3500)  35.0(3570) 3000 0.18 23  24.6  TK-A853 2.8(28)
3L-210 A6 25 37.5 260 53 47.7(4870) 48.0(4895) 2400 0.35 39.5 46.5 TK-A1075 3.1(31)
3L-210 A8 25 375 260 53 47.7(4870) 48.0(4895) 2400 0.35 395 45 TK-A1075 3.1(31)
3L-212 | A8 30 45 315 61 64.7(6600) = 61.0(6220) 2100 0.827 67.3 70.5 | TK-A1291 3.0(30)
3L-215 A8 35 52 405 52 84.3(8600) 85.0(8665) 1600 2.58 139 | 152 TK-A1512-35 2.7(27)
3L-215 A1l 35 52 405 52 84.3(8600) = 85.0(8665) 1600 258 | 139 145 TK-A1512-35  2.7(27)
4N R~ DIMENSIONS
Model A B © D D1 D2 E El F G max G min. H J
3L-205 A4 138 65 76 110 82.6 63.51 96 4 15 32 1 15 -11 3 20 12
3L-206 | A5 @ 170 84 97 140 104.8 | 82.56 116 5] 18 45 6.5 245 | -85 9.5 19 20
3L-208 A5 215 96 114 170 133.4 82.56 104.8 5 23 52 7 30 -13 10 20 30
3L-208 A6 215 96 114 170 133.4 | 106.38 150 5 23 52 30 -13 10 20 30
3L-210 A6 | 260 | 108 128 | 220 171.4 | 106.38 | 133.4 5 25 75 8.5 33 -16.5 8 25 45
3L-210 A8 260 108 @ 121 220 171.4 | 139.72 190 5 18 75 8.5 26.5 | -16.5 1.5 25 45
3L-212 | A8 315 | 125 138 220 171.4 | 139.72 190 5 18 91 15 33 -15 3 30 50
3L-215 A8 405 150 | 177 300 235 139.72 | 171.4 6 33 120 12.5 455 | -225 | 10.5 39 60
3L-215 All | 405 150 | 166 300 235 196.87 260 6 22 120 12.5 345 | -225 | -0.5 39 60
Model K max. L L1 M N P Q max. Q min. R max. R min. S T U
3L-205 A4 M40x1.5 3~M10 15 15 31 62 14 15.75 5.25 38.5 295 25 10 3~M6
3L-206 A5 M55x2 3~M10 18 15 37 73 20 15.25 7.75 51 39 31 12 3~M6
3L-208 A5 M60x2 3~M12 18 19 38 95 25 19.25 10.25 63.5 47.5 35 14 6~M10
3L-208 A6 M60x2 3~M12 18 20 38 95 25 19.25 10.25 63.5 47.5 35 14 3~M6
3L-210 A6 M85x2 M60x2 3~M16 24 20 43 110 30 24.75 11.25 80 61.25 40 16 3~M12
3L-210 A8 M85x2 3~M16 24 21 43 110 30 24.75 11.25 80 61.25 40 16 3~M8
3L-212 A8 M100x2 3~M16 24 21 51 130 30 29.75 13.25 96.5 74 50 21 3~M8
3L-215 | A8 M130x2 6~M20 33 275 63 165 @ 43 | 34.75 | 13.75 119 93 62 25,5 | 6~M16
3L-215 All M130x2 6~M20 33 31 63 165 43 34.75 13.75 119 93 62 25.5 3~M10

AT IR 3L-A BLZ~1IE (The dimensions and the specifications of 3L-A type are in red data.)

autocrip 10

3
7
x
G|

u=




I I2|.' A BRM{TIE8) 1 KEE SRR

EXTRA LONG JAW STROKE POWER CHUCK

o MREL_TUBAEBBIAK  BRMNITRE -
o BEHEIILIELRBEINE WEHEES -
o SHIUAEBRSREFREE -
® CRANK type 2-jaw with the large through-hole and extra long jaw stroke.
® Matching surfaces of all parts hardened, ground and lubricated directly.
® High rigidity and high clamping accuracy.
J BEAREEIZEIERBERR R 2 FLIE,
K max B4 E4E RGP BB RE T 2 R KRR, AT B R R KETH,
J is the hole diameter of blank draw nut,
K is the maximum thread specification and it could be customize.
G Serration Pitch
| E— I
1 G H M BEEEEE 15 s
2L-15A8 v ﬁﬂ»
Refer to Fig.A =) i :fT
2BE A o | N Wt
E1 o 1»\ Sk S NN R
N o K W] iy x 8
a I A T
s 88 o RIS
SIS Q J
b [a) o
LYL | EL || § 2
i
T wa
L1 B L E T
B
2L-A 2L
Serration Pitch -
HEeEEE 15
2L-208A5 G M
2L-210A6 ey G H
Refer to Fig.B E1 T I
2£5E B U e
— -7 o
=) e o 2
R~ K \
~ By |
© ad
T L
— O WT L L
[a)] Q| Q
& 4
Ay —= S
|5
L/ |
L1 B L E
T B
2L-2A 2L-2
REGREBBIIEF] Subject to technical changes
FAT#RH% SPECIFICATIONS
e S MmiTH2 TAFEL P = S — S = -
T mose | TEE SRR amexon mxmsn  ememm E8 @ BEUSE | BAEHES
Jaw stroke | A | &=/ Max. Clamping Moment of )
Model Plunger stroke (Dia.) Max.  Min. Max. D.B. pull " Max. speed - Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min* (rp.m.) = kg * m? kg MPa (kgf/cm?)
2L-205 A4 12 18 138 6 10.4(1060) 11.4(1170) 4200 0.018 | 6.9 7.7 TK-A533 1.5(15)
2L-206 | A5 15 24 170 | 24 | 15.7(1600) 17.3(1760) 3600 0.063 14.4 15.6 TK-C646 1.8(18)
2L-208 A5 20 32 215 30 22.9(2330) 27.1(2760) 3000 0.173 22 26 TK-A853 1.9(19)
21-208 A6 20 32 215 30 22.9(2330) 27.1(2760) 3000 0.173 22 | 24.2 TK-A853 1.9(19)
21-210 A6 25 375 260 53 31.8(3250) 37.3(3800) 2400 0.33 40 455 TK-A1075 2.1(21)
21-210 A8 25 375 260 53 31.8(3250) 37.3(3800) 2400 0.33 40 | 44 TK-A1075 2.1(21)
2L-12 A8 30 45 304 | 30 | 43.1(4400) 50.0(5100) 2100 0.8 60 | 65.5 TK-A1291 2.0(20)
2L-15 A8 35 52 385 | 26  56.2(5730) 53.0(5400) 1600 2.52 | 133 | 147 |TK-A1512-35 1.8(18)
2L-15 All 35 52 385 | 26  56.2(5730) 53.0(5400) 1600 2.52 | 133 | 140 |TK-A1512-35| 1.8(18)

A EBEEA 2L-A BLZ~TIE (The dimensions and the specifications of 2L-A type are in red data.)
11 autocrip



- BRN{TIE8) 17K EE Gt
’ 2'-/ 2L-A EXTRALONG JAW STROKE POWER CHUCK

4MNEUR T DIMENSIONS

Model A B C D D1 D2 E El F G max. G min. H J %;J
21L-205 A4 138 65 76 110 82.6 63.51 96 4 15 32 1 15 -11 3 20 12 35
G}
u=

2L-206 A5 170 84 97 140 104.8 82.56 116 5 18 45 6.5 245 -8.5 9.5 19 20

2L-208 A5 215 96 114 170 133.4 82.56 104.8 5 23 52 7 30 -13 10 20 30

2L-208 A6 | 215 96 | 114 170 133.4 | 106.38 150 5 23 52 7 30 -13 10 20 30

2L-210 A6 | 260 | 108 @ 128 @ 220 171.4 | 106.38 | 133.4 5 25 75 8.5 33 | -16.5 8 25 45

2L-210 A8 | 260 | 108 @ 121 @ 220 171.4 | 139.72 190 5 18 75 85 | 265 | -165 | 15 25 45

2L-12 A8 |« 304 | 127 | 140 @ 220 171.4 139.72 190 5 18 91 15 33 -15 3 28 50

2L-15 A8 | 385 | 150 | 177 | 300 235 139.72 171.4 6 33 120 | 125 | 455 | -225 | 105 39 60

2L-15 All| 385 | 150 @ 166 = 300 235 196.87 260 6 22 120 125 | 345 -225  -05 39 60
Model K max. L L1 M N P Qmax.  Qmin. | Rmax. = Rmin. S T U
2L-205 A4 M40x1.5 4~M10 15 | 15 31 62 14 | 1575 | 5.25 38.5 29.5 25 10 3~M6
2L-206 A5 M55x2 4~M10 18 | 15 37 73 20 | 1525 7.75 51 39 31 12 3~M6
2L-208 | A5 M60x2 4~M12 18 | 19 38 95 25 | 19.25 | 10.25 635 47.5 35 14 6~M10
2L-208 | A6 M60x2 4~M12 18 | 20 38 95 25 | 19.25  10.25 635 47.5 85 14 3~M6

2L-210 A6 | M85x2 | M60x2 4~M16 24 20 43 110 30 | 2475  11.25 80 61.25 40 16 6~M12

2L-210 A8 M85x2 4~M16 24 21 43 110 30 | 2475  11.25 80 61.25 40 16 3~M8
2L-12 A8 M100x2 6~M16 22 19 51 130 30 | 46.25  19.25 77 54.5 50 21 3~M8
2L-15 A8 M130x2 6~M20 33 | 275 | 63 165 43 | 51.25 | 27.25 94.25 | 68.25 62 2585 6~M16
2L-15 All M130x2 6~M20 33 31 63 165 43 | 51.25 | 27.25 94.25 68.25 62 255 3~M10

A EBEIEA 2L-A BLZ~TIE (The dimensions and the specifications of 2L-A type are in red data.)
AUTOGRIP 12



L BE 72875 —

EXTRA LONG JAW STROKE POWER CHUCK

HIRELEE M E2eE - BR/NITE -

BRRGEHEER T HAIRE -

SHMERRSRERE -

CRANK type single-jaw with the large through-hole and extra long jaw
stroke.

Suitable for clamping the jig or irregular work piece.

® High rigidity and high clamping accuracy.

Serration Pitch
HEEfE 15

E G M

1L-08A5 — <<
1L-10A6 % ET =
Refer to Fig.A 7 < =
5 N T
SHEE A N~ BT Ef 5]

~ N H A

) | (14

S i L

——
Q

2D2

oC
oD1

|

|
T
oA
@CH6
2J1
oJ

u =0
| K
[ | |
! |
o T
L1 B ]
L1 i
=1 B (fro balance weight) 7‘3
. BCEFL
Fig.A _—
RBRAR SRR A 1L-A 1L
Subject to technical changes
3R SPECIFICATIONS
e RuAR | IR JOHT amExAn O BAKESH  EmEEH R ERESE  BARAES
Plunger &R | &I Max. Clamping Moment of )
Model stroke LIRS Max. Min. iR, DL (el force WiEYS, EEREE inertia Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min* (r.p.m.) kg * m? k MPa (kgf/cm?)
1L-06 @ A5 20 16 168 5 12.3(1250) 27.3(2780) 3800 0.05 125 143 RK-100 1.7(17.5)
1L-08 | A5 25 20 2ills 7 15.7(1600) 37.2(3800) 3000 0.15 242 | 271 RK-125 1.4(14.3)
1L-08 | A6 25 20 215 7 15.7(1600) 37.2(3800) 3000 0.15 24.2 | 25.3 RK-125 1.4(14.3)
1L-10 | A6 30 24 254 17 21.6(2200) 48.5(4950) 2400 0.28 38.8 | 46 RK-150 1.3(13.7)
1L-10 | A8 30 24 254 17 21.6(2200) 48.5(4950) 2400 0.28 38.8  44.3 RK-150 1.3(13.7)
4MEIR~T DIMENSIONS
Model A Al B C D D1 D2 E F G max. | G min. H J J1 K max. L L1

1L-06 | A5 168 9.5 | 80 90 | 140 104.8 82.56 116 15 21 37 17 25 46 54 ' M30x1.5 M10 | 16 @16

1L-08 | A5 215 8 | 93 | 111 | 170 |133.4 | 82.56 | 104.8 | 23 21 46 21 32 52 70 | M33x15 M12 21 | 19

1L-08 A6 215 8 93 105 170 133.4 106.38 150 17 21 46 21 32 52 70 H M33x1.5 M12 | 21 @ 20

1L-10 | A6 | 254 ' 13.5| 108 128 | 220 | 171.4 | 106.38 | 133.4 | 25 30 47 17 30 62 90 | M45x15 M16 | 25 | 20

1L-10 A8 254 135 108 121 220 171.4 139.72 190 18 30 a7 17 30 62 90  M45x1.5 Mi16 | 25 27

Model M N P Qmax. | Qmin. R max. R min. S T U V(H6) V1(h9) V2 w w1 X Y Z
1L-06 A5 37 | 73 | 20  19.75 @ 7.75 46 30 31 | 12 M6 30 15 45 64 MI10 445 36 | 30
1L-08 A5 38 | 95 | 25 2525 10.25 54 34 35 | 14 M10 35 18 45 70 M12 61 52 36
1L-08 A6 38 | 95 | 25 2525  10.25 54 34 35 | 14 M6 35 18 45 70 M12 61 52 36
1L-10 A6 43 | 110 30 3375  11.25 67 43 40 16 M8 40 20 5 90  M14 71 585 45
1L-10 A8 43 | 110 30 3375  11.25 67 43 40 16 | M8 40 20 5 90 | M14 71 585 45

AT EBENES 1L-A Bl T3 (The dimensions and the specifications of 1L-A type are in red data.)
13 autocrip



=G

PER/MITIEZHRE (—)

LONG JAW STROKE POWER CHUCK

3M

B =R E¥E - RTITE -

BENEIKECRIBERINE - TEEEE -

St EE RS REFEE -

WEDGE-HOOK type 3-jaw power chuck and long jaw stroke.
Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

u=

3
7
x
G|

Serration Pitch

M pEE 15 S
Iy

1 ==

el || e e

= SR o] =

A
[
L

L N L1 B
3M-05
Serration Pitch
M HetalE 1.5 S
T ?sz* 4
H G S il
‘ ‘ a1 o] <
|
|
L ri\ w
g = ‘
N \ N
K [a)
T || s
) L
<| Q 7
Q
L E
REB RIS REIER) B
Subject to technical changes
) 3M-06~3M-12
#R1& SPECIFICATIONS —_—
my  moEE | e SRR ammaAn | BAKES | BSEEN i ER EREEE  BAEAES.
" (BTE) Chucking Dia. 8 =
Plunger | Jawstroke | &K = Max. Clamping Moment of )
— o (Dia.) Max. Min. Max. D.B. pull " Max. speed - Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min* (r.p.m.) kg * m? kg MPa (kgflcm?)
3M-05 15 10.9 135 14 9.8 (1000) 23 (2350) 4500 0.02 6.0 RK-75(N) 2.7(27)
3M-06 20 14.5 165 14 21.6 (2200) 50 (3680) 4000 0.04 12.2 RK-100(N) 3.0(30)
3M-08 23 16.7 210 17 29.4 (3000) 72 (7340) 3500 0.13 23.0 RK-125(N) 2.9(29)
3M-10 27 19.6 254 22 39.2 (4000) 102 (10400) 3000 0.3 34.3 RK-150(N) 2.8(28)
3M-12 30 21.8 304 26 54.0 (5500) 150 (15300) 2500 0.71 59.4 RK-150(N) 3.6(36)
4N R~F DIMENSIONS
Model A B C(H6) D E G max. G min. H J K
3M-05 135 55 80 100 7 6 -9 35 28 M12x1.75
3M-06 165 74 140 104.8 5 101.6 81.6 36 34 M16x2
3M-08 210 85 170 133.4 5 129 106 36 38 M20x2.5
3M-10 254 89 220 171.4 5 160 133 36 45 M20x2.5
3M-12 304 106 220 171.4 6 70 40 46 50 M24x3
Model L L1 M N P Q max. Q min. R max. R min. S T
3M-05 3~M8 14 31 62 14 15.5 5 32.9 27.45 25 10
3M-06 6~M10 14 37 73 20 17 8 38.7 31.45 31 12
3M-08 6~M12 20 38 95 25 22.3 8.8 47.5 39.15 35 14
3M-10 6~M16 18 43 110 30 32.3 12.8 53.9 441 40 16
3M-12 6~M16 18 51 130 30 47.8 13.3 62.5 51.6 50 21

AuTOGRIP 14



=G

FERMITIZZRIE ()

LONG JAW STROKE POWER CHUCK

=M B X - RNITE -

BEEIKEERIBRME  WEEEE -

S EE RS RFEE -

WEDGE-HOOK type 3-jaw power chuck and long jaw stroke.

Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

Serration Pitch HFE b
3M-215, 3M-218 : 1.5
3M-221, 3M-224 : 3.0

::iﬁ
|
_31—‘7
Q

K L1

ul |

I L

@

\SZ/ARAN)

@

§ L ¥
_IE 5 30 30
3M-215,3M-218 3M-221
St e hanges
FXHTRRHE SPECIFICATIONS
we  moEe | e KRRE ammxon | mkmEn | BEEMB B8 ERDHI  BABRED
Model Pslt":gﬂgr Ja\/E/IDsitargke :jiaﬁ E;ilﬂ\ Max. D.B. pull Max.fgrlzr:ping Max. speed M?rli?;m Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (r.p.m.) kg * m? kg MPa (kgf/cm?)
3M-215 35 25.4 381 20 91.0 (9280) 158.9 (16200) 2300 1.8 96 RK-200(N) 3.0(30)
3M-218 85 25.4 450 51 91.0 (9280) 158.9 (16200) 2000 2.32 124 | RK-200(N) 3.0(30)
3M-221 35 25.4 530 53 91.0 (9280) 158.9 (16200) 1350 4.9 175 | RK-200(N) 3.0(30)
3M-224 35 25.4 610 = 160 91.0 (9280) 158.9 (16200) 1250 7.2 225 | RK-200(N) 3.0(30)
YMEIR<F DIMENSIONS
Model A B C(H6) D E F G max. G min. H J
3M-215 381 114 300 235 6 2 104 69 55 60
3M-218 450 114 300 235 6 2 92 57 55 60
3M-221 530 125 380 330.2 6 3 97 62 55 60
3M-224 610 125 380 330.2 6 3 97 62 55 60
Model K L L1 M N P Q max. Q min. R max. R min. S] T
3M-215 M30x3.5 6~M20 30 63.3 165 43 49.75 18.25 79 66.3 62 25.5
3M-218 M30x3.5 6~M20 85 63.3 165 43 51.25 18.25 109.5 96.8 62 2515
3M-221 M30x3.5 6~M24 31 71 180 60 90.5 24.5 92 79.3 65 25
3M-224 M30x3.5 6~M24 31 71 180 60 90 24 131 118.3 65 25

15 AuToGrIP




M PERMNITIZKE = Mg

LONG JAW STROKE POWER CHUCK

PR E¥E - RTITE -

BENEIKECRIBERINE - TEEEE -

St EE RS REFEE -

WEDGE-HOOK type 2-jaw power chuck and long jaw stroke.

Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

3
7
x
G|

u=

Serration Pitch s
M BEEEEE 15

[LILE

Y
o

o

il
-l
o

1

2M-05

Serration Pitch
HEE 15 S

e @ﬁ%z@
— \\ - &
i 0 g Qg; ﬂ \

L »E T
) B
REB IR IEREIET)

Subject to technical changes

-

2M-06~2M-12
BHIRR1% SPECIFICATIONS —_—
s e A BREE  amaian | BAKNSN  EHEIEH 8 EMENE  BAGRES
" () Chucking Dia. TR a5 ) ==
Plunger = Jawstroke = A =N Max. Clamping Moment .
Model stroke (Dia.) Max. Min. W, U (el force v see of inertia eI Matching cyl. MR [ATEESUE
mm mm mm mm kN (kgf) kN (kgf) min™ (rp.m.) = kg * m? kg MPa (kgf/cm?)
2M-05 15 10.9 135 14 6.5(660) 11(1120) 4500 0.02 6.0 RK-75(N) 1.8(18)
2M-06 20 14.5 165 14 14.3(1460) 24(2450) 4000 0.04 12.2 RK-100(N) 2.0(20)
2M-08 23 16.7 210 17 19.6(2000) = 36.6(3730) 3500 0.13 23.0 RK-125(N) 1.9(19.3)
2M-10 27 19.6 254 22 26.1(2660) = 49.3(5030) 3000 0.30 34.3 RK-150(N) 1.8(18.6)
2M-12 30 21.8 304 26 36(3670) 66(6730) 2500 0.71 59.1 RK-150(N) 2.4(24)
4MEIR~TF DIMENSIONS

Model A B C(H6) D E G max. G min. H J
2M-05 135 55 80 100 7 6 -9 35 28
2M-06 165 74 140 104.8 5 101.6 81.6 36 34
2M-08 210 85 170 133.4 5 129 106 36 38
2M-10 254 89 220 171.4 5) 160 133 36 45
2M-12 304 106 220 171.4 6 70 40 46 50

Model K L L1 M N E Q max. Q min. R max. R min. S] T
2M-05 M12x1.75 4~M8 14 31 62 14 15.5 5 329 27.45 25 10
2M-06 M16x2 6~M10 14 37 73 20 17 8 38.7 31.45 31 12
2M-08 M20x2.5 6~M12 20 38 95 25 22.3 8.8 47.5 39.15 35 14
2M-10 M20x2.5 6~M16 18 43 110 30 32.3 12.8 53.9 44.1 40 16
2M-12 M24x3 6~M16 18 51 130 30 47.8 13.3 62.5 51.6 50 21

AUTOGRIP 16



’ 3V-A MV ERPEEIKE(—) =MAREBADBE

POWER CHUCK FOR VERTICAL LATHE

B =P &35 -

BhthiE KFhKesr - HRlEEEARIINER -

WEDGE-HOOK type 3-jaw high speed power chuck.

Sealed against swarf, chips and coolant, suitable for vertical lathe.

3Vv-21
3V-24
Serration Pitch S 3V-32
oG M_ BEEEE F
a8
Q £
3V-15A8 i
3V-15A15 H ol
3V-18A8 i
3V-18A15 o
3V-21A11
Refer to Fig A o | L - @
efer to Fig. < T
EX TN § g * \, E ﬁ .
I
[
. ]
3v-15A15  Q g —
3V-18A15 L
Refer to Fig.B
2FE B 3
memseawen e
Subject to technical changes Fig.B
- B VA 3v
BiHT#EE SPECIFICATIONS
1= \mza | TUTER PSEI=EES s e = [N = R, =
B RO @i craneba | BERANN  BATSH  BEsu | R EMOEE  SAERED
Plunger Jaw stroke &KX =/ Max. Clamping Moment of '
T Sl (Dia,) Max. Min. Max. D.B. pull force Max. speed inertia Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (r.p.m.) kg * m? kg MPa (kgflcm?)
3V-12 A8 30 12.7 304 30 41(4180) 156(15900) 3150 0.73 | 0.79 | 62.9  68.7 I;}é-igg 2.6(26)
3V-15 A8 B85 16 381 30 81.9(8360) | 245.1(25000) 2900 1.97 | 2.27 |105.5|128.5
3V-15 All 35 16 381 30 81.9(8360) 245.1(25000) 2900 1.97 | 2.27 |105.5 127
3V-15 Al15 35 16 381 30 81.9(8360) 245.1(25000) 2900 3.33 | 2.67 105.5| 142
3V-18 A8 35 16 450 80 81.9(8360) 245.1(25000) 2600 3.33 | 3.62 132.7 1555
3V-18 All 35 16 450 80 81.9(8360) 245.1(25000) 2600 3.33 | 3.63 |132.7 154.5  Rk-200 2.8(28)
3V-18 Al15 35 16 450 80 81.9(8360) | 245.1(25000) 2600 6.83 | 4.02 |132.7| 165 | RE-200K 3.0(30)
3Vv-21 All 35 16 530 62 81.9(8360) 271.6(27700) 1800 6.83 | 7.46 1196.5| 227
3v-21 Al15 35 16 530 62 81.9(8360) 271.6(27700) 1800 6.83 | 7.37 1196.5 221
3Vv-24 All 35 16 610 136 81.9(8360) 271.6(27700) 1700 11.19/11.83|241.7|272.8
3Vv-24 Al15 35 16 610 136 81.9(8360) 271.6(27700) 1700 11.19 11.73 241.7 266
3V-32 Al15 35 16 800 136 81.9(8360) 271.6(27700) 1100 28.9729.51353.6| 378
4MUR~T DIMENSIONS
Model A B Cc C1 D D1 D2 E E1l F G max. G min. H J
3Vv-12 A8 304 107 | 141 | 220 - 171.4 | 139.72 190 6 40 1.5 113 73 83 43 36 50
3V-15 A8 381 116 | 164 | 300 - 235 139.72 | 1714 6 54 1.5 153 99 118 64 55 60
3V-15 A1l | 381 116 | 168 | 300 - 235 196.87 260 6 58 1.5 153 95 118 60 55 60
3V-15 Al5 | 381 116 | 172 = 380 235 285.78 | 330.2 6 62 15 153 91 118 56 55 60
3V-18 A8 450 116 | 164 | 300 - 235 139.72 | 1714 6 54 1.5 153 99 118 64 55 60
3V-18 All 450 116 | 168 | 300 - 235 196.87 260 6 58 1.5 153 95 118 60 55 60
3V-18 A15 | 450 116 | 172 - 380 235 285.78 | 330.2 6 62 1.5 153 91 118 56 55 60
3Vv-21 All | 530 127 | 167 | 380 - 330.2 | 196.87 235 6 46 S 137 91 102 56 55 60
3v-21 Al15 = 530 127 | 167 | 380 - 330.2 | 285.78 | 330.2 6 46 3 137 91 102 56 55 60
3Vv-24 A1l | 610 127 | 167 | 380 - 330.2 | 196.87 235 6 46 3 137 91 102 56 55) 60
3Vv-24 Al15 | 610 127 | 167 | 380 - 330.2 | 285.78 | 330.2 6 46 3 137 91 102 56 55 60
3V-32 Al15 | 800 127 | 167 | 380 - 330.2 | 285.78 | 330.2 6 46 S 137 91 102 56 55 60
Model K L L1 M N P Q max. Q min. R max. R min. S| T U
3v-12 A8 M20x2.5 3~M16 24 24 54 130 30 47.5 16 61 54.65 50 21 3~M8
3V-15 A8 M30x3.5 6~M20 35 24 66 165 43 51.25 18.25 77.5 69.5 62 25.5 6~M16
3V-15 A1l | M30x3.5 6~M20 35 32 66 165 43 51.25 18.25 77.5 69.5 62 25.5 3~M10
3V-15 Al5 | M30x3.5 6~M20 85 26 66 165 43 51.25 18.25 77.5 69.5 62 25.5 6~M24
3v-18 A8 M30x3.5 6~M20 35 24 66 165 43 51.25 18.25 108 100 62 25.5 6~M16
3Vv-18 All | M30x3.5 6~M20 35 32 66 165 43 51.25 18.25 108 100 62 2515) 3~M10
3V-18 A15 | M30x3.5 6~M20 35 26 66 165 43 51.25 18.25 108 100 62 25.5 6~M24
3V-21 All | M30x3.5 6~M24 41 85 74 180 60 93.5 245 89 81 65 25 6~M20
3v-21 Al5 | M30x3.5 6~M24 41 35 74 180 60 93.5 245 89 81 65 25 3~M12
3v-24 A1l | M30x3.5 6~M24 41 35 74 180 60 93.5 24.5 128 120 65 25 6~M20
3v-24 A15 | M30x3.5 6~M24 41 35 74 180 60 93.5 24.5 128 120 65 25 3~M12
3V-32 Al5 | M30x3.5 6~M24 41 85 74 180 60 189.5 245 128 120 65 25 3~M12

17 AUTOGRIP #It:#tiE 3v-A B> F3% (The dimensions and the specifications of 3V-A type are in red data.)



’ 3V-A VERAPEEIRE () = M BB

POWER CHUCK FOR VERTICAL LATHE

R = TR B 35 -

FMOEBFEFHETE - DIARITHKRD -

BitlE KFhKeEE - FRlEaEARIIER -

WEDGE-HOOK type 3-jaw high speed power chuck.

With manual radial setting of master jaws for the workpiece centering.
Sealed against swarf, chips and coolant, suitable for vertical lathe.

3
7
x
G|

u=

U
—
8, E
Ol\
~ g ik ‘
| [» ©
olalal = | < T
[SIRSIRSYERS] Q| o
o Q
| ] 8
L1 ‘ El
3V-40A20
3V-50A20
Refer to Fig.A B -
2HE A —
Fig.A 270 223
- 920
B A »76.2 76'2« 76.2| 38.1
— —)| o
Ny 8 | b
19.03 — o
125 19.03 ||
83
{REB IR IEREIER) e B
Subject to technical changes [y S$J-50 for V-40"~50" I o
. Softjaw  $J-63 for V-63*~79" Hardened jaw HJ-50 for v-40"-79
FFR1E SPECIFICATIONS
g \ =20 miTiz RFFEE o = [ = oo = g
sk BUTHE (E%T Chucking Dia. BHFRANSN | BAKEFFH | ==EE# | s BREOHEIL | SAERED
Plunger | Jawstroke &K = &/ Max. Clamping Moment of .
. o, (Dia) Max. Min. Max. D.B. pull om— Max. speed T Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min* (r.p.m.) kg * m? kg MPa (kgf/cm?)
3v-40 | A20 57 46+(60) | 1005 | 310 | 180(18350) @ 320(32620) 630 68 72 | 780 | 849 4.2(42)
RK-250
3V-50 | A20 57 46+(60) | 1250 | 290 | 180(18350) @ 320(32620) 500 145 | 148 | 1000 1050 RE.250 4.2(42)
3V-63 60 48+(80) 1600 =390 = 200(20390) | 360(36700) 400 500 - 1900 - = RE-A250 4.6(46)
RE-L250
3V-79 60 48+(80) | 2000 | 440 | 200(20390) 360(36700) 320 1250 - 2800 - 4.6(46)
4MURST DIMENSIONS
Model A B C D D1 D2 £ El F G max. G min. H J K
3V-40 | A20 1005 184 @ 226 520 | 463.6 412.78 463.6| 8 50 190 @ 123 | 73 | 66 16 65 65 M36x4
3V-50 | A20 1250 @ 184 | 226 | 520 | 463.6 | 412.78 | 463.6| 8 50 190 | 123 | 73 | 66 16 65 65 M36x4
3V-63 1600 222 - 720 | 647.6 - - 8 - 218 | 131 - 71 - 65 - M36x4
3V-79 2000 | 240 - 720 | 647.6 - - 8 - 238 133 - 73 - 65 - M36x4
Model L L1 M N P Q R max. R min. S T ] V W
3V-40 | A20 M24 37 110 270 76.2 295 457 404 6~19.03 7~M24 | 3~M12 42 84
3V-50 | A20 M24 37 110 270 76.2 416 563 510 9~19.03 9~M24 | 3~M12 42 84
3V-63 M30 46 110 270 76.2 540 738 674 12~19.03  13~M24 - 42 110
3V-79 M30 48 110 270 76.2 740 914 850 16~19.03 @ 17~M24 - 42 110

AT EEIES 3V-A Bl Z<F3% (The dimensions and the specifications of 3V-A type are in red data.) AUTOGRIP 18



VEAPEEIRE(—)

POWER CHUCK FOR VERTICAL LATHE

MM BE

o MNP EIE -
o [HtIBRBAKERET  HAIBESFEARIINER -
® WEDGE-HOOK type 4-jaw high speed power chuck.
® Sealed against swarf, chips and coolant, suitable for vertical lathe.
H M S;ts%aﬁgog Pitch ‘_L
B . b~
i N SEETTo) #
4V-15A8 l/ = 730l
4V-18A8 \
voaail - ]Lj . EJ @
=R | == = g g« )
- mi L, 8
e =
4V-15A15 1 L
Refer to Fig.s L1 L L
2PIEB
.
R ERANER) = 2 s
Subject to technical changes
#7448 SPECIFICATIONS AVA an
v ok GOF | PNER smssogn siousn  mEoem EE  EROEE BARAES
. Pslturzgzr Ja\EvD?;())ke ﬁaf ﬁ/rj]\ Max. D.B. pull Max.fg:z\;npmg Max. speed M?r:r:tri\;of Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min™ (r.p.m.) kg *+ m? kg MPa (kgflcm?)
4v-12 A8 30 12.7 304 48 41(4180) 156(15900) 2520 0.72 079 | 59 67 Egjgg 2.6(26)
4v-15 A8 35 16 381 36 | 81.9(8360) 245.1(25000) 2300 2.10 | 2.39 | 108 | 131
4V-15 All 35 16 381 36 81.9(8360) = 245.1(25000) 2300 210 2.39 108 @ 130
4V-15 Al5 35 16 381 36 81.9(8360) = 245.1(25000) 2300 210 2.79 108 @ 139
4v-18 A8 35 16 450 60 | 81.9(8360) 245.1(25000) 2050 3.51  3.80 139.3| 162
4V-18 All 35 16 450 60 81.9(8360) @ 245.1(25000) 2050 3.51 3.80 139.3 160.9
4v-18 A15 35 16 450 60 | 81.9(8360) @ 245.1(25000) 2050 3.51  4.20 139.3| 172 EE:;SSK g:ggg;
4V-21 All 35 16 530 62 81.9(8360) 271.6(27700) 1450 6.98 7.62 199 @ 230
4v-21  A15 35 16 530 62 | 81.9(8360) @ 271.6(27700) 1450 6.98  7.53 199 2237
4V-24 All 35 16 610 152 | 81.9(8360) @ 271.6(27700) 1350 11.34 11.98 243.8 275
4v-24 | A15 35 16 610 152  81.9(8360) = 271.6(27700) 1350 | 11.34 | 11.88 243.8 268.3
4Vv-32 A5 35 16 800 152 | 81.9(8360) @ 271.6(27700) 880 32.58 | 33.13| 396 |419.9
MR~ DIMENSIONS
Model A B © C1 D D1 D2 E E1l E G max. G min. H J
4v-12 A8 | 304 107 141 | 220 - 171.4 139.72 190 6 | 40 15 113 73 83 43 36 50
4V-15 A8 381 116 164 300 - 235 [139.72 | 171.4 6 54 15 153 99 118 64 55 60
4v-15 A1l | 381 116 168 | 300 - 235 196.87 | 260 6 58 | 15 153 95 118 60 55 60
4v-15 | A15 | 381 116 172 - 380 @ 235 [285.78|330.2| 6 62 | 1.5 | 153 91 118 56 55 60
4v-18 A8 | 450 116 164 | 300 - 235 139.72| 1714 | 6 | 54 | 15 | 153 99 118 64 55 60
4V-18 All | 450 116 168 300 - 235 1196.87| 260 6 58 15 153 95 118 60 55 60
4v-18  A15 | 450 116 172 - 380 235 285.78 330.2 6 62 | 1.5 153 91 118 56 55 60
4v-21 A1l | 530 127 167 | 380 - 330.2 1196.87| 235 6 | 46 3 137 91 102 56 55 60
4v-21  A15 | 530 127 167 | 380 - 330.2 28578 330.2 | 6 | 46 3 137 91 102 56 55 60
4V-24 All | 610 127 167 380 - 330.2 196.87| 235 6 46 3 137 91 102 56 55 60
4v-24 A5 | 610 127 167 = 380 - 330.2 285.78 330.2 6 @ 46 3 137 91 102 56 55 60
4Vv-32  A15 | 800 147 187 | 380 - 330.2 28578 330.2 | 6 | 46 3 137 91 102 56 55 60
Model K L L1 M N P. Q max. Q min. R max. R min. S T U
4v-12 A8 | M20x2.5 3~M16 | 24 24 | 42 | 110 30 51.75 15.75 61.3 54.9 40 16 4~M8
4v-15 A8 | M30x3.5| 6~M20 = 35 24 66 @ 165 43 40.75 18.25 87.5 79.4 62 255 6~M16
4V-15 A1l | M30x3.5  6~M20 35 32 66 165 | 43 40.75 18.25 87.5 79.4 62 25.5 4~M10
4v-15 A15 | M30x3.5 6~M20 35 26 @ 66 @ 165 43 40.75 18.25 87.5 79.4 62 255 6~M24
4v-18 A8 M30x35 6~M20 | 35 24 | 66 | 165 43 51.22 18.22 108 100 62 255 6~M16
4v-18 All | M30x35 6~M20 35 @32 66 @ 165 43 51.22 18.22 108 100 62 255 4~M10
4V-18 A15 | M30x3.5  6~M20 35 26 66 165 | 43 51.22 18.22 108 100 62 25.5 6~M24
4V-21 All | M30x3.5 6~M24 41 35 74 | 180 | 60 725 24.5 89 81 65 25 6~M20
4v-21 A15 | M30x3.5 6~M24 41 35 74 180 60 725 245 89 81 65 25 3~M12
4v-24 | A1l | M30x3.5| 6~M24 41 | 35 | 74 | 180 60 93.5 245 128 120 65 25 6~M20
4V-24 A15 | M30x3.5  6~M24 41 35 74 | 180 | 60 93.5 24.5 128 120 65 25 3~M12
4V-32 Al5 | M30x3.5 6~M24 36 35 74 | 180 | 60 189.5 24.5 128 120 65 25 3~M12

19 AUTOGRIP “ItaiiE# 4v-A Bz ~H5% (The dimensions and the specifications of 4V-A type are in red data.)




A av-A  TEEEEDEE (o) S——

POWER CHUCK FOR VERTICAL LATHE

B M P B 38 -

Mo BBFENR/EETE - DR ITHKRLD -

BptDiB K IhKeeET - FRIBSERARIIERK -

WEDGE-HOOK type 4-jaw high speed power chuck.

With manual radial setting of master jaws for the workpiece centering.
Sealed against swarf, chips and coolant, suitable for vertical lathe.

3
7
x
G|

P
!

4V-40 A20
4V-50 A20
4V-63 A20
Refer to Fig.A
2REA
E1
U —
N| o ‘J
8/gl8ls . - <| 2
)
H 8
a)
G || Q
=8
L1 |
7
B
Fig.A
BA
IREB RIS REIRER)
Subject to technical changes
#R1& SPECIFICATIONS
)2 SOl MiT#2 TEFER e = s = vy =
&3 BRI changbia | BRFRAN  BARSS | BEEAH ! ER  ORENE  BAERES
Plunger | Jawstroke fA = &=/ Max. Clamping Moment of )
Model . (Dia) Max. Min. Max. D.B. pull — Max. speed - Weight i e Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min (r.p.m.) kg * m? ki MPa (kgf/cm?)
4V-40 A20 57 46+(60) | 1000 310 & 180(18350) | 320(32620) 500 70 | 94 | 740 790 RK-250 4.2(42)
4V-50 A20 57 46+(60) | 1250 290 @ 180(18350) | 320(32620) 450 222 | 224 1130 1180 gg:iszgo 4.2(42)
4V-63 60 48+(80) | 1600 390 & 200(20390) | 360(36700) 340 565 2000 RE-L250 4.6(46)
4MUR~T DIMENSIONS
Model A B c D D1 D2 B El F G max. G min. H J K
4V-40 A20 | 1000 184 | 226 | 520 | 463.6 | 412.78 463.6 8 50 190 123 73 | 66 16 65 65 M36x4
4V-50 A20 | 1250 | 200 | 242 520 | 463.6 | 412.78 | 463.6 8 50 190 123 | 73 | 66 16 65 65 M36x4
4V-63 1600 & 240 - 720 | 647.6 - - 8 - 214 131 71 65 - M36x4
Model L L1 M N P Q R max. R min. S] T U \% W
4V-40 A20 M24 37 110 270 76.2 295 457 404 6~19.03 7~M24 | 3~M12 42 84
4V-50 A20 M24 38 110 270 76.2 416 563 510 9~19.03 9~M24 | 3~M12 42 84
4V-63 M30 46 110 270 76.2 540 738 674 12~19.03 | 13~M24 - 42 110

AL IR 4V-A BLZ 1K (The dimensions and the specifications of 4V-A type are in red data.) Autocrip 20



A 3Hs = MR R R E) 5T o

THRU-HOLE FULLY SEALED TYPE POWER CHUCK

o EEERBI  AEREREEER  BEEERE -

o RENSIEBEEE - AWK - DBARMBA - RIEIFEERN
A -

. BEEEARAMCEESE  BHERRENERNT - SESARTMIER - 55
BE BRI R -

o TAREBCEEBRITHO LKL ER(ER) -

® Fully sealed design extends maintenance intervals, improving production
efficiency.

® Sealed design ensures constant lubrication and protects against the ingress
of coolant and chips, which guarantees clamping precision and durability.

® Suitable for lights-out manufacturing; dry machining of castings and forgings;
or when high-pressure coolant is utilized. Especially ideal for vertical lathes.

® Media fed through central bore - available for coolant or air. (optional)

Serration Pitch
-H_ B 5
G M S
EL
G|
y a
z
5 in o
8
~7
8
© o
INIR= < T
o|ala Ql o
[SEIRCEIREN] Q
L L
E
B
3HS-A 3HS

1REBHREIEELHIEF Subject to technical changes

F#73R4& SPECIFICATIONS

9= S {712 FEFETE peire = Sy = v =
B BOTER m cuongoe  BTRANS  BARES | BEEAH ! ER  EROHE BAERES
Plunger = Jawstroke = EA | &=/ Max. Clamping Moment of )
Vodel stroke (Dia.) Max. | Min. Max. D.B. pull force Max. speed inertia Weight Matching oy, Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min* (r.p.m.) kg * m? kg MPa (kgflcm?)
3HS-08 | A6 18 7.6 220 22 31.9(3250) 92(9380) 5000 0.18 26.5 281 | TK-A853 2.6(26)
ShEYR < DIMENSIONS
Model A B © D D1 D2 E El F G max. G min. H J
3HS-08 A6 | 220 98 110 170 133.4 106.38 150 5 17 52 20 15 2 -3 20 30
Model K max. K Default L L1 M N P Qmax.  Qmin.  Rmax. = R min. S T U ‘
3HS-08 A6  M60x2 M55x2 | 6~M12 19 17 39 95 25 47.75 | 29.75 29 25.2 35 14 3~M6

4T EEES 3HS-A B1Z<H3% (The dimensions and the specifications of 3HS-A type are in red data.)

21 AuTOGRIP



’ 3PS =MAERFRES)IKEE ST

FULLY SEALED TYPE POWER CHUCK

o ZETEANRE BHVREBEE  ESEEWE -

o REANEITIREEEE - BEFFLLUIHIK - UIBSEMNBA - BERKFERE
M RE -

o HEBEEALCERSS BAHNBRENZANI  sELARFILIE
- HRIBEERARIER -

o TIKEEEEEZKITRPLIEKIERER) -

® Fully sealed design extends maintenance intervals, improving production
efficiency.

® Sealed design ensures constant lubrication and protects against the ingress
of coolant and chips, which guarantees clamping precision and durability.

® Suitable for lights-out manufacturing; dry machining of castings and forgings;
or when high-pressure coolant is utilized. Especially ideal for vertical lathes.

® Media fed through central bore - available for coolant or air. (optional)

3
7
x
2]

Serration Pitch
Beea b 15 M

(2]

,,,,,

:

«/ 4
[a]
©o| L1 Q
T
<l o 1 T = N
Q| Q [ [ RS
&
L/ E |
B
{REB RIS REIER)
Subject to technical changes
F 3 SPECIFICATIONS
S miTie RIFER BIFEK = oy = s RAERA
wse BOTR e i b RARSH RESQEM 1 EB EMELEE -
" Plunger Jaw stroke | = = . Max. clamping Moment )
Sife (Dia.) X AMax. x/J\Min. | Max. D.B. pull . Max. speed . Weight Matching oyl Max. pressure
Model mm mm mm mm kN(kgf) kN (kgf) min'1(r.p.m.) kg * m’ kg MPa (kgf/cmz)
RK-150(N) = 2.4 (24.4)
3PS-12 . . .
30 12.7 315 22 38.5(3926) 160(16315) 3360 0.84 67 RA-270 0.7 (7.4)
4N R<F DIMENSIONS
Model A B G D E € G H J K
max. min.
3PS-12 315 106 220 171.4 6 102 72 39 48 M20x2.5
Model L L1 M N P Q Q R X s T
max. min. max. min.
3PS-12 6~M16 22 52 130 30 87.25 46.75 27 20.65 50 21

AUTOGRIP 22



’ 3N MM PE=THEE SMeEPERME

INCLINED MASTER JAWS POWER CHUCK

POMBEEREATERE IS IHEaBENEEERH -
AN EMNUEBEBHLQTENEBANRER)  XE=TEKXREF LZFER - T
Ol fE AR -

® The surface of the center through cover is grinding treated, it can be the

position base surface of the jig/workpiece.
® The slideway of main jaws is inclined. It improves the clamping force and

t% reduces the upfloat situation of the workpiece.
7S ®  Work with standard top jaws.
EJ) o N
4 o RTRA (ER) -
o B REERAR I -
] @ Airtight pressure detect function is optional.
@ External gripping only.
Serration Pitch Axial jaw stroke
HeggEE 15 dha MATiE
3~U
=
N 1
|
HE il — —
’?E} —La
|
pEE iR ER ey
e 1S)
L] I
_H__ @G
N | Y «
< O » - /= 1
Q| Q| Q =
/ | I
K L1 ﬁ o)
i LJ
e g —
3~L
E
B
REIFEERITHER)
Subject to technical changes
3R SPECIFICATIONS
)3 S MiT#2 FER e = [N = O = -
o muTR | (oE it | BEEANN  BAREN  EBENE 1 B OWOSD | BARRES
Plunger Jaw stroke BRK = f Max. Clamping Moment 5
Vodel diroke (Dia.) N x/J\Min.| Max. D.B. pull - Max. speed —— Weight Matching el Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (rp.m.) | kg * m? kg MPa (kgf/cm?)
3N-06 20 8.1 (#M 0.9) 165 14 18 (1835) 61.5 (6270) 5000 0.05 11.1 = RK-100(N) 2.6 (26)
3N-08 23 9.4 (EM 1.0) 210 17 25 (2540) 85.8 (8750) 4500 0.14 245  RK-125(N) 2.2 (22)
3N-10 25 10.2 (M 1.1) 254 22 29 (2950) 108 (11000) 4000 032 345 | RK-150(N) 1.8 (18)
4N R~F DIMENSIONS
Model A B C(H6) D E G max. G min. H J K L
3N-06 165 72 140 104.8 5 54.5 34.5 36 34 M16x2 M10
3N-08 210 85 170 133.4 5 59 36 36 38 M20x2.5 M12
3N-10 254 89 220 171.4 5 63 38 36 45 M20x2.5 M16
Model L1 M M1 N B Q max. Q min. R max. R min. S T U
3N-06 16 41 0.9 73 20 15.25 7.75 38.3 34.25 31 12 M6
3N-08 20 42 1.0 95 25 22.25 11.75 46.3 41.6 B 14 M6
3N-10 24 47 1.1 110 30 33.75 11.25 52.1 47 40 16 M8

23 AUTOGRIP



3D BAITLE) J] R A =MepE

PULL DOWN POWER CHUCK

o] [EI RS s TS R SR EEN - EIHA DU RS EER -
SHMECEENARRETRAEE  TABMABRE BEKSIBEEHA
A& -

® Radial clamp and axial pull down at the same time, keep the workpiece attaching
close to the base surface of the chuck.

®  Almost no workpiece uplifting displacement.

® The body and the cylinder pull-down mechanism are heat-treated and fine
boring, which guarantee the clamping precision and durableness.

u RERA (ER) -
@ Airtight pressure detect function is optional.

i
s
)]
7
xR

&
p

K
M S
~ et
Y
S
=
F G —
) [
|
< ol wl T \
Q| Q| Q| 8] T - -
2
7 S
L I Eﬂ* -
1-J ‘ Q
Q
u L x4
N a
1l | l:J 3-R
L 5 3D-04 3 bolts only
{REB RIS REIER) e 3D-05 #3812
Subject to technical changes B
F M SPECIFICATIONS
1) 5 N /=20 1712 \E@Tﬁ_ 72 = = [=E—N = s 3 = =
w momr MOE WEER  sgpeaon skowsn | mmEem EE | ABESE | BARAES
Plunger | Jawstroke = &K =/ Max. Clamping Moment )
— droke (Dia,) Max. Min. Max. D.B. pull T — Max. speed of inertia Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (r.p.m.) kg * m? kg MPa (kgf/cm?)
3D-04 7 5 110 13 6.0(612) 10.5(1070) 3500 0.007 4.5 RK-75 1.6(16.5)
3D-05 7 5 135 21 10.0(1020) 17.0(1730) 3500 0.018 7.9 RK-75 2.7(27.5)
3D-06 10 7.2 165 22 15.0(1530) 25.0(2550) 3500 0.051 15 RK-100 2.1(21.4)
3D-08 10 7.2 210 28 25.0(2550) 45.0(4590) 3000 0.15 26 RK-125 2.2(22.5)
3D-10 15 10.8 254 35 35.0(3569) 60.0(6118) 2500 0.37 46 RK-125 3.1(31.6)
3D-12 15 10.8 304 50 45.0(4590) 75.0(7650) 2000 0.79 70 RK-150 2.8(28.5)
3D-15 20 14.5 381 60 53.9(5500) 90.0(9180) 1500 2.25 132 RK-150 3.4(34.2)
4MUR~T DIMENSIONS
Model A B C (H6) D E F G max. | G min. H J Kmax. | K min. L L1 M N P
3D-04 110 60 85 70.6 25 20 22 15 25 M10 30 23 3~M10 15 19.5 50 22
3D-05 135 70 110 82.6 30 25 24 17 28 M12 85) 28 3~M10 16 24.5 56 23
3D-06 165 85 140 | 1048 | 35 36 37 27 32 M16 45 35 6~M10 16 31 70 27
3D-08 210 90 170 | 133.4 | 45 36 38 28 38 M20 56 46 6~M12 15 41 84 31
3D-10 254 110 220 | 1714 | 55 46 47 32 50 M24 65 50 6~M16 24 46 100 38
3D-12 304 125 220 1714 55 50 495 | 345 53} M27 70 55) 6~M16 22 51 120 42
3D-15 381 140 300 235 70 55 61 41 55 M30 86 66 6~M20 30 60 165 60
Model Qmax. = Q min. R S T T1 U V (h7) V1 w X Y(H7) Y1 z 71
3D-04 37 345 M3 25 22.5 - 3~M6 8 25 35 2 8 6 - M10
3D-05 46 43.5 M3 30 27.5 - 3~M6 8 2.5 44 2 8 6 - M12
3D-06 57.7 54.3 M4 35 35 20 6~M6 10 2.5 52 7 10 6.5 - M14
3D-08 70.8 67.2 M5 40 45 25 6~M8 16 8 65 10 12 7.5 26 M12
3D-10 85 79.6 M6 50 55 30 6~M8 18 3 75 12 15 7.5 32 M14
3D-12 101.9 @ 96.5 M6 60 70 835) 6~M10 20 S 90 12 17 7.5 36 M16
3D-15 135.6 | 128.3 M8 70 95 45 6~M12 24 4 120 13 20 6 40 M16

AUTOGRIP 24



2D BRHITN B SIPKEE —MeRER

PULL DOWN POWER CHUCK

o] [E RS s TH MU @RS EEN - FTHA DT EEESEER -
SHEECERNAREBEMBHEE  TABMABE  BRESEE
BERE -

® Radial clamp and axial pull down at the same time, keep the workpiece
attaching close to the base surface of the chuck.

®  Almost no workpiece uplifting displacement.

® The body and the cylinder pull-down mechanism are heat-treated and fine
boring, which guarantee the clamping precision and durableness.

R (Ek) -
Airtight pressure detect function is optional.

i
s
)]
7
xR

&
p

K S
M T T1
e &)
—Jema |- V& |
T o @ &) 3
\ 1" °

T &
1~J
X [a)]
L1 ”L Q U
—T——H
|:J 3..R
15 _
4-L B V h7 71
—
S )
ol D
dREiin
I
RBIIRISRAHER <
Subject to technical changes
M SPECIFICATIONS
my | mosR | R KEEE  auminn | BARSH | EHEEH I E8  BEEHE  BAERES
EX) Chucking Dia.
Plunger dEy 5"0'“* X Ei,lj\ Max. D.B. pull v G Max. speed Mc_)mer_n i Weight i Max. pressure
Model stroke (Dia.) Max. Min. force inertia Matching cyl.

mm mm mm mm kN (kgf) kN (kgf) min™ (r.p.m.) kg * m? kg MPa (kgf/cm?)
2D-06 10 7.2 165 22 10.0(1020) 16.7(1700) 3500 0.045 12 RK-100 1.4(14.3)
2D-08 10 7.2 210 28 16.7(1700) 30.0(3060) 3500 0.13 23 RK-125 1.5(15)
2D-10 15 10.8 254 35 23.3(2379) 40.0(4079) 2500 0.34 43 RK-125 2.1(21.1)

4R~} DIMENSIONS

Model A B C (H6) D E F G max. | G min. H J Kmax. | Kmin. L L1 M N P
2D-06 165 85 140 | 104.8 35 36 37 27 32 M16 45 35 M10 16 31 70 27
2D-08 210 90 170 | 1334 45 36 38 28 38 M20 56 46 M12 15 41 84 31
2D-10 254 110 220 | 1714 55 46 47 32 50 M24 65 50 M16 24 46 100 38

Model Qmax. = Qmin. R S T T1 U V (h7) V1 w X Y (H7) \%! z Z1
2D-06 57.7 54.3 M4 35 35 20 4~M6 10 2.5 52 7 10 6.5 - M14
2D-08 70.8 67.2 M5 40 45 25 4~M8 16 8 65 10 12 7.5 26 M12
2D-10 85 79.6 M6 50 55 30 4~M8 18 3 75 12 15 7.5 32 M14

25 AUTOGRIP




3E WEREBHI B /1K TR =M

EXPANSIBLE PULL LOCK POWER CHUCK

RS -
o] [E RS s TH IS @R SR EEN - FTHA D TR EESEER -
SEELEY  EamEREMmL -

Suitable for internal gripping.

Radial clamp and axial pull down at the same time, keep the workpiece
attaching close to the base surface of the chuck.

Almost no workpiece uplifting displacement.

With high precision and stability that chuck suitable for end process.

RGN (B ) -
Airtight pressure detect function is optional.

i
s
)]
7
xR

&
p

3E-06 ~ 08 ~ 10 3E-05
Soft jaw : typeB
Soft jaw : typeA REENBE
TRAELE AR
3~P
Il e
— i; |
g 8
LL\@J
—]
—
REBIRRIE AT
Subject to technical Ichanges
BHIRRH& SPECIFICATIONS
J5 S 778 REFER s = = = | s =
R RUMTR g kgD, | BEEAND  BAREH | EEESm E8 EMOHE  BAEMEN
Plunger Jaw stroke = = g Max. Clamping Moment )
. diroke (Dia.) AMax. = &//\Min. | Max. D.B. pull . Max. speed - — Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min* (r.p.m.) kg * m? kg MPa (kgf/cm?)
3E-05 6 3 83 29 13.0(1325) 42.0(4280) 7000 0.018 7.5 RK-100 1.8(18.5)
3E-06 10 5 110 44 18.0(1835) 58.0(5910) 6000 0.042 13.6 RK-100 2.5(25.6)
3E-08 10 5 150 50 25.0(2530) 80.0(8150) 5000 0.14 26.5 RK-125 2.2(22.5)
3E-10 10 5 190 60 35.0(3570) 100.0(10200) 3600 0.31 39.5 RK-150 2.8(28.5)
4MEIR~T DIMENSIONS
© F G G
Model A B Bl (H6) D 5 (H8) TER i H J K L L1
3E-05 135 98 72 110 82.6 25 18 18 12 25 8 M16 M10 15
3E-06 165 112 80 140 104.8 35 18 22 12 30 8 M16 M10 16
3E-08 210 135 90 170 133.4 40 21 22 12 36 10 M20 M12 18
3E-10 254 152 102 220 171.4 50 25 25 15 48 10 M24 M16 23
t A B 1
Model M N P ype i e R s T v v
Qmax. = Qmin. | Qmax.  Qmin. max. min. (p-c.d) (p.c.d)
3E-05 20 25 M6 68 50 83 67 50 29 25 M6x12 110 55 110
3E-06 23 31 M6 90 70 110 89 70 44 40 M6x12 130 76 134
3E-08 30 35 M8 110 90 150 108 90 50 49 M6x12 170 100 170
3E-10 85 40 M10 127 110 190 125 110 60 59 M8x16 210 120 210

AUTOGRIP 26



3U ZhEHE B 1K EE = gz

PULL LOCK POWER CHUCK

o EHMEIAL — TP ZEPRER -
o ERFNARSHEE -
o FhESEARBEETHNGS -
®  Pin-Arbor Draw Down type 3-jaw thru-hole power chuck.
® High radial gripping force and high accuracy.
® Suitable for heavy machining.

S

T

)]

V|

x

|

E
G
i
< © S| 8| 1 w
Q| 8 Q Ele | I®
X I
o
° I
E%&A

L1
REB R IEREIER)
Subject to technical changes B1

R #RE SPECIFICATIONS

v mose TR RET L smmin  migesn BEEEM 1 EE OREME | BARRES
—— P;;'_zgzr Ja\E\/D?;c))ke 5?; Tji{r{\ Max. D.B. pull | Max. Clamping force | Max. speed g/fl?;?;;; Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min* (rp.m.) | kg * m? kg MPa (kgf/cm?)
3U-203 4 2 42 14 5.8(590) 16.7(1700) 10000 0.001 1.8 RK-75(N) 1.6(16)
3U-204 6 3 60 10 10.0(1020) 28.4(2900) 8000 0.005 3.9 RK-75(N) 2.7(27)
3U-205 6 3 84 15 13.9(1420) 39.7(4050) 8000 0.012 6.8 RK-100(N) 2.0(20)
3U-206 10 5 105 24 17.9(1830) 57.8(5900) 7000 0.055 14.7 RK-100(N) 2.6(26)
3U-208 12 6 132 25 25.0(2550) 80.0(8150) 6000 0.14 25.5 RK-125(N) 2.2(22)
3U-210 10 5 163 34 31.0(3160) 100.0(10100) 4500 0.36 435 RK-125(N) 3.1(31)
3U-212 10 5 210 81 35.0(3570) 100.0(10100) 3600 0.68 63.0 RK-125(N) 3.1(31)
4R~} DIMENSIONS
Model A B B1 C(H6) D E F G max. | G min. H d K L L1
3U-203 85 54.5 42 70 54 3.5 25 18 14 22 38 M20x1.5 3~M8 11
3U-204 110 72.5 55 85 70.6 4 30 16 10 24.5 42 M24x1.5 3~M10 12
3U-205 135 84.5 63 110 82.6 4 35 16 10 26 50 M28x1.5 3~M10 15
3U-206 168 118 80 140 104.8 5 45 20 10 31 60 M38x1.5 3~M10 16.5
3U-208 210 137 92 170 133.4 5 52 23 11 31 80 M48x2 3~M12 18
3U-210 254 152 102 220 171.4 B 75 25 15 37 105 M68x2 3~M16 23
3U-212 304 157 102 220 171.4 5 100 25 15 37 135 M92x2 3~M16 26
Model M N P Q max. Q min. R S T U(H6) Y W max. W min. X
3U-203 12 26 M5 7.5 6.5 38 15 10 32 35 2 -2 M3
3U-204 17 40 M6 10.75 9.25 46 20 10 38 4 3 -3 M4
3U-205 20 41.5 M8 13.25 11.75 55 24 10 45 5 3 -3 M5
3U-206 30 50 M10 15.75 13.25 72 30 17 58 6 5 £S5 M5
3U-208 34 63 M12 16.25 13.25 82 35 17 68 6 5 -7 M6
3U-210 39 74 M14 20.75 18.25 107 40 17 93 6 5 -5 M8
3U-212 44 74 M14 44.25 41.75 130 40 17 114 6 5 -5 M10

27 AUTOGRIP



A 3u-x  EnERsEE -

PULL LOCK POWER CHUCK

AT ERA — TP B AREE -

SRFARSEE -

BRlEEEARBEETHNGS -

olaRzeH  ETHRUERR  BaRERITBEMNEK -
Pin-Arbor Draw Down type 3-jaw non-thru-hole power chuck.

High radial gripping force and high accuracy.

Suitable for heavy machining.

Can work with the airtight detection device to perform axial position confirm,
suitable for the precision of large length size process.

i
s
)]
7
xR
7]

—_

REBIFIEIELEOIER B

Subject to technical changes

K #73R4& SPECIFICATIONS

vt mose  OE KEET  asmiog  mimsn  BmESH 0 R ERESE | BARRES
. P;turggzr Ja\EVD?:())ke f:f E;illrJ]\ Max. D.B. pull Max.f(oirlgzping Max. speed M?:]g?g;m Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (rp.m.) | kg * m? kg MPa (kgflcm?)
3U-205K 6 3 84 15 13.9(1420) 39.7(4050) 8000 0.018 6.8 | RL-100, RL-A100N 2.0(20)
3U-206K 10 5) 105 | 24 17.9(1830) 57.8(5900) 7000 0.055 | 149 RL-100, RL-A100N 2.5(25)
3U-208K 12 6 132 25 | 25.0(2550) | 80.0(8150) 6000 0.14 | 258 RL-125 RL-A125N | 2.2(22)
3U-210K 10 5) 163 | 34 31.0(3160) 100(10100) 4500 0.36 44.0 | RL-125, RL-A125N 3.1(31)
3U-212K 10 5 210 | 81 35.0(3570) 100(10100) 3600 0.68 63.8 | RL-125, RL-A125N 3.1(31)
4MEIR<T DIMENSIONS
Model A B Bl C(H6) D E F F1(H8) | Gmax. = G min. H H1 H2 J K K1 L
3U-205K | 135 | 84.5 63 110 82.6 4 35 14 16 10 42 12 - 50 M25x1.5 22 M10
3U-206K | 168 118 = 80 140 1048 | 5 45 14 20 10 48 12 30 60 | M28x1.5 24 | M10
3U-208K | 210 137 @ 92 170 1334 | 5 52 16 23 11 51 15 30 80 | M35x1.5 30 @ Mil2
3U-210K | 254 152 | 102 220 | 1714 | 5 75 16 25 15 51 15 30 105  M38x1.5 34 M16
3U-212K 304 157 | 102 220 1714 | 5 100 16 25 15 51 15 30 135 | M45x1.5 40 M16
Model L1 M N P Q max. Q min. R S T T1 U(H6) \Y W max. | W min. X
3U-205K 15 20 415 M8 1325 | 11.75 55 24 25 15.5 45 5 3 -3 M5
3U-206K 16.5 30 50 M10 | 15.75 @ 13.25 72 30 30 26.5 58 6 5} -5 M5
3U-208K 18 34 63 M12 16.25 | 13.25 82 35 30 325 68 6 5 -7 M6
3U-210K 23 39 74 M14 = 20.75 @ 18.25 107 40 30 36.5 93 6 5 =5 M8
3U-212K 26 44 74 M14 4425 | 41.75 130 40 30 36.5 114 6 5 -5 M10

AUTOGRIP 28



3W[3W-C EBZEm=mseE =
SWING TYPE 3-JAW POWER CHUCK

2N.
U

H#1E5Mm 2020
TAIWAN EXCELLENCE

=MEE R TH - (BEROE 3W)
BaBHLRESRMBETNL -

FRIEaERARBEEEHINEGS -

PERIHREZSE - ERETIEEMER -
BEEaRESHIUESMMMUBEIRECRE - DURAERFERSD -
—TEEE RS TH - (BOEED 3W-C)

IHmOBES2mm - POTESEL -

Swing and grasp the workpiece to three jaw. (3W is automatically positioned

to the center type.)

Suitable for such materials as the casting and forging to process.

Suitable for heavy machining.

Seal proof for dust and cutting fluid, it is more convenient when maintenance.

Swing parts are to heat treatment hardened and ground for steel, in order to

improve products service life.

® Swing and grasp the workpiece to three jaw.(3W-C is center compensation
type .)

® The workpieces compensation of eccentric is 2 mm, fixed position for the

center thimble.

i
s
g
7
L3
G|

OIETCSR M - B THIREER M A - (EEm)

RABMIEK - SMERFF O] e i AR AL H -

Carbide gripper is optional.

* The type of the carbide gripper is selected according to the work-piece conditions.

According to different processing requirements, O.D. Gripping and I.D. Gripping can be interchanged.

$58f ME = Type of the Carbide gripper

Model:ALl Model:AL2 Model:R1
10 7 14.2 7 1.2
/ 1 M5x0.8 . .l M5x0.8 4.8 |36 M5x0.8
4l L 2 TRl
I |@ g © S - —
N S I/ = ¥ e s
1597.2 15927, ‘L
SMEF$F 0.D. Gripping PIfEHEIF 1.D. Gripping B/\KE$5EEE Min. Gripping range
S5 8 T
EifgClearance
" mi:.3(mm)
o “ATESR
Zh s tem
/\r 10
w f
— 1 SRR
min. 7(mm)

29 AUTOGRIP



A 3w/3w-c

BN RIR I = TKEE

SWING TYPE 3-JAW POWER CHUCK

= MiEEh R

M

M1

H G
: —
R e a——
AN
K
} _
L1
{REB RIS AR
Subject to technical changes
BHIRRHE SPECIFICATIONS
B RO (UIE B ool BHEBANA BAKN  BBEEH | ER OREEE ARE
Vodel Psl‘turg 3 Ja\sz?‘g?ke ?;:\:;if ?;:\:;:j Max. D.B. pull Max.fglr%rgping Max. speed M?rﬁg?{i‘;c’f Weight —— Compensation
mm mm mm mm kN (kgf) kN (kgf) min? (rp.m.) = kg * m? kg mm
3W-08 14.4 9.8 16~150 76~203 25(2550) 85.0(8670) 3700 0.12 23 | RK-100(N) -
3W-C08 14.4 9.8 16~150 76~203 25(2550) 85.0(8670) 3700 0.12 23 | RK-100(N) 2
3W-10 17.5 12.5 50~205 85~235  35.3(3600) = 105.9(10800) 2500 0.37 | 48.6 RK-125(N) -
3W-C10 17.5 12.5 50~205 85~235 | 35.3(3600) = 105.9(10800) 2500 0.37 | 486 RK-125(N) 2
3W-12 17.5 12.5 63~240 127~305  35.3(3600) | 105.9(10800) 2400 0.73 65 | RK-125(N) -
3W-C12 17.5 12.5 63~240 127~305 | 35.3(3600) | 105.9(10800) 2400 0.73 65 | RK-125(N) 2
3W-15 225 15.9 76~317 165~381 = 56(5600) | 168.2(16800) 2000 1.81 97 | RK-150(N) -
3W-C15 225 15.9 76~317 165~381 = 56(5600) | 168.2(16800) 2000 1.81 97 | RK-150(N) 3
4MEIR~T DIMENSIONS
Model A B C (H7) D E F G max. G min. H J K L L1 M M1 N P P1 P2
3W-08 210 89 | 170 (1334 5 | 34 519 375 40 | 50 | M18x25 M12 19 | 193 565 527 | 16 38 80
3W-C0O8 | 210 89 170 1334 5 | 34 519 375 40 50 #Mi18x25 M12 19 193 565 527 16 | 38 @ 80
3W-10 254 | 106 | 220 (1714 5 | 42 675 50 48 | 58 | M24x3 M16 | 24 | 29 605 656  17.8 44.4 100
3W-C10 254 106 220 1714 5 42 675 50 @48 58 M24x3 M16 | 24 29 605  65.6  17.8 44.4 100
3W-12 304 106 | 220 (1714 5 | 42 675 50 48 | 58 | M24x3 M16 | 24 | 29 605 656  17.8 44.4 100
3W-C12 304 106 220 1714 5 42 675 50 @48 58 M24x3 M16 | 24 29 605 656  17.8 444 100
3W-15 381 120 300 235 5 | 55 625 40 46 | 80 | M27x3 M20 | 30 324 72 743 | 19 635 140
3W-C15 381 120 300 235 5 55 625 40 @46 80 M27x3 M20 | 30 324 72 | 743 19 635 140
Model P3 Q R R1 S T U V(h7) | VI | W(H7) | W1 @ XH7) X1 Y Y1 z Z1 z2
3W-08 M12 95 | 2.69 224 60 @ 57 2 794 3 1268 7 | 34 | 35 46 M6 32 | 32 | MO
3W-C08 | M12 | 95 269 224 60 57 2 794 3 1268 7 | 34 35 46 M6 32 | 32 | MO
3W-10 M12 112 403 226 72 70 25 127 3 1903 | 7 | 45 5 60 M8 | 36 | 36 | M10
3W-C10 | M12 | 112 403 226 72 70 25 127 3  19.03 7 45 5 60 M8 36 | 36 | M10
3W-12 M12 | 1325 4.03 226 925 70 25 127 | 3 | 1903 7 45 5 60 | M8 36 | 36 MI10
3W-C12 | M12 1325 403 226 925 70 25 127 3  19.03 7 45 5 60 M8 36 36 | M10
3W-15 M12 | 172 514 283 | 121 80 2 | 127 3 | 1903 7 56 3 90 | M8 36 | 36 MI10
3W-C15 M12 172 514 283 121 80 2 127 3 | 1903 7 56 3 90 | M8 36 | 36  MI10

autocrip 30

s e

&
p




i
s
g
7
L3
G|

3RF i B HI| FH 2K 58 =M
RETRACTABLE-JAW 3-JAW SHAFT CHUCK

ITHROMBESIMm - POTESHEN - —TUEEIRFIHE -
OTEARETHRNIER NET XML - EEAREEDERRRE -
BBFHEETREETE  BINL - REES - FHEERARE -
&2 4008 ] (3RF-D) -

58 B 55 48 7 K/ O FR B $E 6] B2 ) 3% (3RF-D)

The workpiece compensation of eccentric is 1mm, fixed position for the center,
swing and grasp the workpiece to three jaw.

Second machining can be performed without reversing the workpiece, thus
significantly reducing setup time.

With compensating jaws clamping, the Rough and precision machining can be
carried out.

With sealed design, the maintenance costs can be reduced.

Can be paired with double-rod rotary cylinder (3RF-D type).

The driver pin thrust can be controlled by the pressure of the rotary cylinder
(3RF-D type).

oA

@C H6
@D

X
Ny
§@
2~M10x18dp

3RF
M
M1
= ﬁ o
G | £
miES R H | = ~
inside Draw Bar T o
B . ‘J—#\; O
\ B S a
© ~ iﬁ’\*‘ ,,,,,,,,, e —- N
<|T|u E‘ Qf < _ _ }, . _ [ g /2(3)*
SIS 4RSI | \ b AN
Q 8 TE

o@D

K L1 *70
K2]| [ K3

J L]

7@7 Driver pin

3RF-D

SRR TEANARRIEZ R, HNEREH,

2~M10x18dp

Note: The dimensions marked [*] are the dimensions of the inside Draw Bar,

Please don't change it.

R IECLBIHER)
Subject to technical changes

31 AutoGRIP



’ = = T
3RF EhESHI| FA 2K EA = Mg
RETRACTABLE-JAW 3-JAW SHAFT CHUCK
AT #R4& SPECIFICATIONS
g moER O RIREE  sumaan | BATSH  RAEEH | R EmENE AeE
(BT Chucking Dia.
Plunger | Jaw stroke =K =/ Max. clamping Moment of ) )
Model stroke (Dia.) Max. Min. Max. D.B. pull force Max. speed inertia Weight Matching cyl. GRS
mm mm mm mm kN (kgf) kN (kgf) min* (r.p.m.) kg * m? kg mm
3RF-08 43.5 9.4 70 18 39.2 (4000) 39.2 (4000) 4000 0.15 30 RS-1250 1
3RF-08D 435 9.4 70 18 39.2 (4000) = 39.2 (4000) 4000 0.15 30 RDL-160S 1 g
5MBYR T DIMENSIONS )
Model A B C (H6) D E F  Gmax. Gmin. H J K K1 (H7) | K2 | K3 L L1 V|
3RF-08 210 155 170 133.4 5 68 123 79.5 37 58 | M20x2.5 - - 3~M12 18 xR
3RF-08D 210 155 170 1334 5 | 68 98 545 | 50 @58 M36x1.5  40.5 6 24 3~M12 18 5
Model M M1 N P Q R Rl max. | Rl min. S T(H7) U v V1 w X
3RF-08 62 58 78 2.35 62 - - - 40 12 28 16 3 7 M12
3RF-08D 62 58 78 2.35 62 25.5 7 0 40 12 28 16 M12

FEFBERBE APPLICATION NOTES

1LINTREFEE

EEMGEE, THEF TR EERE
TESt 2 15, 36538 i 0 SR 8 R 42 1%
1.Clamping diameter machining
The compensating jaws are
retracted. The workpiece is
clamped between chuck center
and tailstock center. Additionally,
it is driven by the face driver.

= \ I E5EE)

Face driver

2.48mT
BIBHEEMREETHMT,
2.Rough machining

With compensating jaws
clamping, the rough machining
can be carried out.

3.45mT

EEMGER, THEFOTE EERE
TREH 2 17, 16518 i SR8 S A I T
» AT T FR A BIERAL, ¥t m] B [E) O
HEK,

3.Finish machining

Additionally, it is driven by the
face driver. The entire workpiece
can be machined with precise
concentricity.

“H

AUTOGRIP 32



=MeaER

RS MER = TKEE

SWING COMPENSATING TYPE 3-JAW POWER CHUCK

A 3R

IHmOBESZ2mm - POIESHEMN - = TUESRFIHE -

RRMIKBHE - BIEKRMIEIR - ERETIFEMER -

BB aSMMUBRERECRME - LUIRAERERS® -

The workpieces compensation of eccentric is 2 mm, fixed position for the

center thimble, swing and grasp the workpiece to three jaw.

® Special seal proof for dust and cutting fluid, it is more convenient when
maintenance.

® Swing parts are to heat treatment hardened and ground for steel, in order to

improve products service life.

i
s
)]
7
xR

M
G M1
L P
ML H N =
B o
L [rl=
<O O I \ e S —
Q|8 | \ =
|8
K wl I
g L1
|
u = H
U T/ RS
1 H Y 3R-08 fg3ximiz
E 3R-10 Only 3 bolts
L B ‘é* 15
{REB IR IEREIER)
Subject to technical changes
T3 SPECIFICATIONS
my | mogR | e KEER | spmaan | BAKESN | BECEN | B2 EMESE REE
(B Chucking Dia.
Plunger Jawgtroke Bx Ei_d\ Max. D.B. pull Max. clamping Max. speed M(_)mer.nof Weight . Compensation
Model stroke (Dia.) Max. Min. force inertia Matching cyl.
mm mm mm mm kN (kgf) kN (kgf) min™ (r.p.m.) kg * m? kg mm
3R-08 20 8 65 18 19.6(2000) 53.0(5404) 2800 0.15 27 RK-100N 2
3R-10 25 10 90 22 29.4(3000) 67.7(6901) 2500 0.38 45 RK-125N 2
3R-12 25 10.2 110 22 39.4(4000) 88.4(9010) 2000 0.75 72 RK-150N 2
4MEYRST DIMENSIONS
Model A B C (H6) D E F G max. | G min. H H1 J K L L1
3R-08 210 105 170 1334 5 57 26 6 42.5 36 10.4 M20x2.5 @ 3~M12 20
3R-10 254 115 220 171.4 55 64 36.5 11.5 25 39 15 M20x2.5 | 3~M16 22.5
3R-12 304 130 220 171.4 5 70 25 0 33 455 15 M24x3 3~M16 22
Model M M1 N P Qmax. = Qmin. R S T (H7) u \Y; Vil w w1 X
3R-08 38 18 82 2 68 64 10 7.7 12 26 16 3 35 7 M12
3R-10 40 19 102 2.6 82 78 10 11.3 15 32 18 3 40 7 M14
3R-12 51 24 125 2.5 102.5 97.5 10 11.3 17 36 20 3 50 7 M16

33 AUuTOGRIP



4T g MEsh B 2 5a mO R

FOUR-JAW TWO MOTION TYPE POWER CHUCK

AR R €& B i )T\ B BN F 2 45 7K DB -
BRIERATEMNEMIERRAZMRO T H -
CRANK type with two pairs of 2 jaws self center independent of each other.

The 4T series is suitable for square bar and other nonuniform shaped
workpieces.

= EJEMRFES Patent numbers :
&7 : PAT.NO.M359385 (Taiwan)
KEE : PAT.NO.ZL200920009309.1(China)

i
s
)]
7
xR

H
Serration Pitch
G1 M HeEEE 15 S ‘
T
L —=—
I =T
H1 HH ‘H\}:‘i
L) = o
G ﬁ H‘\b I z
=4 S (e
N
% \
| 4
(@] —
s| s ®

K1

%ﬂ
i FQ]A;#

~
ALJ

B
REBIRRIE AT
Subject to technical changes
BHIRRHE SPECIFICATIONS
ngE | poER | e KRE | aupaan | BAKEH | BSEEN 0 ER O SRESEH BAETES
(B Chucking Range
Plunger | Jawstroke = &K =2\ Max. Clamping Moment of )
. sroke (Dia.) Max. Min. Max. D.B. pull force Max. speed inertia Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min® (r.p.m.) kg ¢ m? kg MPa (kgflcm?)
4T-08 17 13.6 210 24 16.0(1630) 54.3(5540) 3000 0.15 23.2 RD-120(N) 1.7(17)
4T-10 20 16 254 50 21.6(2200) 79.4(8100) 2100 0.35 44.3 RD-125(N) 2.2(22)
4T-12 20 16 304 50 21.6(2200) 79.4(8100) 1500 0.66 57.6 RD-125(N) 2.2(22)
4T-15 25 19.6 381 60 27.2(2780) 105.3(10750) 1200 2.25 118.3 | RD-125(N) 2.7(27)
4N R~F DIMENSIONS
Model A B C(H6) D E G max. G min. G1 max. G1 min. H H1 J K
4T-08 210 91 170 133.4 5 32 15 2.5 -14.5 29 20 61 M14x2
4T-10 254 110 220 171.4 5 36.5 16.5 10 -10 36 23 90 M16x2
4T-12 304 110 220 171.4 5 36.5 16.5 10 -10 36 23 90 M16x2
4T-15 381 135 300 235 6 44.5 19.5 5 -20 45 28 110 M20x2.5
Model K1 L L1 M N [? Q max. Q min. R max. R min. S} T
4T-08 M34x1.5 4~M2 20 38 95 25 25.25 13.25 46.1 39.3 35 14
4T-10 M45x1.5 | 4~M16 25 43 110 30 32.25 12.75 59 51 40 16
4T-12 M45x1.5 | 4~M16 25 43 110 30 54.75 15.75 59 51 40 16
4T-15 M55x2 4~M20 30 51 130 30 66.5 12.5 78.9 69.1 50 21

AUTOGRIP 34



i
s
)]
7
xR

3J

PESH 8 /J2KER

FINGER POWER CHUCK

=G

o I HImENIE Bt THREGER  BEEETHMT -
o REMEWE  IRFARAGE ZTH -
®  Gripping at the end face and preventing deformation of workpiece.
® Suitable for thin wall workpiece processing.
® The gripping compensating mechanism can grasp the irregular surface
workpieces well.
N AR (R -
@ Airtight pressure detect function is optional.
Clamping stroke Rotating Stroke
835%%7?% 12881712 Rotati
otating Angle
G M ‘ 6 HBBEE
‘ 3-P 56 D
| 5P
X e for 05”,06”
JE— g
— =+ §
5 Jaw is option
o T ol ey ©
= —
) Q EL:* === 1—15§|8
AN
3 L,
| ) =
= €
3~L
B
10 5 10 8
o B ]
£y S R 18 |
o
S @’* : g ﬁ § (@Y,
Q ‘ 8[ Q S ©
|25 s
RBIAEERBIIER) m \LJ
Subject to technical changes for 05”,06” for 08”,10",12”
BHIRR1% SPECIFICATIONS
my  oEmTE N neme REEE | sueinn BAKNH RSEEH 0 EE  BEENE  BRAGRED
=t 1712 = Chucking Dia. e bad ) s = = bod
Rotating | Claming Jaw's gX | &N Max. Clamping Moment of )
Model stroke stroke | compensation | Max. Min. i, U (el force s, epees inertia el Matching cyl. WER (ISR
mm mm mm mm mm kN (kgf) kN (kgf) mint (rp.m.) = kg * m? kg MPa (kgf/cm?)
3J-05 12 8 2 53 25 7.5(765) 6.0(612) 4000 002 110 RKI000R -, 0(10)
‘ ' ' "~ RK-100(N) ’
RK-100 OR
3J-06 12 8 2 79 55 | 9.0(918) 7.5(765) 4000 0.04 | 12.0 RK-100(N) 1.2(12)
RK-100 OR
3J-08 12 8 2 106 75 18.0(1835) 16.5(1680) 3500 0.13 23.0 RK-100(N) 2.5(25)
RK-100 OR
3J-10 12 8 2.5 150 119  18.0(1835) 16.5(1680) 3500 0.30 33.0 RK-100(N) 2.5(25)
RK-100 OR
3J-12 12 8 2.5 200 169 | 18.0(1835) @ 16.5(1680) 3000 0.56 44.0 RK-100(N) 2.5(25)
4MEIR~T DIMENSIONS
Model A B c D F G max. G min. J Ji K
3J-05 135 86 110 82.6 40 75 55 25 9 M12x1.75
3J-06 165 86 140 104.8 45 IS 55 28 12 M16x2
3J-08 210 90 170 1334 56 80 60 38 16 M20x2.5
3J-10 254 95 220 171.4 56 IS 55 38 16 M20x2.5
3J-12 304 95 220 1714 56 75 55 38 16 M20x2.5
Model L L1 M max. M min. N P Q R S T U
3J-05 M10 15 56 36 20 M10 425 27 3~M6 50 -
3J-06 M10 5 56 36 20 M10 BAS) 40 3~M8 64 -
3J-08 M12 18 71 51 25 M12 77.5 53.5 6~M8 104 20°
3J-10 M16 24 71 51 25 M12 99.5 55 6~M8 140 20°
3J-12 M16 24 71 51 25 M12 124.5 100.5 6~M8 190 20°

35 AuTOGRIP




2J REIER /IR ~MeEa

FINGER POWER CHUCK

o RIMIRmEAE - Bl THREGER - BEEETHMT -
o REMEWE  IRFARAGE ZTH -
®  Gripping at the end face and preventing deformation of workpiece.
® Suitable for thin wall workpiece processing.
® The gripping compensating mechanism can grasp the irregular surface
workpieces well.
N RERE GER) - ;Fi
@ Airtight pressure detect function is optional. &
V|
x
Clamping stroke Rotating Stroke Rotating Angle 5
IS5 1T 12 12)888 7772 by JEBAE
G M 56
{ 2-P
- e for 05”,06”
o z'
o L5 S
12| 30 BN ‘ 7"?} LWE%M \n: e[
5 ﬁ;wﬂﬂ% — ul A
8 O ®' ] — - L RS
Q ~ =
= Mfﬁ ‘
=] L1
S =17 -
E=—p
N4~L s
B
10 8
d 2
~| 8 N ~f 8
T e} T
~ n —+
g s @ o ¢ S
5] S
RO ‘._.30 ‘
Subject to technical changes
. for 05”,06”
BHT#EE SPECIFICATIONS —
P OWGR RSER EEE SO SHRANN | BANEH EREEB | ER OGRESE | RARAEN
Rotating | Claming Jaw's =R =) Max. Clamping Moment of )
Model stroke stroke | compensation | Max. | Min. EPG ek o1 force Max. speed inertia Weight Matching cyl. Max. pressure
mm mm mm mm mm kN (kgf) kN (kgf) min® (rp.m.) | kg * m? kg MPa (kgflcm?)
23-05 12 8 2 53 25 5.0(510) 4.0(408) 4000 0.015 9.0 RK-100 OR 0.7(7)
: : ‘ | RK-100(N) :
RK-100 OR
23-06 12 8 2 79 55 | 6.0(612) 5.0(510) 4000 0.035 9.8 RK-100(N) 0.8(8)
RK-100 OR
23-08 12 8 2 106 75 | 12.0(1224) @ 11.0(1122) 3500 012 203 RK-100(N) 1.7(17)
RK-100 OR
23-10 12 8 2.5 150 | 119 12.0(1224) @ 11.0(1122) 3500 0.28 30.7 RK-100(N) 1.7(17)
RK-100 OR
2J-12 12 8 2.5 200 | 169 12.0(1224) | 11.0(1122) 3000 0.52 41.2 RK-100(N) 1.7(17)
4N R<F DIMENSIONS
Model A B © D F G max. G min. J J1 K
2J-05 135 86 110 82.6 40 75 55 25 9 M12x1.75
2J-06 165 86 140 104.8 45 75 55 28 12 M16x2
2J-08 210 90 170 133.4 56 80 60 38 16 M20x2.5
2J-10 254 95 220 171.4 56 75 5 38 16 M20x2.5
2J-12 304 95 220 171.4 56 75 55 38 16 M20x2.5
Model L L1 M max. M min. N P Q R S T U
2J-05 M10 15 56 36 20 M10 42.5 27 4~M6 50 30°
2J-06 M10 15 56 36 20 M10 B7.5 40 4~M8 64 30°
2J-08 M12 18 71 51 25 M12 77.5 53.5 6~M8 104 50°
2J-10 M16 24 71 51 25 M12 99.5 7.5 6~M8 140 50°
2J-12 M16 24 71 51 25 M12 124.5 100.5 6~M8 190 50°

AUTOGRIP 36



’ IS EEIpaTSE
POWER INDEXING CHUCK

THEEBREPETHOERE  INSETFH 2 EETREER -

RN F B U EIEERIBREVE - WHEEBS -

MoK KBt BRRET »

SHMtEERSEERE -

BENDERARRBLZE - KEEBRNRAEE R4S -

Indexing operates during the spindle rotation, can perform a quick change
between multiple working axles.

All parts of chuck hardened, ground and lubricated directly.

Sealed against swarf, chips and coolant.

High rigidity and high repeatability precision.

Unique indexing system and hydraulic system, with pressure detection device in
chuck, high reliability.

i
s
g
7
L3
G|

T
Clamp Stroke
| KR == |
BN % @
H T i
H{ ] =) f@ 2 \ @
8|8l §
= >
T e\ o
4~M16 ®
il &
O] C 4~-M12 e E 5,
Bl Balancing Bore
B
S
r 1S-254~1S-315
&//\ REF

[

SR
Clamp Stroke DT1 D1(IS-500)

»

@C
OE
oF

4~M20

(1S-500) J[ - 4~M12 BeE AL

B1 Balancing Bore

W, 1S-400/1S-500
S1
REF

RBIFIEIELEONER

Subject to technical changes

37 AUTOGRIP



’ IS B#9 EXKEE
POWER INDEXING CHUCK

R iR SPECIFICATIONS

v nEem R JRRE  aspwmEn  scosn  emeew 0 B JER xwen | PRER
" Index Angle | Jaw stroke E,EE ia E,\’il)'fn Max. pressure Max.fgrlsénping Max. speed M?[:gi?;m Weight | ROTATING Mair:agfeindle Clsvrr(;?g.r]]ztiw
Deg mm mm mm kgflcm? kN (kgf) mint (rp.m.) | kg * m? kg JOINT mm kg
IS-254 4x90° 20 65 160 45 19.5(1990) 3100 0.41 41 | IRJ-5E1 61 BlE 0.6
IS-275 4x90° 20 80 220 45 25.4(2590) 2500 0.61 52 | IRJ-5E1 6101k 1.2 S
IS-315 4x90° 20 100 230 45 25.0(2550) 1200 1.13 76 | IRJ-5E1 611l E 1.8 g
*S-400 4x90° 30 170 260 45 34.5(3510) 1000 15.0 145 IRJ-5E1 | 61 E 4.0 5
*S-500 4x90° 35 220 310 45 45.7(4660) 1000 25.4 230 | IRJ-5E1 61LBIE 6.0 S
G}
4MEIR~T DIMENSIONS
Model A B B1 B2 C(H6) D D1 E F G H J K
IS-254 254 190 5 23 220 171.4 - 60 13 47.5 18 155 48
IS-275 275 213 5 26 220 171.4 - 60 13 58 20 171 48
IS-315 315 232 5 22 220 171.4 - 60 13 71 18.5 187 50
*S-400 400 260 6 30 300 235 - 60 13 99 20 220 60
*S-500 500 310 7 35 380 235 330.2 60 13 131 20 268 68
Model L M N N1 P Q(H7) R S(H7) S1 T T1 U \Y W
IS-254 13 M8 20 5 40 18 M10 20 - 106 | - 57 46.5 55
IS-275 18 M10 20 6 80 18 M10 20 - 125 | - 67 57 7
IS-315 18 M10 20 6 75 24 M12 25 - 136 | - 85 70 75
*S-400 23 M10 30 8 | 100 22 M12 22 60 - 330 112 100 10
*S-500 23 M10 35 8 | 100 22 M12 22 75 - 410 156 132 10

] ssosyEenBEENRARS =, BTFENESRENER T TRB EEFT -
THEBRUETHE  EESBRETHER BB EERE 50%, BRRTHERPBUERAR
EEATERMEERS - Z, KBETHOENR , BRI ETHRERETHE -

RSk ~ RONBRELEEZRHRE , MIEEHE -
DERAE 845 NHHR N EBE , BEBAATEBE -

The maximum rotational speed can only be achieved when the hydraulic pressure is at its maximum.
Additionally, the operating pressure and the weight of the clamping fixture must not exceed the values shown
in the table above.

Indexing can be performed while the spindle is rotating. However, when indexing at high rotational speeds, it
is recommended to reduce the speed by 50% to avoid vibration caused by imbalance when the workpiece is
in an intermediate position. Furthermore, depending on the shape of the workpiece, indexing during spindle
rotation may not be possible.

The "*" model is produced upon order, with no stock available.
*Index Angle 8x450 or Specific Angle, Please contact AUTOGRIP for more detailed information. Thanks.

AUTOGRIP 38



27 =r— =1 - — =L
AP RALER=RENREE (—) = Mo
LARGE THRU-HOLE AIR CHUCK
BABAERDIE - AHAEL BEEHNT -
SHLARG  RERASES  EEAIRTHREENE  THE%

BREEEA -

® [arge through-hole 3-jaw power chuck with build in air cylinder.
Patented air supply system, it is easy to install and maintain. No abrasion
issue of traditional sealed ring. Maintenance cost and time can be saved.

i = ERERFS Patent numbers :

“ {= : 20.2011.101.818.4 /20.2012.102.498.5(Germany)

1 H7 : 3169457 / 3178706 (Japan) / B% : EP 2517822 B1 (EU)

% APFE : ZL 2011 2 0141324.9 /ZL 2012 2 0274549.6 (China)

. £ : M440159 / M415011 (Taiwan) / 2 : US8770222 B2 (U.S.A)

FAA 1 0000278076(ltaly)

2~RC1/8" F—' 2~TH3/8"
U] Position for fix;crew .\'\
= RHEE EIRMIE 8
4~26.5 \,\ =
/
S} ——
L ﬁﬁ Serration Pitct} \\ j f/
*‘Wuﬁ % ri HEEaEE 1.5x60 \\ ”// §
\ 3/
/
ws][] ,
N N K
525 | |
.G ]
_F S —
5 O Jhee o
J,: \'7 — ZTU_L 6 z
T w L x
3 < °
8 o
8 E
[a]
Q ﬁ
L
L
L1 B
REBIREIEREIET]
Subject to technical Ichanges AP-A
BHIRRHE SPECIFICATIONS
o S AR = I TRFER = = S = SRS
1) {=] =3 =
B BAE  TRESD  0n D, BARREN | BAKSH | BELEK | R | wmmo oot
. Jaw strok = % Max. Clampi M f ) ) .
— Thru-hole Dia. a\EVDi:)) e ﬁajx( E,f“/rj]\ Max. pressure axfora;rgnplng Max. speed ?r:r:tri\;o Weight Air Consumption
mm mm mm mm MPa (kgf/cm?) kN (kgf) min* (r.p.m.) kg * m? kg lit (at 6kgf/cm?)
AP-52 A6 52 59 170 15 0.6(6.1) 40.5(4128) 3900 0.2 26 | 30 3.1
AP-66 A6 66 7.6 215 24 0.6(6.1) 50(5097) 3000 0.4 38 | 45 51
AP-86 A8 86 8.9 268 43 0.6(6.1) 80(8156) 2800 0.7 58 72 8.7
AP-115 | A8 115 10.6 330 55 0.6(6.1) 90(9174) 2000 1.7 92 | 112 12
4MEIRST DIMENSIONS
Model A B C D D1 E E1 F G H J K L
AP-52 | A6 235 121 140 170 215 106.38 6.5 19 52 215 58.5 170 2 6~M10
AP-66 | A6 265 134 153 170 245 106.38 6.5 19 66 215 65 215 2 6~M10
AP-86 | A8 315 142 169 220 295 139.72 6.5 27 86 215 67 268 2 6~M10
AP-115 | A8 370 154 181 220 350 139.72 6.5 27 115 215 69 330 2 6~M10
Model L1 M N P Q max. Q min. R max. R min. 8 T U V
AP-52 | A6 15 18 37 73 20 21.2 9.2 38 35.1 31 12 1455 6~M12
AP-66 | A6 16 18 38 95 25 23.7 8.7 50.2 46.4 35 14 159.5 6~M12
AP-86 | A8 16 24 43 110 30 32.2 12.7 62.2 57.8 40 16 184.5 6~M16
AP-115 | A8 16 24 51 130 30 44.7 14.7 77 717 50 21 212 6~M16

AT EIES AP-A B2 <F3% (The dimensions and the specifications of AP-A type are in red data.)

39 AuTtoGRIP




g rp AFLAERE REIETE (=) =g

LARGE THRU-HOLE AIR CHUCK

.}\; o BRBEAKRENNE NEREL BaEMMI -

’0\‘: o REANRB"BNRI"HE - SERHMMENEENIER - BRIEFZE - (RE
AEiEM2018 PR SME IR F)

TAIWAN EXCELLENCE

o EBRIRAMR LERERD  REMIREHRBERGE  JEE
LR RBERAR -
Large through-hole 3-jaw power chuck with build in air cylinder.
With build-in "pressure detection” device in chuck which can check the pressure is lowered
rapidly within the chuck, guarantee to the security of operating.(only for O.D. clamping)
®  Patented air supply system, it is easy to install and maintain. No abrasion issue of traditional
sealed ring. Maintenance cost and time can be saved.
B HANERFH Patent numbers :
2 : 20.2011.101.818.4 /20.2012.102.498.5(Germany)
H7K : 3169457 / 3178706 (Japan) / B2 : EP 2517822 B1 (EU)
ARPBE :ZL 2011 2 0141324.9 / ZL 2012 2 0274549.6 (China)
£ : M440159 / M415011 (Taiwan) / 2B : US8770222 B2 (U.S.A.)

i
s
)]
7
xR

&
p

= 1| - Position for fix screw
FAA 1 0000278076(ltaly) BT
2-RC1/8" 4~06.5
2~TH5/8"

pressure detection
(0.d clamping only)
B g (R AR ) .

Serration Pitch

77'30"

EEEING

1

MiH
,TE v BT
,j ——=

&

el
B

o C H7

@D
2J

| ‘
RERBIEHRIER L h
Subject to technical changes APA B
FXHTHIME SPECIFICATIONS
3 mre | R JUEE  mxemEn | mioosn | emoem BE | e
Model Thru-hole Dia. Ja?D?;?ke ;ljiaj; &/)\Min.|  Max. pressure Max.fg:'i;nping Max. speed M?,:g?g; el Weight Air Consumption
mm mm mm mm MPa (kgflcm?) kN (kgf) min* (rp.m.) | kg * m? kg lit(at 6kgficm?)
AP-145 | Al1 145 14 420 62 0.6(6.1) 110(11213) 1500 3.8 156 | 182 17.8
AP-185 | A15 185 14 460 100 0.6(6.1) 160(16310) 1700 6.0 188 | 223 22
AP-230 | A15 230 17 535 170 0.6(6.1) 150(15290) 1300 111 265 | 310 34
AP-275 | A20 275 17 580 200 0.6(6.1) 160(16310) 1100 155 301 | 346 39
AP-320 | A20 320 17 658 200 0.6(6.1) 180(18348) 1000 27.2 415 | 505 45
AP-375 | A20 375 24 738 260 0.6(6.1) 210(21406) 900 442 530 | 545 55)
SMUR~F DIMENSIONS
Model A B (& D D1 B E1l F G H J K L L1
AP-145 A1l | 400 198 231 300 365 196.87| 8 33 145 34 120 420 3.5 9~M12 20 31
AP-185 | A15 | 460 198 238 300 405 |285.78| 8 40 185 44 120 460 85 9~M12 20 85
AP-230 | A15 515 226 266 380 483 285.78 8 40 230 49 145 535 3.5 6~M16 24 35
AP-275 | A20 560 232 272 380 528 |412.78| 8 40 275 52 152 580 B85 6~M16 24 85
AP-320 A20| 615 256 306 520 580 412.78| 8 50 320 55 116.5 | 658 3.5 9~M16 25 33
AP-375 | A20 | 690 272 322 520 650 |412.78| 8 50 375 B5) 127 738 85 9~M16 28 &3
Model L2 M N P Qmax. = Qmin. | Rmax. | Rmin. S T U Y W X Y
AP-145 | A11 | 6~M20 63.7 165 43 53.5 235 98 91 62 25.5 57° 242 0° 38 20
AP-185 | A15 | 6~M24 63.7 165 43 53.5 23.5 118 111 62 25.5 58 ° 272 7° 38 20
AP-230 Al5 | 6~M24 71.7 180 60 48.5 185 145 136.5 64 25.5 30° 300 7° 33 15
AP-275 | A20| 6~M24 71.7 180 60 48.5 18.5 167.5 159 64 2515) 30° 322 7° 30 12
AP-320 A20 6~M24 81.5 210 60 60.5 24.5 190 181.5 74 30 52° 350 7° 27 9
AP-375 | A20| 6~M24 81.5 210 60 66.5 24.5 2235 | 2115 74 30 52° 387 7° 27 9

AL EBEEA AP-A BLZ<TIE (The dimensions and the specifications of AP-A type are in red data.)
autocrip 40



’ APS AFE R R B ICEE (—EItiTHE ) =nerem

LARGE THRU-HOLE AIR CHUCK (DOUBLE SPEED JAW STROKE)

BAEASRENRE - NEREL - BaEMINT -
REEARE"BIBEHE - M RBEA LB ER - BERIEELE -
BIIRAS ZERZRES  BERIKTHIRERELE 068
ZRRBIERS -

o REARB"RFBRH"HE - BERRITRREUBTREPRELE  EMER
WA MR R TH R ET 218 - (RBRARIMERE)

o MERITE  JHEREMEERRE -

®  |arge through-hole 3-jaw power chuck with build in air cylinder.

®  With build-in"pressure detection"device which can check the rapidly decreasing pressure
within the chuck, guarantee to the security when operating.

® Patented air supply system, it is easy to install and maintain. No abrasion issue of
traditional sealed ring. Maintenance cost and time can be saved.

®  The build-in "clamping detection" device can avoid jaws clamping the workpiece during the rapid

stroke stage. This mechanism can also prevent causing the damage of the internal parts or
flying out of workpiece.(only for O.D. clamping)

® Extended jaw stroke design can shorten the processing time when gripping.
AR RRTEBRBEIRHEN 2RSS -

Notice:No clamping in rapid stroke period.

i
s
)]
7
xR

Position for fix screw

X, G ZEBEERHUE
‘ 4~EG.§ 150
i}
D
ITTe Tehfe| %) |
- o | offield] 1 -
‘ L M FEE3 000" a7
T |
T v r— Kjk
b
1 ﬂ
Air supply device
j[[# o i
| p e =
a4
N~
< I w| |
Q o Q
Q
E S
I I I
\—'—’—LJ;
L L1
Rapid_st;oke
B lamping stroke
xR
[ I T T I
% 4 4v Rapidstioke  Clamping stroke
REGR  REOE
_ |
|
1RBIARIERBI1EF Subject to technical changes % ——
#R1& SPECIFICATIONS
z S 4 718 PSS R=LEY = S = TRHHEE
] = =
B3t B (=EE9) Chucking Dia. BRI B : g8 (5FAE /) 6kgficm?)
—— Thru-hole Dia. Ja\sz?Zz;ke =&A Max. | &/J\Min. Max. Clamping force Max. speed M?:;?t?; cl Weight Air Consumption
mm mm mm mm kN (kgf) min*(r.p.m.) kg * m? kg lit(at 6kgficm?)
APS-185 185 26 14 460 127 110(11216) 1300 6.45 198 22
4MUR~T DIMENSIONS
Model A B C D E F G H J K L L1 M
APS-185 460 221 300 425 8 185 45 124 50 3.5 9~M12 17 63.7
Model N P Q max. Q min. R max. R min. S T U \ w X Y
APS-185 165 43 37 17 145 125 62 255 58 272 7° 38 30

4] AUTOGRIP



CL BN Qs

COLLET CHUCK

BUETUE M 2 3eeE - BMECNCER - ERE - sSiE MR -

SiEE  SEEESHMERS -

ZEMIKEET - BLETIEIKEAFEBILE -

PUSH type collet used mainly on turning, CNC, special purpose machines , ect.
High clamping accuracy, high speed and high rigidity.

Sealed against swarf, chips and coolant.

BREMEIARTS DIN 6343 #1% -
The collet used must accord with DIN 6343.

= EFEMFR Patent numbers :
&7 : PAT.NO.M380842(Taiwan)
KPBE : PAT.NO.ZL201020113762.X(China)

L1

Lock Screw
5 E 121

DA
acC
@D
oK
aJ
|
|
|
JK
|
]
!
OF
DAL

REBRABIELROER E—J

Subject to technical changes B
i #R4& SPECIFICATIONS

B B el o | SERAAN RAEN | REEME | EE | GREK mmEmd | Cpo"

- Psltl:zz:r Rlﬁd H::Egtfm S:‘:L?Zfre Max. D.8. pul Max.fglrir:ping Max. speed o’\??::tri]; Weight = Matching steel Matching Cy1. Max. pressure

mm mm mm mm kN (kgf) kN (kgf) mint (rp.m.) = kg-m? kg collet MPa (kgf/cm?)

CL-26 4.5 3~26 4~22 4~18 | 17.6(1800) = 37.9(3870) 8000 0.040 4.3 161E TK-A533 2.4(24)
CL-30 4.5 3~30 4~26 4~20 | 19.6(2000) = 42.1(4300) 8000 0.038 4.2 163E TK-A533 2.7(27)
CL-36 6 3~36 6~32 6~26 | 22.5(2300)  48.5(4950) 6000 0.062 7.0 171E TK-C643 2.3(23)
CL-42 6 3~42 6~36 6~29 | 24.5(2500) 52.9(5400) 6000 0.060 6.9 173E TK-C643 2.5(25)
CL-52 6 5~52 8~45 7~36 | 27.4(2800) 59.0(6020) 6000 0.101 143 177E TK-A853 2.0(20)
CL-6017 6 5~60 8~52 7~42 | 29.4(3000) 63.7(6500) 5000 0.098 14.1 185E TS-866 1.8(18)
CL-6022 6 5~60 8~52 7~42 | 29.4(3000) 63.7(6500) 5000 0.126 = 16.3 185E TS-866 1.8(18)
CL-80 6 20~80 = 18~69 | 15~56 = 34.3(3500) | 71.5(7300) 4000 0.108  17.8 193E TK-A1287 1.6(16)
4R <) DIMENSIONS

Model A Al B C(H6) D E | E1 Fmax. Fmin. Gmax. Gmin. H J K max. L L1 M
CL-26 120 85 100 110 826 | 4 23 26 3 7 2.5 15 12 M40x1.5 = 3~M10x25 | 16 4
CL-30 120 85 100 110 826 4 23 30 3 7 25 15 12 M40x1.5 @ 3~M10x25 | 16 4
CL-36 155 | 100 @ 120 140 1048 5 23 36 3 7 1 175 | 20 M55x2 3~M10x25 | 18 4
CL-42 155 | 100 @ 120 140 1048 5 23 42 3 7 1 175 @ 20 M55x2 3~M10x25 | 18 4
CL-52 185 | 130 | 1455 | 170 | 1334 5 | 27 | 52 5 9 3 24 30 M60x2 6~M12x30 | 20 5
CL-6017 185 | 130 | 1455 | 170 | 1334 5 | 27 | 60 5 9 3 24 45 M75x2 6~M12x30 | 20 5
CL-6022 234 130 142 220 1714 5 32 60 5 13 7 24 45 M85x2 6~M16x30 | 20 5
CL-80 234 156 @ 163 220 1714 5 32 80 20 155 | 9.5 22 45 M100x2 = 6~M16x30 | 20 5]

AUTOGRIP 42



- &) AR 2 G kA
’ CL-A COLLET CHUCK

AT TUE M 2R AER - BECNCER - SR - siEthizH A -

SiEE  SEERSHIMES -

ZEMIKEET - BLETIEIKEAFEBILE -

PUSH type collet used mainly on turning, CNC, special purpose machines , ect.
High clamping accuracy, high speed and high rigidity.

Sealed against swarf, chips and coolant.

EREMEIARTS DIN 6343 #RE -
The collet used must accord with DIN 6343.

= EFEmFI Patent numbers :
& : PAT.NO.M380842(Taiwan)
APBE : PAT.NO.ZL201020113762.X(China)

L1 E
‘ L Lock Screw
— 4 [E 9215
g e i
T iiE Al
— === _—
slelgie R -= A
77\'\4 & i
~//5 0 Il K
¥ fJ
oot e changes B
$ i #31% SPECIFICATIONS
g B M) | S ekxmn | emEeM | ER | @EER | ERERL | SATH
mm mm mm mm kN (kgf) kN (kgf) min® (rp.m.) | kg:m? kg collet MPa (kgf/cm?)
CL-26 |A4 45 | 3-26 4~22 4~18 | 17.6(1800) 37.9(3870) 8000 0.040 4.2 161E TK-A533 2.4(24)
CL-30 |A4 45 | 3-30 4~26 4~20 | 19.6(2000) 42.1(4300) 8000 0.038 4.1 163E TK-A533 2.7(27)
CL-36 | A5 6 3~36  6~32  6~26 | 22.5(2300) 48.5(4950) 6000 0.058 6.3 171E TK-C643 2.3(23)
CL-42 | A5 6 3~42  6~36 = 6~29 | 24.5(2500) 52.9(5400) 6000 0.057 6.1 173E TK-C643 2.5(25)
CL-42 | A6 6 3~42  6~36 = 6~29 | 24.5(2500) 52.9(5400) 6000 0.061 75 173E TK-C643 2.5(25)
CL-52 | A6 6 5~52 = 8~45 | 7~36 | 27.4(2800) 59.0(6020) 6000 0.093 13.8 177E TK-A853 2.0(20)
CL-60 | A6 6 5~60 8~52 = 7~42 | 29.4(3000) 63.7(6500) 5000 0.091 = 135 185E TS-866 1.8(18)
CL-60 | A8 6 5~60 8~52 = 7~42 | 29.4(3000) 63.7(6500) 5000 0.104 145 185E TS-866 1.8(18)
CL-80 | A8 6 | 20~80  18~69 | 15~56 | 34.3(3500) 71.5(7300) 4000 0.120 = 19.8 193E TK-A1287 1.6(16)
4N~ DIMENSIONS
Model A Al B D D1 E Fmax. | Fmin. ' Gmax. G min. H J K max. L L1 M
CL26 |A4 110 85 108 826 6351 25 26 3 9.5 5 15 | 12 | M40x15 | 3~M10x30 @15 4
CL-30 (A4 110 85 108 826 6351 25 30 3 9.5 5 15 | 12 | M40x15  3~M10x30 @15 4
CL-36 |A5 | 135 100 130  104.8 8256 27 36 3 14 8 175 20  M55x2 | 4~M10x30 @14 4
CL-42 |A5 135 100 @ 130 104.8 | 8256 | 27 | 42 3 14 8 175 20  M55x2 | 4~M10x30 14 4
CL-42 |A6 165 100 | 130 133.4| 106.38 | 32 | 42 3 15 9 175 20 M60x2 | 4~M12x35 16 4
CL-52 |A6 170 130 154 1334  106.38 27 52 5 105 45 24 | 45 | M60x2 @ 4~M12x35 | 20 @5
CL-60 |A6 | 170 130 154 1334  106.38 27 60 5 105 | 45 24 | 45 | M75x2 | 4~M12x35 | 20 | 5
CL-60 |A8 | 210 130 1475 171.4 13972 35 60 5 35 25 | 24 45 M85x2 | 4~M16x40 @ 22 5
CL-80 |A8 | 210 156 175  171.4  139.72 35 80 20 75 15 22 | 45 | M100x2 6~M16x40 | 22 | 5

43 AUTOGRIP



oBE M 2 2K B R
STEEL COLLET

oD1
oD

|

—1
L — 15

DIN 6343 Collet standard

B FRE
REBRASIE B HER)
Subject to technical changes
SMEIR < DIMENSIONS
BRAKRFFEET] g
SEERIIE Max. Chucking Capacity (mm) d 5 o 1 BERERRE
Collet Bt NEM aL) )
Matching Collet Chuck
Round Hexagom Square
161E 3~26 4~22 4~18 32 45 34 75 CL-26, CL-26A4
163E 3~30 4~26 4~20 B85 48 38 80 CL-30, CL-30A4
171E 3~36 6~32 6~26 42 55 42 94 CL-36, CL-36A5
173E 3~42 6~36 6~29 48 60 50 94 CL-42, CL-42A5, CL-42A6
177E 5~52 8~45 7~36 58 70 60 94 CL-52, CL-52A6
185E 5~60 8~52 7~42 66 84 73 110 CL-6017, CL-6022, CL-60A6, CL-60A8
193E 20~80 18~69 15~56 90 107 92 130 CL-80, CL-80A8
JAIFED(S H) ADIN
L mm
Test Bar D(S,H) Class 1 Class 2
0.5~1.0 3 0.015 0.015
1.0~1.6 6 0.015 0.020
1.6~3.0 10 0.015 0.020
L
3.0~6.0 16 0.015 0.020
6.0~10.0 25 0.015 0.020 R
10.0~18.0 40 0.020 0.030 L/,;\J\
18.0~24.0 50 0.020 0.030 i |
24.0~30.0 60 0.020 0.030 /
T
30.0~50.0 80 0.030 0.040 - — @
50.0~60.0 100 0.030 0.040 a

7 —MRARIR BES DIN Z4&
Note: Collets chuck are conformed to DIN 6343 Class2.

AUTOGRIP 44



- AN S e
’ CBICB A DRAWIBACK COLLET CHUCK

BECNCEK - SR - sStEMiEHER - (FEMsLO0#EINTA -

BRI - B[S EEEAE IR - BB -

SEE  SEEKRSBIMERS -

T EFIKEET - B UIEIAEA FEBEALE -

Ideal for CNC lathes, specialized machines, and turning equipment for bar stock
or shaft machining.

® Draw-back clamping with radial clamping and axial fine-tuning torque, featuring
through-hole.

Offers high precision, speed, and rigidity.

Features a comprehensive waterproof design to prevent cutting fluid from
entering the spindle through-hole.

J EREAE IR R BRI T IFRO AL -

K max EREEIRIEOBERIZT 7 HAFE  AEBRFERTH -
J is the hole diameter of blank draw nut.

K is the maximum thread specification and it could be customize.

L1

CB-ERKEFH
CB type Clamping method

7°73
k - _
dop$]
Radial clamping
X > —
5 g & 58 e 8 Tt Y 3§
-
G | [H y
f U
RERE, THFBEE RIS R T, E1 N
During clamping, the workpiece
shifts slightly backward along with M
the collet.
B
G eaanmvea changes CB
i #31% SPECIFICATIONS
0 E5iTRE Max?gﬁjﬁiﬁifpacny BHBAANS  BAKESH  BSESy =B CASK | BEEST BAEEEN
Model F;Iturgﬁsr Rfd Hgfg?m S?:Ere AP (DL MaX-fglri::DmQ Max. speed |~ Weight  Matching steel Matching Cyl. S
mm mm mm mm kN (kgf) kN (kgf) min* (r.p.m.) kg collet MPa (kgf/cm?)
CB-42 45 4~42 | 7~36  7~30 | 34.3(3500) @ 78.4(8000) 7000 6.5 RG-42 TK-B846 2.8(28)
CB-42 A5 45 4~42 | 7~36 = 7~30 @ 34.3(3500) @ 78.4(8000) 7000 6.2 RG-42 TK-B846 2.8(28)
CB-42 A6 45 4~42 | 7~36 = 7~30 | 34.3(3500) @ 78.4(8000) 7000 7.4 RG-42 TK-B846 2.8(28)
CB-52 45 4~52 | 7~36 | 7~45 | 39.2(4000) = 92.1(9400) 7000 6 RG-52 TK-A853 3.2(32)
CB-5217 45 4~52 | 7~36 | 7~45 | 39.2(4000) = 92.1(9400) 7000 9.6 RG-52 TK-A853 3.2(32)
CB-52 A5 45 4~52 | 7~36 | 7~45 39.2(4000) | 92.1(9400) 7000 6.5 RG-52 TK-A853 3.2(32)
CB-52 A6 45 4~52 | 7~36 | 7~45 39.2(4000) | 92.1(9400) 7000 7.8 RG-52 TK-A853 3.2(32)
CB-65 45 4~65 | 8~56 = 8~46 @ 44.1(4500) = 103(10500) 5500 15 RG-65 TS-866 3.0(30)
CB-65 A6 45 4~65 | 8~56 = 8~46 | 44.1(4500) = 103(10500) 5500 13.6 RG-65 TS-866 3.0(30)
CB-65 A8 45 4~65 = 8~56 | 8~46 | 44.1(4500) = 103(10500) 5500 17.6 RG-65 TS-866 3.0(30)
CB-80 45 5~80 @ 8~68 | 8~56  50.0(5100) = 115(11730) 5500 19 RG-80 TK-A1287 2.3(23)
CB-80 \As 45 5~80 @ 8~68 | 8~56  50.0(5100) = 115(11730) 5500 19 RG-80 TK-A1287 2.3(23)
4R T DIMENSIONS
Model A AL | A2 B CH6) D DI E El1 F Gmax. Gmn. | H J Kmax L 11 M N
CB-42 150 | 125 102 815 140 1048 - 5 31 | 43 105 6 (175 30 M55x2 3~M10x25 11 60 4~M8
CB-42 A5 140 | 125 102 915 - | 1048 8256 - 415 43 255 | 21 175 30 M55x2 | 4~M10x25 12 70 4~M8
CB42 A6 165 125 102 915 - 1334 10638 - | 45 | 43 | 29 | 245 175 30 M55x2 | 4~M12x35 18 73.5 4~M8
CB-52 150 125 102 83.5 140 1048 - 5315 53 11 65 175 30 M60x2 4~M10x25 16 62.5 4~M8
CB-5217 180 125 | 102 87 170 1334 | - 5 35 | 53 145 10 175 30 M60x2 4~M12x30 18 66 4~M8
CB-52 A5 140 | 125 102 935 - |1048 8256 - 415 53 26 | 215 175 30 M60x2 | 4~M10x30 16 725 4~M8
CB-52 A6 165 | 125 102 99 - 133410638 - | 47 53 | 315 | 27 175 30 M60x2 6~M12x35 18 78 | 4~M8
CB-65 185 145 120 100 170 1334 - 6| 50 66 135 9 215 32 M75x2 6~M12x40 20 73.5 4~M8
CB65 A6 165 145 120 111 - | 133.4 10638 - | 61 | 66 | 30.5 | 26 (215 32 M75x2 | 4~M12x40 20 84.5 4~M8
CB-65 A8 207 | 145 120 107 - |171.4 139.72 - 57 66 265 | 22 215 32 M75x2 | 4~M16x40 24 80.5 4~M8
CB-80 235 175 | 150 112 220 1714 - 5 37 825 135 8 25 45| M85x2 | 6~M16x30 22 87  6~M10
CB80 A8 | 210 175 150 125 | - |171.4 139.72| - | 50 825 265 | 21 | 25 | 45 M85x2 6~M16x50 24 100 6~M10

45 AUTOGRIP



- BHENTIZ B EKIEEE e
’ CBEICBE A 5 stor coLLeT cHuck

o BHIEMUIYE EGERREHE BEOIGHMEMANE  tEEE
UTHARRE  SREBREZEHIENBEAE -

o ERURHPIEERC GIREEER - BREBINEE TR -

®  The pull-back positioning clamping, combined with the workpiece stop block
mechanism, features radial clamping and axial fine-tuning torque, enabling
precise positioning of the workpiece feeding length for enhanced length
accuracy control.

®  The blocking block and dust cover can be swapped for versatile use and chip
protection.

JEREFRZEEREEZETRAAR -

K max BRELIZEJERET 7R RS dREREERETH -
J is the hole diameter of blank draw nut.

K is the maximum thread specification and it could be customize.

CBE-RB%5HZA Block Block
CBE-type Clamping method G M12 Block set E M12 Block set
- WER T
ML Rl ’E [vigs TPy
e ,H} - — a
BLOCK el * i | mExE rraod
[ Radial clamping \ T
LE 8 [E 175 L
__|.__V Slight axial displacement 4  —
M F
' o B |Hl N < ol o 3
! ‘ §| 8| 8| £| 8 -3| 8 S| 8 8| E
4
A TERIAE, SR80y, THAEER U —+ + ‘ X
s, REEHLFBR. )
With the material stop mechanism ol bol ,# Collet set bolt
in place, the workpiece does not Collet set bolt L oy
shift backward during clamping, M L1| E1 BAERTE |-EL] RERE
lthough th be slight scuff M
marks on the surfate, v Al | R
REBRBIEUAETR B | B
Subject to technical changes
i #45 SPECIFICATIONS CBEA CBE
= EN
il EBTR o G ey | BERAAT | BANSN  REEMH  EE | gREX | ERERE | RKEAE)
Pl HiE | NAM | 5 Max. clampi ; :
Model stioke | Round Hexagom | Square | Max. D.B. pul ioroe 0 | Max. speed | Weight Matcggﬁge]tsteel Matching Cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (r.p.m.) kg MPa (kgf/cm?)
CBE-42 4.5 4~42 7~36 7~30 34.3(3500) 78.4(8000) 7000 6 RG-42 TK-B846 2.8(28)
CBE-4212 4.5 4~42 7~36 7~30 34.3(3500) 78.4(8000) 7000 6 RG-42 TK-B846 2.8(28)
CBE-42 A5 4.5 4~42  7~-36 | 7~30 34.3(3500) 78.4(8000) 7000 6.3 RG-42 TK-B846 2.8(28)
CBE-42 A6 4.5 4~42 | 7-36 | 7-30 34.3(3500) 78.4(8000) 7000 7.4 RG-42 TK-B846 2.8(28)
CBE-52 4.5 4~52 7~36 7~30 39.2(4000) 92.1(9400) 7000 6.9 RG-52 TK-A853 3.2(32)
CBE-5212 4.5 4~52 | 7-36 | 7-30 39.2(4000) 92.1(9400) 7000 6.7 RG-52 TK-A853 3.2(32)
CBE-5217 4.5 4~52 7~36 7~30 39.2(4000) 92.1(9400) 7000 8.9 RG-52 TK-A853 3.2(32)
CBE-52 | A5 4.5 4~52 | 7-36 | 7~30 39.2(4000) 92.1(9400) 7000 7.8 RG-52 TK-A853 3.2(32)
CBE-52 A6 4.5 4~52 7~36 7~30 39.2(4000) 92.1(9400) 7000 8.3 RG-52 TK-A853 3.2(32)
CBE-65 4.5 4~65 | 8~56 & 8~46 44.1(4500) 103(10500) 6000 8.6 RG-65 TS-866 3.0(30)
CBE-6514 4.5 4~65 | 8~56 | 8~46 44.1(4500) 103(10500) 6000 9.3 RG-65 TS-866 3.0(30)
CBE-65 | A5 4.5 4~65 | 8~56 & 8~46 44.1(4500) 103(10500) 6000 10.8 RG-65 TS-866 3.0(30)
CBE-65 A6 4.5 4~65 = 8~56 | 8~46 44.1(4500) 103(10500) 6000 9.5 RG-65 TS-866 3.0(30)
CBE-65 A8 4.5 4~65 8~56 8~46 44.1(4500) 103(10500) 6000 9.5 RG-65 TS-866 3.0(30)
4R <) DIMENSIONS
Model A Al A2 B C (H6) D D1 B El F |G max. G min. H J K max. L L1 M
CBE-42 150 | 132 100 95 140 104.8 - 5 20 48 5.5 1 17 | 45 M55x2 | 4~M10x25 19.5| 58
CBE-4212 132 | 132 100 95 120 100 - 5 - 48 55 1 17 | 45 M55x2 | 4~M10x25 [19.5 58
CBE-42 A5 132 | 132 100 | 105 - 104.8 | 82.56 @ - - 48 | 205 16 17 | 45 M55x2 | 4~M10x30 | 16 @ 68
CBE-42 A6 160 | 132 100 @ 105 - 133.4/106.38 - 35 48 | 205 16 17 | 45 M55x2 | 4~M12x35 | 18 @68
CBE-52 150 | 140 | 107 99 140 | 104.8 - 5 - 52 5.5 1 17 | 56 M60x2 | 4~M10x20 |14.5 60
CBE-5212 140 | 140 @ 107 99 120 100 - 5 - 52 5.5 1 17 | 56 M60x2 | 4~M10x20 14.5 60
CBE-5217 180 | 140 | 107 @ 109 170 133.4 - 6 - 52 145 | 10 17 | 56 M60x2 | 4~M12x30 18 | 70
CBE-52 A5 | 140 | 140 107 | 109 - 104.8 | 8256 - - | 52 | 205 | 16 17 | 56 | M60x2 | 4~M10x30 16 | 70
CBE-52 A6 160 | 140 | 107 @ 109 - 133.4 106.37 | - - 52 205 | 16 17 | 56 M60x2 | 4~M12x35 18 | 70
CBE-65 180 | 157 122 114 170 133.4 - 6 24 56 15 | 105 | 175 | 68 M75x2 | 4~M12x30 18 | 72
CBE-6514 157 | 157 122 116 140 | 104.8 - 6 - 56 17 | 125 | 175 68 M75x2 | 4~M10x30 | 18 74
CBE-65 A5 157 | 157 122 114 - 104.8 | 82.56 @ - - 56 21 | 165 175 68 M75x2 | 4~M10x25 | 16 @72
CBE-65 A6 157 | 157 122 112 - 133.4 | 106.38 | - - 56 19 | 145 | 175 68 M75x2 | 4~M12x35 [18.5 70
CBE-65 A8 202 | 157 122 116 - 171.4 139.72 - | 38 | 56 23 | 185 175 68 M75x2 | 4~M16x35 24 | 74

AUTOGRIP 46



AUEE QIS

AR S E TV 1% B B R AR 6

DEAD LENGTH COLLET CHUCK

A cBD/cBD-A

o RIMERF . BREREH#E BERORFROEBMA - dBEEMTIHARE
E - EREBEERIEINEE -

o FEBECAUTOGRIPEEBEN® ASELE—REMHIN THERMENER - oL
HrREARIE -

o ERIRHEFEZLMRBRER  BLEAEGBEINEDTLIFE - B8 Talk
5 oD REHAIENIRS -

® The push-forward clamping, combined with a stop block mechanism, features radial
clamping with zero radial displacement, enabling precise positioning of the workpiece
feeding length for improved length accuracy control.

® AUTOGRIP rubber tube clamping eliminates forward pushing, minimizing surface
damage.

°

Interchangeable workpiece stopper and dust cover enable through-hole applications
and chip protection, suitable for sub-spindle clamping, reducing tension and
compression.

J EREAE IR R B FIR T ISR LIS -

K max B2 @R E 0 EBRIE T 7 | A - ol E
J is the hole diameter of blank draw nut.

K is the maximum thread specification and it could be customize.

pressl

vl 1
RESSKET & -

G
’-_.
CBD-E#RFHFHH E§ T -
CBD-type Clamping method T T
7&% Vo - -
fi-tasy ]
BLOCK / Fﬁ WEIK =
/ Radial clamping
<ol 2| & = g £ <l ol o Bl g g g
8 8| g E 8 H S| 8 8| g 8 E® 8| =
TR, TH AR GRS, R
When clamping, the workpiece does B
not shift forward. M ul e L
m
B B
REBIEE AR
Subject to technical changes CB D_A CB D
F: 1T #5348 SPECIFICATIONS
s EHTR o ok ey | BFRAAY | BAKN) | REEWH  EE | @RER | BRGS0 BARAE.
Plunger | [E# NEM Tt Max. clamping ) )
Model stoke | Round | Hexagom = Square | Max.D-B.pull force Max. speed  Weight Matc?(l)rlllgtsteel T S Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min (r.p.m.) kg MPa (kgf/cm?)
CBD-52 4.5 4~52 7~36 7~45 | 39.2(4000) 92.1(9400) 7000 7.3 RG-52 TK-A853 3.0(30)
CBD-5212 4.5 4~52 7~36 7~45 | 39.2(4000) 92.1(9400) 7000 7.1 RG-52 TK-A853 3.0(30)
CBD-5217 4.5 4~52 7~36 7~45 | 39.2(4000) 92.1(9400) 7000 10.9 RG-52 TK-A853 3.0(30)
CBD-52 | A5 4.5 4~52 7~36 7~45 | 39.2(4000) 92.1(9400) 7000 7.8 RG-52 TK-A853 3.0(30)
CBD-52 A6 4.5 4~52 7~36 7~45 | 39.2(4000) 92.1(9400) 7000 9.1 RG-52 TK-A853 3.0(30)
CBD-65 4.5 4~65 8~56 8~46 | 44.1(4500) | 103(10500) 6000 8.6 RG-65 TS-866 2.7(27)
CBD-6514 4.5 4~65 8~56 8~46 = 44.1(4500) | 103(10500) 6000 9.3 RG-65 TS-866 2.7(27)
CBD-65 | A5 4.5 4~65 8~56 8~46 | 44.1(4500) | 103(10500) 6000 10.8 RG-65 TS-866 2.7(27)
CBD-65 A6 4.5 4~65 8~56 8~46 = 44.1(4500) | 103(10500) 6000 9.5 RG-65 TS-866 2.7(27)
CBD-65 | A8 4.5 4~65 8~56 8~46 | 44.1(4500) @ 103(10500) 6000 9.5 RG-65 TS-866 2.7(27)
SNEIR < DIMENSIONS
Model A Al A2 B C (H6) D D1 E El F G max. G min. H J K max. L L1 M
CBD-52 150 | 140 116 99 140 | 104.8 - 5 - 52 7 25 17 56 | M60x2 | 4~M10x20 14.5 57
CBD-5212 140 @ 140 @116 99 120 100 - 5 - 52 7 2.5 17 56 | M60x2 | 4~M10x20 14.5 57
CBD-5217 180 140 116 109 170 ' 133.4 - 6 - 52 16 11.5 17 | 56 M60x2 | 4~M12x30 | 18 @ 67
CBD-52 A5 140 140 116 109 - 104.8 | 82.56 @ - - 52 22 175 17 |56 M60x2 4~M10x30 | 16 @ 67
CBD-52 A6 160 140 116 109 - 133.4 1 106.38 @ - - 52 22 175 17 |56  M60x2 4~M12x35 | 18 | 67
CBD-65 180 @ 157 | 132 | 112 170 | 1334 - 6 24 54 155 11 | 175 |68 | M75x2 @ 4~M12x30 18 70
CBD-6514 157 157 132 114 140 | 104.8 - 6 - 54 17.5 13 175 68 M75x2 | 4~M10x30 @ 18 @ 72
CBD-65 A5 | 157 @ 157 | 132 @ 112 - 104.8 | 82.56 @ - - 54 215 17 | 175 |68 | M75x2 @ 4~M10x25 16 70
CBD-65 A6 @ 157 @ 157 | 132 @ 110 - 133.4 1 106.38 - - 54 195 15 | 175 |68 | M75x2 @ 4~M12x35 18.5 68
CBD-65 A8 @ 202 157 | 132 @ 114 - 171.4 1 139.72 | - 38 54 235 19 | 175 | 68 | M75x2 @ 4~M16x35 24 72

47 AUTOGRIP



STATIONARY DRAW COLLET CHUCK

’ SCB VA== WE S PP YL E

o EHHEIK - BRI OMER -
o SREEXRSHIMLEE -
o AFEEFZIMERIITUMEM -
o LERAS  BLILEEENCETMI -
o FEERGHRMAZBEN - HMARRFERIE -
o REMURAIEREMEI M RMEMH AR -
® Build-in cylinder, ideal for drilling machines, milling machines and machining
centers
®  Work with AUTOGRIP's rubber collet(RG series), quick change and saving
runtime.
® Two modes for the media supply: side-supply mode or baseplate-supply
mode.
L1 K
\ @ y/
— —
< O w (U - (o4
)
Q Q| Q 3 g 0
E % — n
2~0HIE N mooow T
m\ % Unclamp Clamp
2 SHAN.
T ‘ T : T
i 7
2MEmamz, /| G | H | Unclamp Clamp
Baseplate T R o
Pressure Port B 2~RC1/4" RE 4R
Side Pressure Port
(REBIRE BRI
Subject to technical changes
K {li#R4% SPECIFICATIONS
e RAKRFFEET] RAKHFN BAFERES = pua.
i T7(B4) Max. Chucking Capacity Max. clamping force Max. pressure 8 EIRES
" ) Bt NEM FA R SRR R JHER )
Jhy SiilEDR) Round | Hexagom | Square Pneumatic Hydraulic Pneumatic Hydraulic Wi Matching steel collet
Model mm mm mm mm kN (kgf) kN (kgf) MPa (kgf/cm?) MPa (kgf/cm?) kg
SCB-52 +0.5 4~52 7~45 7~36 8.2(837) 101(10300) 0.6(6) 4.0(40) 8.6 RG-52
SCB-65 +0.5 4~65 8~56 8~46 10(1020) 105(10700) 0.6(6) 4.2(42) 10.2 RG-65
4N <) DIMENSIONS
Model A (g6) Al B c D D1 E F G H
SCB-52 175 110 84.5 25 152 95 7 53 24.5 17
SCB-65 192 130 94 30 169 114 9 66 26.5 20
Model J K L L1 M N P Q R S
SCB-52 10 51.5 4~M10 12 4.2 P7 3~M6x12 160 42 69.5
SCB-65 10 61.5 4~M10 12.5 4.2 P7 3~M6x12 175 50 77

AuTOGRIP 48



RG 1% 1B 5 2K 18R

RUBBER GRIP COLLET

o TIARATIETUE BTN ET AU IR -
FlREEIIZ OB ISR - BAEHIEN
BEAES5EEIH -
BRE—HEIHRY -
BRI EREEL0.5mm -
BIRRIESE -
FhEERA B RR T -
Rubber grip collet for push type or draw type collet chucks.
Full griping area: high rigidity, more gripping force.
Gripping smoothly: prevent to damage the workpiece.
®  More accurate than standard spring collets. Accuracy:
With customized rubber grip collet.
®  Grip Range: +0.5mm.
Quick change and easy.
®  Dust-proof and swarf-proof design.

o | | [a) - o ()
Q Q Q Q
0oog
15 \Lls”
L 1 L
IREBMIBIE AR
Subject to technical changes RG_RT RG_R
R fli#31& SPECIFICATIONS
5 BASISAE B
B Max. Chucking Capacity J 5 L BERIER
Model Ll g Matching Collect Chuck
mm
RG-42R 4~42 54 79.3 42 CB-42, CBE-42
RG-42RT 11~42 54 79.3 42 CB-42, CBE-42
RG-52R 4~52 66 79.3 46 CB-52, CBD-52, CBE-52, SCB-52
RG-52RT 11~52 66 79.3 46 CB-52, CBD-52, CBE-52, SCB-52
RG-65R 4~65 80 99.5 53 CB-65, CBD-65, CBE-65, SCB-65
RG-65RT 11~65 80 99.5 53 CB-65, CBD-65, CBE-65, SCB-65
& D(S,H) L ADIN
L Test Bar D(S,H) mm Class1 Class2
3.0~6.0 16 0.015 0.020
6.0~10.0 25 0.015 0.020
10.0~18.0 40 0.020 0.030
— — £ 18.0~24.0 50 0.020 0.030
e 24.0~30.0 60 0.020 0.030
30.0~50.0 80 0.030 0.040
;‘\/ 50.0~60.0 100 0.030 0.040
1 —RMABKEBER DIN Z4&

i 2 AQEH L DIN — R R iR%E
Notel : Collets chuck are conformed to DIN 6343 Class2.
Note2 : AUTOGRIP's rubber grip collets are conformed to DIN 6343 Class1.

49 AUTOGRIP



VH Rz ETUAREE G

STATIONARY CHUCK WITH THRU-HOLE

o UEBNPEHNKE BB - HARSTIHIPOEER -
BIMR=NmErw -
VH2-22008Y 0 Frfic i 7 BeBE AR A& &~ A B 2H-2 80 AR [E) -
VH2-32002Y = PRECES 7 BeBEfR4E R~ AR E3H-2BU T AR (E) -

® Stationary Chuck with two or three jaws for drilling, milling and other

machines.

® Specification and size of matching chuck for model VH2-2200 is the same
as model 2H-2.

® Specification and size of matching chuck for model VH2-3200 is the same
as model 3H-2.

L BEEHEE
*’—‘* Serration 1.5

| v
AR —. x
g S Eﬁg
— E
o+
7 J
VH2-3204,VH2-3205 VH2-2204,VH2-2205
{£35712#20nly 3 bolts | £43712420nly 4 bolts |
REB RIS AR
Subject to technical changes
RTINS SPECIFICATIONS
BigE SEZEEFRES. Piston area MITIRER) =AERES B8
Vodel ##AlExtend hifflRetract Jaw stroke(Dia.) Max. pressure Weight
cm? cm? mm MPa(kgf/cm?) kg
VH2-2204 52.4 46.7 5.5 2.0 (20) 9.5
VH2-3204 52.4 46.7 515 3.0 (30) 9.5
VH2-2205 63.7 57.9 55 2.0 (20) 13.1
VH2-3205 63.7 57.9 515 3.0 (30) 12.6
VH2-2206 97.1 88.5 6.0 8(17.9) 21.5
VH2-3206 97.1 88.5 6.0 2.7 (26.8) 21.5
VH2-2208 128.9 113.6 7.6 2.1(20.7) 32.9
VH2-3208 128.9 113.6 7.6 2.9 (28.6) 334
VH2-2210 189.2 174.3 8.9 1.9 (19.2) 55
VH2-3210 189.2 174.3 8.9 2.9 (28.7) 59
SMUR~F DIMENSIONS
Model A B © D(H7) E F G H J K L M N P Q
VH2-2204 113 155 137 50 5 27 23 34 59 122.5 12 9 26 62 RC1/4
VH2-3204 113 155 137 50 5 27 23 34 59 122.5 12 9 26 62 RC1/4
VH2-2205 138 168 150 60 5 32 23 34 60 125 12 9 26 62 RC1/4
VH2-3205 138 168 150 60 5 32 23 34 60 125 12 9 26 62 RC1/4
VH2-2206 170 194 176 80 5 45 25 36 81 143 14 11 26 62 RC1/4
VH2-3206 170 194 176 80 5 45 25 36 81 143 14 11 26 62 RC1/4
VH2-2208 210 217 195 80 5 55 29 44 91 160 14 13.5 30 75 RC3/8
VH2-3208 210 217 195 80 5 55) 29 44 91 160 14 183 30 75 RC3/8
VH2-2210 260 266 246 100 6 76 32 47 102 192 17 13.5 30 75 RC3/8
VH2-3210 260 266 246 100 6 76 32 47 102 192 17 185 30 75 RC3/8

Autocrip 50



i
=1
Fa
s

VP E B ZKEE PE
STATIONARY CHUCK
o UEACEENNE BABE - SESTIM D OEERE B TRSM

MmER -

VP-2008 0 PR 7 JRERAR I8 K <A 2P RV AR -
VP-300Z U FRECHY 2 JRBRARAE R~ /EHA3PRIAEE -

Stationary Chuck with two or three jaws for drilling, milling and other

machines.
® Specification and size of matching chuck for model VP-200 is the same as
model 2P.
® Specification and size of matching chuck for model VP-300 is the same as
model 3P.
T ’3‘_[ ===l
1 | \
s 88 7 # — <
il i
T =1
iﬁ%ﬁ%
FIG/H VP-304 Onl
‘ J VP-305 %3
K
REBITHAE R

Subject to technical changes

R #73R4& SPECIFICATIONS

Rigge SEZEMEAEES. Piston area THTRRER) =AERES 52
- FH{AlExtend fifilRetract Jaw stroke(Dia.) Max. pressure Weight
cm? cm? mm MPa(kgficm?) kg
VP-204 28.0 24.9 6.4 2.1(21) 71
VP-304 28.0 24.9 6.4 3.2(32) 7.4
VP-205 28.0 24.9 6.4 2.2(22) 10.2
VP-305 28.0 24.9 6.4 3.3(33) 10.6
VP-206 63.1 53.5 8.5 2.3(23) 18.3
VP-306 63.1 5815/ 8.5 3.4(34) 19.8
VP-208 103.4 90.8 8.8 1.9(19) 31.6
VP-308 103.4 90.8 8.8 2.8(28) 33.6
VP-210 153.1 133.5 8.8 1.5(15) 52.8
VP-310 153.1 133.5 8.8 2.2(22) 54.5
4MEUR~F DIMENSIONS

Model A B © D(H8) E F G H J K L M
VP-204 110 146 130 30 4.5 12 18 2 52 92 9 RC1/4
VP-304 110 146 130 30 4.5 12 18 2 52 92 9 RC1/4
VP-205 135 146 130 30 4.5 12 18 2 55 95 9 RC1/4
VP-305 135 146 130 30 4.5 12 18 2 55 95 9 RC1/4
VP-206 165 178 160 40 5 12 14.5 12.5 74 125 11 RC1/4
VP-306 165 178 160 40 5 12 14.5 12.5 74 125 11 RC1/4
VP-208 210 205 186 40 5 14 15 16 85 140 11 RC1/4
VP-308 210 205 186 40 5 14 15 16 85 140 11 RC1/4
VP-210 254 248 225 50 6 17 20 18 89 176 13 RC3/8
VP-310 254 248 225 50 6 17 20 18 89 176 13 RC3/8

51 AutocrIP



LONG JAW STROKE STATIONARY CHUCK

A sm 3B BT e

o MhEREE RIITE -

o WEHEL - SERKBMAENIRE  cERREBES -

o LKA EIRERITETMT -

o SHRAMS(LEIET - WOl AIRAEL TSR -

o TEREREWM - ETHMOMUERER -

o EHBEMA EPEHE-

e WEDGE-HOOK type power chuck, and long jaw stroke.

® Build-in hydraulic cylinder; it can also work with lock valve and be driven by
air pressure.

® FEasy toinstall. Installing the tubes and then operating.

[ ]

Thin and compact design. Use standard soft jaws or standard hard jaws.
® Air-tight pressure detect function is optional.

fefERERAl.
Equipped with Airtight pressure detection function.

F
£ 3
=—-
fiFg—o B
A1 e b
il y %
< ol ¢ L]
Q| Q é Tr
= o
=l
|
13.5
27|
7,,J 2~RC1/4” air supply port
40 ‘ for open/close 45 Lock valve(Option)
B FEERLL 70 (R EER(SEARFV-01)
RC1/8 BB EER A
RCL/8 Negative pressure
dustproof connection hole
REBIRRIERAIET)
Subject to technical changes
BHiRR1& SPECIFICATIONS
s S ELE BAIHN BAEAEN SRR .
EiCh B wIEERES ES
(B85 BA B A SHIEE RE SHIEE fEFEF6.0 kgflom?
v il Chucking Dia. Max. clamping force Max. pressure
Di Min. pressure Air consumption Weight
Model (Dia.) Max. Min. Pneumatic Hydraulic Pneumatic Hydraulic
mm mm mm kN(kgf) kN(kgf) MPa(kgflcm?) = MPa(kgf/cm?) kgf/cm? lit (at 6.0 kgf/cm?) kg
SM-306 13.1 168 14 18.0(1830) 32.2(3280) 0.7(7) 1.2(12) 2 1.5 18.7
SM-308 16 210 18 26.2(2670) 45.0(4590) 0.7(7) 1.2(12) 2 2.7 32.5
SM-310 19.6 254 20 37.0(3772) 63.0(6422) 0.7(7) 1.2(12) 2 4.6 53.6
4N R~ DIMENSIONS
Model A(h7) Al B © D F G H J max. J min.
SM-306 206 168 110 188 15 40 73 20 16.75 4.75
SM-308 248 210 127 230 15 41 95 25 23.75 8.75
SM-310 300 254 145 280 16 46 110 30 36.75 14.25
Model K max. K min. L M N P Q R S T
SM-306 39 32.45 31 12 M10x1.5 11 139.5 104.5 55 18
SM-308 45 37 35 14 M10x1.5 11 160.5 125.5 68 25
SM-310 50 40.2 40 16 M12x1.75 13 182.5 147.5 85 30

AUTOGRIP 52



SP BT AKEE M =M g hE R
STATIONARY CHUCK

UEXPERBEMUBENPZERE - BMR=TMERTEL -

°
o (NEMEGL - MOl ERIRERE - ZIEREEE -
o /NEARE  BEMNIREEM -
o RERME FELAERTMBEFE -
o ECGHIE - OIRERCIRELMEMER -
o UHEBUERMERETSHRIEIMIER -
o ERANREML  JJZERBHESMIE -
® Stationary Chucks — Non-Thru-Hole and Thru-Hole Types.
®  Available in two jaw configurations: 2-jaw and 3-jaw.
® Equipped with a built-in hydraulic cylinder; compatible with lock valves and can
also be operated using air pressure.
® Features a small thru-hole, making it ideal for machining long bar workpieces.
®  Side and bottom air/hydraulic inlets available; either can be used for operation.
®  Slim and compact design. Compatible with standard soft jaws or hard jaws.
®  Suitable for rotary machining and can be installed on mill-turn machines.
® (Can be integrated with multi-plate setups for enhanced versatility.
F 6-N
o - Iy
o - e
A =
=1 o oo === &
oy I —p =
% BE 883 1 4
] —
28 — 4
! ' oz
P_|oy| = | 7 al F
‘ D,L,D] ZRCU sicsupply port o ;l Oset%_m pen
il 27 BB S 45| |\ mEmqmmeyon
——40~ | 40_| 70 Lock valve(Option)
B B
SP-304 SP-306~SP-312 SP-206,5P-208,SP-210
—F
— ’L’ 11
= — ]
P et = - T
S L P x| o
T -
S o -
§/8|3 f 88 L 3
s 1
= i v A A ]
L zrcys Twsupplypgr't" : o ot ?"R“/s;i‘"s”"”“’cp"“ v' ssTﬁ AR (ERFV-03)
for open/close B3I - = P for open/close R ER -
|56, | RC1/4 8 EIEMET iB e SR,
B ReRTor 2Bt protection hofor dbist protection
SP-316 SP-320/SP-324
R EAAER)
Subject to technical changes
FAT#R4& SPECIFICATIONS
. T4Ti2 REFER RAKES RAERES - _ TREFER -
BigR = - LEF B 2}
’ EE gk B FE S B g ERRED e 96,0 kgfiom =
Jaw stroke Chucking Dia. Max. clamping force Max. pressure . . i .
" N ) Min. pressure Air consumption Weight
Model (Dia.) Max. Min. Pneumatic Hydraulic Pneumatic Hydraulic
mm mm mm kN(kgf) kN(kgf) MPa(kgflcm?) | MPa(kgflcm?) kgflcm? lit (at 6.0 kgf/cm?) kg
SP-304 5.1 110 10 7.5(765) 22.0(2243) 0.7(7) 1.2(12) 2 0.5 7
SP-206 55 168 30 | 34.1(3477) | 46.1(4752) 0.7(7) 1.2(12) 2 1.4 16
SP-306 55 168 30 | 355(3620)  60.0(5252) 0.7(7) 1.2(12) 2 1.4 16.5
SP-208 6.8 210 42 | 43.2(4405) | 74.0(7545) 0.7(7) 1.2(12) 2 25 27.7
SP-308 6.8 210 42 51.5(5251) | 88.3(9004) 0.7(7) 1.2(12) 2 25 28.7

53 autocriP



’ SP 7 E K =T/ =T/ hes Bl ) hgga

STATIONARY CHUCK
Rigk mﬁf REFER RAKEN : %kﬁﬁﬁ@?? SEERES TREFE 8
E® gk | 8 B | uE fE | HE 6.0 kgflcm?
Model Ja‘?’D?‘;r.(;ke N(l;:xlf‘;king I':\)/:il Pneum::.cdampingl—:;;i:ulic Pneuml\:l:: press::;raulic Min. pressure Alr consumption Weight
mm mm mm kN(kgf) KN(kgf) MPa(kgflcm?) = MPa(kgf/cm?) kgflcm? lit (at 6.0 kgf/cm?) kg
SP-210 7 254 52 60.5(6169) 94.5(9636) 0.7(7) 1.2(12) 2 4.2 41.8
SP-310 7 254 52 68.2(6955) = 118.7(12104) 0.7(7) 1.2(12) 2 4.2 42
SP-312 9.3 304 60 75.8(7729) 148 (15091) 0.7(7) 1.2(12) 2 6.4 71.3
SP-316 14.5 400 30 | 120.7(12305) 120.7(12305) 0.7(7) 0.7(7) 2 10.6 147.8
SP-320 16 500 45 | 155.6(15865) 155.6(15865) 0.7(7) 0.7(7) 2 15 232.7
SP-324 16 600 140 | 215.9(22015) 215.9(22015) 0.7(7) 0.7(7) 2 22 338.7
4N R~F DIMENSIONS

Model A(h7) Al B © D D1 E F G H J max. J min.
SP-304 148 110 84 130 15 13.5 - 25 52 14 3.75 0.75
SP-206 206 168 94 188 15 13.5 25 40 73 20 10.75 4.75
SP-306 206 168 94 188 15 13.5 25 40 73 20 10.75 4.75
SP-208 248 210 108 230 15 13.5 32 41 95 25 12.25 8.75
SP-308 248 210 108 230 15 13.5 32 41 95 25 12.25 8.75 é
SP-210 300 254 112 280 16 13.5 54 46 110 30 23.25 12.75 =
SP-310 300 254 112 280 16 13.5 54 46 110 30 23.25 12.75 zg
SP-312 350 304 130 330 18 13.5 65 54 130 30 30.75 12.75 -
SP-316 460 400 153 432 20 20 - 66 165 43 67.75 18.25
SP-320 540 500 170 500 22 20 - 74 180 60 87.5 24.5
SP-324 640 600 175 600 24 20 - 74 180 60 87.5 24.5

Model K max. K min. L M N P Q R S| T T1 U Vv
SP-304 31.5 28.95 23 10 M8x1.25 9 110.5 75.5 - - - - -
SP-206 47 44.25 31 12 M10x1.5 1 139.5 104.5 55 18 = = 6~M8x1.25
SP-306 47 44.25 31 12 M10x1.5 1 139.5 104.5 55 18 - - 6~M8x1.25
SP-208 57 53.6 35 14 M10x1.5 1 160.5 {2515 68 25 - - 6~M8x1.25
SP-308 57 53.6 35 14 M10x1.5 1 160.5 125.5 68 25 - - 6~M8x1.25
SP-210 64.5 61 40 16 M12x1.75 13 182.5 147.5 85 30 - - 6~M10x1.5
SP-310 64.5 61 40 16 M12x1.75 13 182.5 147.5 85 30 - - 6~M10x1.5
SP-312 77.5 72.85 50 21 M12x1.75 13 207.5 172.5 100 35 - - 6~M10x1.5
SP-316 70 62.75 60 255 M16x2.0 17.5 271 236 115 45 80 110 12~M10x1.5
SP-320 82.5 74.5 65 25 M20x2.5 22 301 266 165 - - 130 3~M16x2.0
SP-324 129.5 121.5 65 25 M20x2.5 22 351 316 200 - - 180 3~M16x2.0

AUTOGRIP 54



SD T ENBRIREE =MehgER

STATIONARY PULL DOWN CHUCK

NEMEL - SEAKBMBE DR - cERREBEAT -
O ARG TH MR R TR mER - FIHA DF U EMESEER -
SEMECEENAREBTBUEE  TABHEARBE BRESKEEE
HAE  #E58YHISE -
OB EARR R A S ETNT -

®  Build-in hydraulic cylinder; it can also work with lock valve and be driven by air
pressure.

® Radial clamp and axial pull down at the same time, keep the workpiece attaching
close to the base surface of the chuck.

® Almost no workpiece uplifting displacement.

® The body with heat treatment and the organization of cylinder pull-down and fine
boring, which guarantee to the high clamping precision and durableness, it’ s
suitable for heavy duty machining.

® Can work together with multi-plate.

= EEEREEH,
m  Equipped with Airtight pressure detection function.

. S 6~W
AL = 4~@K
E —
2 P
6~J1
LS & Bo
55 1~
<| O |ad 2 & Py
[SHN T
le S \T’ % 3 k}u Q
™
=
> — =
] )
- 2~RC1/4" air supply port
) CHI for open/close
Fll 1.l 1135 BEERL
RC1/8" air supply port
21 for gripping-confirmation ‘ 45 Lock valve(Option)
40 EERERAIL 70 REERI(EAFV-01)
B
REBIARIEDLBIER
Subject to technical changes
AT SPECIFICATIONS
. 5 KRBT BAKSN BAERESD _ SRNEE _
1 =
- E® | B 8 o | wE . T L
Jaw stroke Chucking Dia. Max. clamping force Max. pressure . . . i
X . N - - - Min. pressure Air consumption Weight
Model (Dia.) Max. Min. Pneumatic Hydraulic Pneumatic Hydraulic
mm mm mm kN(kgf) kN(kgf) MPa(kgf/lcm?) | MPa(kgf/cm?) kgf/cm? lit (at 6.0 kgf/cm?) kg
SD-304 5 110 18 5.0 (510) 10.9 (1112) 0.6 (6) 1.3 (13) 2 0.26 8.1
SD-306 7.2 165 35 11.5 (1173) 25.0 (2550) 0.6 (6) 1.3 (13) 2 0.58 20.6
SD-308 7.2 210 28 21.7 (2213) 47.0 (4793) 0.6 (6) 1.3 (13) 2 1.02 34.1
SD-310 10.8 254 40 36.0(3680) 60.0(6118) 0.6 (6) 1.0 (10) 2 2.05 55
4MUR~F DIMENSIONS
Model A(h7) Al B c D(H7/h7) E F G H J J1 K L max. L min.
SD-304 148 110 93.5 130 35 2 15 M3 22.5 10 M5x0.8 9 30 23
SD-306 206 165 116 188 52 7 18 M4 35 20 M6x1 11 45 35
SD-308 248 210 122 230 65 10 18 M5 45 25 M8x1.2 11 56 46
SD-310 300 254 151 280 75 12 20 M6 55 30 M8x1.2 13 65 50
Model M N [® Q max. Q min. R S T U Vv W
SD-304 19.5 52 19 37 345 27 25 75.5 110.5 3~M10 M8x1.25
SD-306 31 70 27 57.8 54.2 42 35 104.5 139.5 3~M14 M10x1.5
SD-308 41 84 31 70.8 67.2 53 40 125.5 160.5 6~M12 M10x1.5
SD-310 46 100 38 85 79.6 62 50 147.5 182.5 6~M14 M12x1.75

55 autocrip



SU ST BT M FEA IR —

STATIONARY PULL LOCK CHUCK

NEMEL - EERAREBEURBNRE - JELFREREY -
YEAREC R THREERGEMEEL  ETHEADFURMES
BEEH - BEER - SRR OKER -

o SHIMEEEENAERBTRAKE LABMARBE BESKIFEE
HMAE  BEEUHISE -

o TIHAVERBENRMASETNT -

®  Build-in hydraulic cylinder; it can also work with lock valve and be driven by air
pressure.

® Radial clamp and axial pull down at the same time, keep the workpiece
attaching close to the base surface of the chuck.

®  Almost no workpiece uplifting displacement.

®  Suitable for drilling, milling and other machines.

® The body with heat treatment and the organization of cylinder pull-down and
fine boring, which guarantee to the high clamping precision and durableness, it's
suitable for heavy duty machining.

® Can work together with multi-plate.

R EEAl.

Equipped with Airtight pressure detection function.

— y oK
r— M 3~V w N
— =&~ i
i o 5
/E;%
Gmin._ T | | z g @ :_Et
3w
< Pi—— [a] I.I.IT —‘ 2 =
8| O = SIS S 58
I | @ (o4 =
3] § »E
<
=
13.5 %‘%252 3-J
119, Hm mH
- } e mH > ¥
:4‘ l\' .\.\ ‘ 2~RC1/4" air supply port 1 nwﬁwu I EiClose |FOpen
i /cl
- [ %%’g%?f FClosé: FOpen rh F
Lo L
Ao
RC1/8" air supply port —i— L
40 for gripping-confirmation 45 . SU-303
2 REE BG4 Lock valye(Optlon)
REBATHAEHONER Bl 05 FERERAL 70 {RERRE (= AZFV-01)
Subject to technical changes -
SU-304,306,308,310
FFR1& SPECIFICATIONS I —
. e KIFEE BAKSSN BAGHESN _ SREEE _
| 4 =
. E® | mx | ®h RE | HE TR B e
Jaw stroke Chucking Dia. Max. clamping force Max. pressure . . . .
. X . Min. pressure Air consumption Weight
Model (Dia.) Max. Min. Pneumatic Hydraulic Pneumatic Hydraulic
mm mm mm kN(kgf) kN(kgf) MPa(kgflcm?) = MPa(kgf/cm?) kgf/cm? lit (at 6.0 kgf/cm?) kg
SU-303 2 42 4 5.2(530) 12.8(1305) 0.6(6) 1.3(13) 2 0.16 5.7
SU-304 3 60 5 6.7 (683) 16.0 (1632) 0.6 (6) 1.3(13) 2 0.26 7.4
SU-306 5 105 31 18.5(1886) | 40.0 (4079) 0.6 (6) 1.3 (13) 2 0.58 18
SU-308 5 132 32 37.0(3773) @ 80.0 (8158) 0.6 (6) 1.3 (13) 2 1.02 1B
SuU-310 5 163 44 46.2(4710) 100.0(10100) 0.6(6) 1.3(13) 2 211 53
4MUR~F DIMENSIONS
Model A(h7) Al B B1 C D(H6) E F G H(H6) J K L max. L min.
SU-303 122 85 80.5 68 104 28 22 12 35 66 M3 3~9 5 1
SU-304 148 110 101.5 83.5 130 32 24 15 4.5 84 M5 4~9 7 1
SU-306 206 168 136.5 104 188 35 25 18 6 129 M5 4~11 15 5
SU-308 248 210 152 115 230 55) 45 18 7 156 M6 4~11 17 7
SU-310 300 254 181 131 280 65 53 20 7 187 M8 4~13 9 -1
Model M N P Q max. Q min. R S) T U \ w X (p.c.d) Y
SU-303 12 30 7 3.5 25 36 15 63 98 M5 4~M8x1.25 46 3~M5x10
SU-304 17 40 9.5 2.75 1.25 42 20 75.5 110.5 M6 6~M8x1.25 62 6~M5x10
SU-306 30 50 17 15.75 13.25 49 30 104.5 139.5 M10 6~M10x1.5 72 6~M6x12
SU-308 34 63 20.5 16.25 13.75 71 35 125.5 160.5 M12 6~M10x1.5 95 6~M6x12
SU-310 39 74 23 20.75 18.25 85 40 147.5 182.5 M14 = 6~M12x1.75 115 6~M6x12

AUTOGRIP 56



SE T ERNRERIKEE = mepEn

STATIONARY EXPANSIBLE PULL BACK CHUCK

o RNEMEL  SERAKEBHABNERE  JERLRE@EAYE -
o ERMRAERSE -
o SREEZEM BEEEREMNIL -
o TEAVERIAMERAGETML -
®  Build-in hydraulic cylinder; it can also work with lock valve and be driven by
air pressure.
®  For internal gripping.
®  With high precision and stability.
® Suitable for the precision large length size process.
® Suitable for end process.
® Can work together with multi-plate.
n REEH (ER).
= Airtight pressure detect function is optional.
. El E F
=
jz <| O = L;%iﬁiﬁj} Q =} 2
E Q [N iJj’ TF ) &L é Q
= -
5 135
85 \
r [
° z ‘ 2~RC1/4" air supply port
for open/close
‘ 40 ‘ BARAERIL
] _——‘ Lock valve(Option)
B1 14 FREER(ERCFV-01)
RC1/8" air supply port
for gripping-confirmation
B EERTHAIL
Soft jaw : type A Soft jaw : type B(Option)
EEETAT EAEE TR R AR)

REBIBIEREEF

Subject to technical changes

TR SPECIFICATIONS

. e TS EE BASIEH BAERES - SRNER .
Ll b N N 88
2 @®  sx | & aE | uE T, T H
Jaw stroke Chucking Dia. Max. clamping force Max. pressure . . . )
) : : . : . Min. pressure Air consumption Weight
Model (Dia.) Max. Min. Pneumatic Hydraulic Pneumatic Hydraulic
mm mm mm kN(kgf) kN(kgf) MPa(kgflcm?) | MPa(kgflcm?) kgflcm? lit (at 6.0 kgflcm?) kg
SE-305 3 83 29 14.3 (1459) 41.0 (4181) 0.7 (7) 1.3 (13) 2 0.46 14.6
SE-306 5 110 44 20.0 (2040) 57.0 (5812) 0.7 (7) 1.3 (13) 2 0.58 20
SE-308 5 150 50 32.0 (3263) 78.0 (7954) 0.7 (7) 1.3 (13) 2 1.02 33
4MYR~F DIMENSIONS
. type A type B
Model A(h7) Al B B1 c D = Eil} Fmax. = F min. G
H max. H min. H max. H min.
SE-305 173 135 126 100 155 15 20 5 3 -3 25 68 50 83 67
SE-306 206 168 140 108 188 18 23 7 5| -5 40 90 70 110 89
SE-308 248 210 164 119 230 18 30 9 5 -5 49 110 90 150 108
H1
Model . J K L M N P Q R
max. min.
SE-305 50 29 25 9 88 123 275 275 3~M6 M8x1.25
SE-306 70 44 31 11 104.5 139.5 38 29 3~M6 M10x1.5
SE-308 90 50 35 11 125.5 160.5 50 35 3~M8 M10x1.5

57 AutoGRrIP



MP4 A B AR BERER
STATIONARY CHUCK BASE PLATE

OJRARBEARSEM IO £ RSN IZETIH -
EELERUN R ARER -

oJEIE2 - 3 - 6 THEHEE -

Use for milling machine or machining center to achieve
simultaneous processing of multiple workpieces.
Stationary cylinder lock valve (optional) can be mounted.
® Plate for 2,3,6 stationary chucks is optional.

P

hvi
g
E2
58
|

|
N NI

o

w

Lock valve(Option)
TRERF(EECFV-01)

g /s
JopEll | jﬂ?;%

Il i s

REBIRIGIELEIHER o
Subject to technical changes
U

4MEYR < DIMENSIONS

Model A B C1 C2 C3 C4 D E = G
MP4-06206 460 580 400 320 250 200 544 210 220 120

Model H J K L M N P Q R S T U
MP4-06206 20 45 18 17 20 140 *B 33 18 20 20 206

*B I IRATARBCIRERALSR 2 ~0A B -

The dimension *B: Please refer to the dimension B of the chuck model assembled.

-l: E
’ VH '201 ?A% O)IJDE%E?ED AIR VALVE

RGBT
Subject to technical changes
RABTEN BIERE FEOR
Max. pressure MPa(kgf/cm?) Operating angle Port size
1.0 (10) 90 ° Rc1/4

AUTOGRIP 58



| 0% B A 3 ER R

A rRAP

BRAR A R BR = JT\ 758 AR ER
PNEUMATIC ROTARY CHUCK

o ANERI 7 HIVERIKGE - FrGZE/E/) - BEEYHIES - WOl FEREEL
MEREERE T -
o ERAMRDERLETHEML -
o KERMEHERS  MIPUIBASEAKER -
o REEIISWERIBEME WEBMESE -
® Rotary chuck with built-in pneumatic cylinder, compact design, suitable for light
machining, compatible to standard soft jaw/hard jaw.
Can be installed on a rotary table for indexing machining.
Sealed against dust and cutting chips.
® Matching surfaces of all parts hardened, ground and lubricated directly.
AR AREBEERRIRENIEARE B REEE - Sy ERNREH
BUHASR TRAT -
Note: To overcome friction force between distubritor ring and chuck body, the
rotating torque of rotary table must be highr than the requirement shown in
the table.
Serration Pitch S
HEEEEE1.5
M
— (e 1
S ol 2
3l
e L 1 o
al o i
g Lg e © - g -
T u W
Hll /| E
L mm 6-L
KLU |V 2~RC1/4" air supply port
J for closeloggnsupp yper 5 ] 2~RC1/4”
EEERIL Open Close
RBIDAGERIIER Bl
Subject to technical changes B
BHT#E SPECIFICATIONS
miTig TEFEE RAKEES - TRHHEE
1) g = = e =
=t (Ef) Chucking Dia. S (ERES6.0 kgflcm?) BACRED | BEME BefE (EREH16.0 kgflcm?) e
Jaw stroke BA =/ Max. clamping force Max Rotation Air consumption .
Model (Dia)  Max. Min.  Pneumatic(at6.Okgficms) | "o Pressure | Max-speed | ioqigance torque (at 6.0 kgflcm?) Weight
mm mm mm kN (kgf) (kgflcm?) (r.p.m.) Nm lit (kgflcm?) kg
RAP-306 55 170 25 21.0 (2141.4) 7 72 40 3.1 16.2
RAP-308 6.8 215 37 34.2 (3487.4) 7 60 60 3.1 30.6
RAP-310 7 254 53 48.0 (4894.7) 7 53 85 4.2 42.4
4MU R~ DIMENSIONS
Model A B B1 C (H6) D E F G H J K
RAP-306 215 98 90 110 155 181 170 25 7 52 8
RAP-308 260 113 104 110 200 226 215 32 8 52 9
RAP-310 300 117 52 140 235 261 254 54 8 52 10
Model L L1 M N P Q max. Q min. R max. R min. S T U Y w
RAP-306 6~M8 11 36 73 20 10.75 6.25 47 44.25 31 12 19.5 14 3~M8
RAP-308 6~M8 16 37 95 25 13.25 8.75 57 53.6 35 14 19.5 14 3~M8
RAP-310 6~M8 14 42 110 30 23.25 12.75 64.5 61 40 16 19.5 14 3~M8

59 autocriP




SELF-CENTERING 3-JAW MANUAL CHUCK

’ 3MF BEIFE) K0 =TSR =R

BRRKSERIABARAMO EREAFKHMIE  IRDEBINFRZER -
DO ERERE - RUBASEAKBAR - DEAKBHNERSHR

® Thin and lightweight design and increase the z-axis machining range.

® With the center hole cover and dustproof design for the accuracy and
service life of the chuck.

®  For 5-axis indexing plates and milling machines.

" ARIERLATERZRNREAANIIAER - BRIFBER 25058 & BEHT
ZBERAETZE -

m  3MF series are not designed for the vertical or horizontal lathes,
unless there is a rigid plate and providing adequate support rigidity and
strength.

B3 B i

DA
@C Hé6
OF

REBRABIELRORER
Subject to technical changes

1T #31E SPECIFICATIONS

sk TITEER) J&fs L Chucking Dia. BRABFFHRE BRAKSE TS ReEEYH B8
Vodel Jaw stroke (Dia.) BA Max. &/)\ Min. Max. allowable torque Max. clamping force Max. speed Weight
mm mm mm N - m (kgf - m) kN (kgf) min* (r.p.m.) kg
3MF-16 60 350 95 175 (17.8) 59 (6000) 1450 66.9
3MF-20 80 450 135 170 (17.3) 71.2 (7300) 1150 121
SMEUR~F DIMENSIONS

Model A B C (H6) D E F G H J(H7) K L L1 M
3MF-16 400 80 140 375 10 135 ol4 27 19.03  4~M12 6~M12 23 60
3MF-20 500 85 170 465 12 160 o019 38.1 19.03  4~M16 6~M16 23 80

Model N P1 P2 P3 Q max. Q min. R max. R min. S T (h8) U Vv
3MF-16 148.5 27.16 54 1125 184.5 164 103 62 40 12.7 15° 28
3MF-20 192.5 29.5 76.2 135 254 214 139.7 99.7 50 12.7 15° 40

AuToGrip 60



VR

B N E DR EH

POWER CENTERING VISE

o SMNITE R AMRAEERZ[EAA -

o AEHEGL - OIFRRERIHBEEE -

o (IHHEEREEREARNE - okFREEER -

o BEAMRIKREMI PO -

® Slim and short profile for improved workspace utilization.
Built-in hydraulic cylinder operable by either pneumatic or hydraulic
pressure.

® |nput ports available on both the side and bottom for flexible
connection options.

® Suitable for milling machines and machining centers.

Vi

Ul

P Q
2~MAJRER L
- - - 2~M4 Bottom lubrication oil hole
a0k (B | h— M5 FEEMASHT, A
{( T : — M5 Bottom oil inlet A
LN e ? e ed
: fo—o1t ool s - >
MAEER R RFL (& BB EER)
T 49—@@‘ é‘q} M H)\W ! M4 Bottom air vent for
I ‘ )% n RN \ Negative Pressure Dust Prevention
L ,\/\ ) o d {é; (VR-1012:M5 ; VR-1214:M5 )
1 = i 5\ " \_M5 K& fitmF, B
4~L S M5 Bottom oil inlet B
‘ ‘ T | 2~@8(H7) B3
A 2~@8(H7) Master hole
Bl
G
D
R M H7 E 2~M6HEHTL
‘ M5IREFL -E. !
| ‘ | | (BERER) ‘ ‘ 2~M6 Oil hole
Lt e et M5 Air hole kL
! I I ‘ “ for Negative !
j @ (D N Pressure Dust
| | s Prevention
| |
o | e o .
| g o =
I I N
T T T T & T
J 2~RC1/8” #&ih7l
2~RC1/8”Pressure port
REBRBIBRRER
Subject to technical changes
R fli#1& SPECIFICATIONS
o= =20 = = BARE RAEREN o =
g TRES — BAKSEE L i S Mo pretsure SMBARE s8
Jaw stroke Max.Chucking RE pii)= RE SR ' )
Model (Dia.) (Dia.) Pneumatic Hydraulic Pneumatic Hydraulic D%, JF e el
mm mm kN (kgf) kN (kgf) MPa(kgf/cm?) MPa(kgf/cm?) mm kg
VR-808 8 100 2.0(200) 7.7(785) 0.9(9) 2.1(21) 60 3.55
VR-1012 12 120 4.4(448) 12.2(1244) 0.9(9) 2.1(21) 60 7
VR-1214 14 160 8.6(876) 31.1(3171) 0.9(9) 2.1(21) 60 12
ShEUR~T DIMENSIONS
Model A B B1 © D E(h6) F Gmax Gmin H H1 H2 J Ji K
VR-808 120 80 52 63.5 36 16 2 125 117 335 24 26.5 36 40 M5x0.8
VR-1012 150 100 64 76 45 20 2 158 146 39 30 32 46 48 M6x1
VR-1214 188 125 82 82.5 60 24 2.5 196 182 41.5 44 34.5 57 51 M8x1.25
Model L M(H7) M1 M2 N P Q R S S1 T T1 U U1l \Y V1
VR-808 M6 6 21.5 2.5 27 9 6.5 49 95 65 70 65 24 10 36 18
VR-1012 M8 8 27 2.5 32 12 8 63 120 80 90 80 30 12 46 20
VR-1214 M8 8 30 3 43 12 10 80 158 100 128 100 44 16 57 25

61 AuToGRIP




TSRO R EH
’ Mvsc 5-AXIS SEILF\ CENTERING VISE

o BEEEORKET - BAR4MES 8 CNClRELFS - IJBECRATN I M

THER -
o SEETEMEE POLEEEMBEEE £0.01 mm - BERIHBERG AR
EML -

=

o SHIMMAERE AEXRSHESEMEN - BEEASAMERE (HRC45
L)  BEEMELRREY -

o EMHEEIHO  HOMELAZMIWEHEEZE HRC 55 DI L - RRETOJIERM
- WolBi - KigRAEmREm -

o ERZBMIRE AHEEE  BREEE B5sXE  sHENMIRE
-

S

® Self-centering design ideal for 4-axis and 5-axis CNC rotary tables; compatible
with horizontal and vertical machining.

® Centering repeatability of + 0.01 mm ensures precise and stable workpiece
positioning.

® Vise body made of high-grade alloy steel with hardened sliding surfaces (HRC
45+) for excellent wear resistance and rigidity.

® Jaws are made of fully hardened steel (HRC 55+), reversible and
interchangeable for extended service life.

® Precision-built and easy to operate, ideal for demanding machining
environments requiring high efficiency and accuracy.

H
i G2
] 1, I
O G O Li O O
[a) L
(&)
B |

FIFh4RE (Clamping curve)

& o]on 7
19
O F R SR

10

A .
@ G} @ 0 10 20 30 40 50 60 70
[Nm]
L
G et o techmicalchanges
MR~ DIMENSIONS
Model A B C D E F G G1 G2 H | J K L M
MVSC-764 76 102 35 21 18.5 2.5 45 78 82 49 51 38 30 52 52
MVSC-1275 127 127 42 33 30 2.5 a7 91 96 52 635 635 508 96 96
MVSC-1276 127 153 42 33 30 2.5 73 117 122 78 765 635 508 96 96
MVSC-1278 127 210 42 33 30 225 130 167 172 135 105.5 63.5 50.8 96 96
MVSC-12710 127 255 42 33 30 2.5 175 219 226 180 127.5 635 50.8 96 96
MVSC-15010 150 255 57 37 34 25 143 207 212 148 127.5 75 100 96 96

AUTOGRIP 62



\lggn,—\‘—{: =AY >
A MVRH MC H5 T2 iR e i

o RIHABEZFHO—LIRE —REREABER=EDMREREY  BS
SEEMI -

o NEIN "HIKE, HE  AIHEREIDZFEBETHERN - BHREBREIRE
REETENE  RAEUBELTERHEOSS -

o SHMEKBREEETE (FCD60 - HEMR GGG60 ) - EEFAMAME 60
kgf/mm?2 ( % 80,000 psi ) ZIKEFE - REMA - BRAREVHIRE -

o EENEDEIB(EE HRCA5°  RAMEMAERASZS - REEBTREEE -
REHRRBRIE MIMREBEERE -

® One-piece casting of the vise bed and movable jaw offers outstanding rigidity
and stability, ideal for precision machining.

® The down-thrust spherical segment mechanism applies downward clamping
force to eliminate jaw lifting and workpiece tilting, enhancing positioning
accuracy and jaw longevity.

® The body is made of high-tensile ductile iron FCD60 (equivalent to GGG60),
offering durability and strength for heavy-duty machining.

® Slideways are flame-hardened to HRC 45 ° for excellent wear
resistance, maintaining long-term accuracy during extended use.

i

J2 J3
‘ ‘ F J
; = e -
=P
et
G
B
C
(RIS SRR
Subject to technical changes
582 ~F DIMENSIONS
ﬁﬂﬂgﬁﬁﬁg (T&K) HE S B
MODEL A B c D E E G | Jaw Opening(Max.) Clamping Force | Weight
J J1 J2 J3 (kgf) (kgs)
MVRH-100V 101 380 480 85 48 80 125 16 135 200 240 330 4000 27
MVRH-130V 131 445 545 95 55) 85 150 18 190 250 300 390 5000 40
MVRH-160V 161 535 635 105 58 100 165 18 250 330 370 480 5500 58
MVRH-160VL = 161 585 685 105 58 100 165 18 300 380 420 530 5500 62
MVRH-200V 201 610 710 110 63 108 190 18 300 370 430 550 6900 81

63 AUTOGRIP



\IEEZZ‘—\- hwa &
A MVRE MC T Rl

o RIHAKBEZEHO—MBIHE  —ERERTREEEEDNY  BARESRE
MERAM Y -

o NEI "HIKE, #E  BRHRHEIDFBHATHER  BHHREBRETER
FRELENENE  AURSMIBERILERERS -

o FRERBEEIE (FCD60 - HEMRGGGO0) - FHEERAMABEE
60 kgf/mm? ( 47 80,000 psi ) IBEIMEMHE - BRARSEEMIIRE -

o AREBIEAKBEIEEE HRC 45°  BAMESD - MRREFEE
BERRRBEENT - EFREISHEE -

® One-piece casting of the vise bed and movable jaw ensures excellent rigidity,
enhancing clamping stability and durability.

® The down-thrust spherical segment mechanism generates downward force
during clamping, preventing jaw lifting and workpiece tilting—improving
machining accuracy and jaw life.

® Constructed from high-tensile ductile iron (FCD60 / equivalent to GGG60) with
a tensile strength of 60 kgf/mm?2 (approx. 80,000 psi), suitable for demanding
machining conditions.

® Flame-hardened slideways (HRC 45° ) provide superior wear resistance,
maintaining consistent clamping performance even under prolonged use.

BN\ i | |

i

J2 J3
‘ ‘ F J
; i g
I=E]
[
G
B
C
(B R (SR HER
Subject to technical changes
SNEIR T DIMENSIONS
SHORRE (RX) w5 =
MODEL A B ® D E F @ | Jaw Opening(Max.) Clamping Force | Weight
J J1 J2 J3 (kgf) (kgs)
MVRE-100V 101 400 490 85 48 80 125 16 155 200 240 33 3000 27
MVRE-130V 131 645 555 95 55 85 150 18 230 250 300 390 3500 40
MVRE-160V 161 5565 645 105 58 100 165 18 300 330 370 480 4000 60
MVRE-160VL @ 161 615 705 105 58 100 165 18 350 380 420 530 4000 62
MVRE-200V 201 630 720 110 63 108 190 18 340 370 430 550 4500 81

AUTOGRIP 64



ERMEEE

& JJYEBEE (—)

SINGLE-SLIDE FACING HEAD

o ERAMBREIUENEANBHAIASY  ERRERT  ERREHETEN
AEFEES -

o RIEIIKBHEREBME -

o TEfIMEE:+0.03mm -

® Feed mechanism is Wedge Plunger, with steady feed speed. Simple adjustment
for feed speed and stroke.

® Matching surfaces of all parts hardened, grounding and lubricated directly. With
rigidity and durability.

®  Stopper accurancy: £0.03mm.

BT RN eE B GT FEECE F -
BREIETEIEEERSELNRIKBEREBHEERIMI -

Suitable for using with RS type cylinder.

For precision processes, Wedge Plunger type facing heads are
suitable for using with electro servo and ball screw mechanism.

i A

mEEmAIFERY -

B

BRI EE
WEDGE PLUNGER
FA-408 Max.26 7 24
Min.12 |a ‘ AI—'fg "ﬂ
lﬁh* L © T
J I I |
[l i 0 0 ¢ |
30 10, L. 14~MB6x10 %S {B i
| 1 £
- i i == Ml
SHEME E,Q g L 4210
NI 1|
Q ‘ﬁ‘__ $ - é ‘
L Q ‘
M12x1.75 | éj \
— T T ~ T |
E— |5 SR =
i ~—
BRI LR 58.5 A-M10x60 9H
Subject to technical changes 69 36
$: T #5348 SPECIFICATIONS
b BLNTE BEETTIE EeEg BIFEAAT B8 EREEE BAERET
—— Plunger stroke Slider stroke Max. speed Max. D.B. PULL Weight — find Max. pressure
ode atching cylinder
mm mm min(r.p.m.) kN(kgf) kg e MPa(kgficm?)
FA-408 14 8 1600 2.8 (280) 4.2 RS-6520N 1.0(10)
BRI (EE
WEDGE PLUNGER
FA-610 FA-812 L N oR Q1
1 B
inilh S pliiinN
< T oo
M|z \
|_
<R E= 4 e > | @] ©o
s[8| 8y —1) = . ]
\\ D
~J
’ G o
| i MNEE
i H f [
— D
REBRIBIELAETR
Subject to technical changes B Q
g #i1& SPECIFICATIONS
Bi5R BOTHE BEETE oA BRFERAAN £ HEREE G BAFERERT
— Plunger stroke Slider stroke Max. speed Max. D.B. PULL Weight - i Max. pressure
odel atching cylinder
mm mm min?(r.p.m.) kN(kgf) kg ey MPa(kgf/cm?)
FA-610 18 10 1200 2.8 (280) 14.5 RS-6520N 1.0(10)
FA-812 21 12 800 4.4 (450) 28.5 RS-6530N 1.6(16)
4hNEIR < DIMENSIONS
C F G G R
Model A B H7) D E (H7) | max. | min. H J K L M N P Q Q1 (H8) S T U
FA-610 156 110 140 107 5 20 | 66 | 48 |+5 20 M12x1.75  4-M10x90 @ 12 2-M10x45 104.8 45 28 8 | 4-M10x16 40 40
FA-812 198 130 | 170 127 5| 25 | 84 63 6 25 M16x2.0 4-M12x105 12 |2-M12x60 133.4|54 32 10 4-M10x16 50 50

65 AuTOGRIP




R JJVEBEE ()

SINGLE-SLIDE FACING HEAD

Y A7)

o ELAMBERLUEKRESHEBSARZ  EREERE 1
NHEEIFEES -
RBEEHIABE(ERBEME  BIMENAMIIEERT -
EMEE:£0.03mm - FEEEMUIER -
Feed mechanism is transmitted by Rack and Pinion with steady feed speed.
Simple adjustment for feed speed and stroke.

® Matching surfaces of all parts hardened, grounding and lubricated directly.
With rigidity and durability.

®  Stopper accurancy: +0.03mm , work with stoper screw.

BT BRI B ECE -
Suitable for using with RS type cylinder.

1% B {8 E) RACK AND PINION
FA-615 FA-830 FA-1570

HE1E Keyway

6E X4 %
& | DI
. N | {ﬁﬁ
St
K A PN (DY PNECE
<| o g_ E%%E_ = @ i ,>+_ T | %@@ @72
NIRS ] f o S S A
@ Y N
H |G T O
% @ | R Tﬁég) @
L/E ,
REBRSIERHORER)
Subject to technical changes
F:fif #5348 SPECIFICATIONS
BISR BOTiE B2 ReaEH BRERAAN 2 L RAFEREN
Plunger stroke Slider stroke Max. speed Max. D.B. PULL Weight Max. pressure
Model Matching cylinder
mm mm min*(r.p.m.) kN(kgf) kg MPa(kgf/cm?)
FA-615 15 15 1200 3.3 (340) 11.9 RS-6520N 1.2(12)
FA-830 30 30 800 5.0 (510) 23.9 RS-6530N 1.8(18)
FA-1570 70 70 500 18.2 (1855) 167 RS-1080N 2.6(26)
SRR~ DIMENSIONS
Model A B C (H7) D E F (H7) G max. G min. H J K
FA-615 150 107 110 102 5 25 43 28 35 20 M12x1.75
FA-830 198 126 140 121 6 30 55 25 45 25 M16x2
FA-1570 400 200 300 192 6 60 110 40 75 50 M30x3.5
Model L M N P Q R S| T U V W
FA-615 3-M10x40 12 8-M8x16 82.6 50 32 32 68 +7.5 56
FA-830 6-M10x55 15 12-M10x20 120 60 36 40 80 120 +15 66
FA-1570 6-M20x90 15 8-M16x20 235 120 80 130 260 +17.5 -

AUTOGRIP 66



’ FD o R &R 7 (D

DOUBLE-SLIDE FACING HEAD

o ERWBELHMWEHAASZ  ERBRERTE  EREEHETRENEREIE
BRS -
R EOLBECRBEENE - BIMENAMEERY -
EMEE : £0.03mm - FREEAER -
Feed mechanism is transmitted by Crank with steady feed speed. Simple
adjustment for feed speed and stroke.

® Matching surfaces of all parts hardened, grounding and lubricated directly. With
rigidity and durability.

®  Stopper accurancy: £0.03mm , work with stoper screw.

BT EVEE BRI B -
Suitable for using with RS type cylinder.

| #4788 CRANK TYPE
FD-632 FD-840 FD-1060

H 4x2~T

o
1
-E8-
Ho Ll
K } éj
A i 4 .
<| O W — | L ©
s 88 t—1 {; 8 £
L] ‘ s
s Ja)
I -ee=—-
= fpiig,i, fffff
! r
6~L
5 W D
B N
REBBSIER R
Subject to technical changes
$: T #5348 SPECIFICATIONS
RIS B2 BETEER EaOEH BRFERAAT 2 R E G BAERES
Plunger stroke Slider stroke(Dia.) Max. speed Max. D.B. PULL Weight Max. pressure
Model Matching cylinder
mm mm min*(r.p.m.) kN(kgf) kg MPa(kgf/cm?)
FD-632 20 32 3200 16.9 (1720) 13.6 RS-1030N 2.4(24)
FD-840 25 40 2500 20.6 (2100) 30.0 RS-1030N 3.0(30)
FD-1060 35 60 1800 20.6 (2100) 41.5 RS-1040N 3.0(30)
SMUR <) DIMENSIONS
Model A B C(H7) D E F G max. G Min. H J K
FD-632 168 93 140 104.8 32 76 31 11 2 36 M16x2.0
FD-840 215 109 170 133.4 38 96.5 325 7.5 2 36 M20x2.5
FD-1060 254 123 220 171.4 38 110.5 325 -2.5 4 36 M20x2.5
Model L M N P Q R S T u v W(H8) Y
FD-632 6~M10x75 188 70 40 25 10 32 M8x15 10 32 6 4
FD-840 6~M12x85 238 92 60 42 12 45 M10x15 12 45 10 6
FD-1060 6~M16x125 286 90 65 46 15 50 M10x15 12 50 10 6

67 AUTOGRIP



AUTOGRIP 68



CP EEZ =] ~ MRS E

SYNCHRONOUS CLAMP

HRE —MELRE - TITREE -

BEEILEERIBERME  WEREE -

SHREEE - BIEMREE -

CRANK type 2-jaw synchronous clamp with long jaw stroke.

Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

| W1 |
 ———
S ‘ ¢ | @ ‘ = 1 |
=091 Leo o Eag
ES O | © EY 2 t
SARIAS = R
8~L ‘ §] | 2~@8(H7)
Vi Master hole E#7|,
U1 B1
G . D
N Adjusting hole
‘ R M| NEEEEIEMA E
Q PP 1
e, [P H]
i R =
T O ‘ ‘J‘ucate us‘ml\et;“\ug;ﬂ v T g i
3 et BNl
2| &+ i O
C o J T
\ | /'~

‘ A ‘ -

Gl
7
%

T
It

J2
ﬁ\/
B
10

€ 2~RC1/. =

i

iﬁﬁjﬂ‘fgﬁ:ﬁﬂhanges ‘ i Pressure port #55H 1L ‘ I
g #i1& SPECIFICATIONS
gt SEZEETE Eff. Piton area MTRER) ERAFEFFRE RARSET) RAEREN =
o #{ Extend HIffl Retract Jaw stroke(Dia.) Clamping capacity Max. clamping force Max. pressure Weight
cm? cm? mm mm kN (kgf) MPa(kgf/cm?) kg
CP-20 28.27 25.13 20 150 14.4(1465) 3.5(35) 9.5
CP-30A 28.27 25.13 30 180 14.4(1465) 3.5(35) 1
CP-30 28.27 25.13 30 210 14.4(1465) 3.5(35) 12
CP-40 28.27 25.13 40 200 14.4(1465) 3.5(35) 12
CP-50 38.48 33.57 50 215 17.7(1812) 3.5(35) 18.5
CP-70 50.26 45.35 70 235 23.9(2434) 3.5(35) 30
4R <) DIMENSIONS
Model A B B1 C D E(h6) F G max. | Gmin H H1 J J1 J2 K L M
CP-20 215 88 96 53 40 18 4 249 229 75 13 94 76 83.5 M10x1.5 M10 12
CP-30A 250 88 96 58] 40 18 4 295 265 75 13 94 76 96 M10x1.5 M10 14
CP-30 280 88 96 53 40 22 4 327 297 75 13 94 76 96 M12x1.75 = M10 14
CP-40 270 88 96 53 40 22 4 331 291 75 13 94 76 110 M12x1.75 = M10 14
CP-50 300 | 110 115 65 50 28 5 369 319 90 15 105 105 120 M12x1.75 = M10 16
CP-70 346 @ 120 126 89 55) 32 5 430 360 114 15 115 115 146 M14x2 M12 16
Model N = Q R S} T U U1 u2 \ w W1 W2 X Y z
CP-20 M6x1 18 20 66 24 22 102 190 60 156 32 110 65 150 22 4
CP-30A M6x1 20 24 96 24 22 102 190 60 156 20 120 65 156 22 6
CP-30 M6x1 20 24 98 24 22 102 190 60 156 23 110 65 156 22 6
CP-40 M6x1 20 24 98 24 22 102 190 60 156 25 110 65 150 22 10.5
CP-50 M8x1.25 21 28 102 30 32 105 230 85 195 29 140 80 180 30 10
CP-70 M8x1.25 23 28 112 30 52 120 275 95 240 42 155 90 210 34 23.5

69 auToGRIP



WEDGE-DRIVEN SYNCHRONOUS CLAMP

4 cw BRI ES A s

MEAEBRESKE - NITRE  ENTEED - HESIUEH -

BYEOLIEERBEENE - WEEEE

SRIFHEE - PEURE -

This wedge-driven synchronous clamp features a long jaw stroke, ensuring

continuous high clamping force throughout the machining process.

® The sliding surfaces are hardened and precision ground, with direct
lubrication to enhance performance.

® High clamping accuracy and excellent dust protection.

g;
]
O o
b4
©

il
U2
W2
U3

B

ég
Y@
o &
o
WQ} o

8~L U 2~@8(H7)
Master hole E#7,

\Y
Ul
G Nﬁdjusting hole D
R M NFEERA E
Q. _P_P_ —
%‘» ‘ ‘ ‘ 2x3~K mymn
£= — & =]
T o ] = EJ:
<€ [ \77\ \77\ 77/ // // / \\ \\ \\ \77 77\ \77\ ] %» E' 1 I /j/:
Y ¥ Y/ /NN Y o) X
* i 7\ AN 2 6%
A NV AN 2 —
=R SRR O L s
O O 1 I I i s
s S
1
## [} ‘ [ ‘ ]
J 2~RC1/4”
Pressure port #A5HL
REBRIBIE LT
Subject to technical changes
K 1li#1& SPECIFICATIONS
il JEZHE Eff. Piston area MITRRER) BARFFEES BAREEN BAERES 58
#8{8] Extend HIff] Retract Jaw stroke(Dia.) Clamping capacity Max. clamping force Max. pressure Weight
Model
cm? cm? mm mm kN (kgf) MPa(kgf/cm?) kg
CW-30 31.10 24.10 30 150 34.3(3500) 7.0(70) 32
4MLR <) DIMENSIONS
Model A B c D E(h6) F Gmax Gmin H H1 J J2 K L M ‘
CW-30 260 145 86 50 22 4 304 274 102 10 100 100  M12x1.75  M10 10
Model N [? Q R 5] U U1 U2 U3 Vv W w2
CW-30 M6x1 28 20 86 25 80 200 120 73 140 30 30

autocrip 70



SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

’ TK BAEEPZEEMET (—) BEsERED

R RAGIGEER R - S RESWRIMN2Z/3 -

PRI L B SRS R R TR RS -

LR HEREE 2 -

Super short form, light weight large Through-Hole, just as 2/3 of typical model
length.

Built-in safety check valves and pressure relief valves.

® Can screw it from the rear end of the cylinder when mounting.

IR AR M TE A S A1 AE - (BREMm)

Linear sensor can be attached.(optional)

= EHF|ERFHE Patent numbers :
&% : PATNO.M491534(Taiwan)
KPBE : PAT.NO.ZL201420584274.5(China)

W1 3~Mounting Hole 6~X2
- —
o o2 ol x o o
Jis}
OI 8 § 8 § 8 8 § ®
2x2~Q3
Pressure Port
e 4/
4~Y2 \ L
B 7 Z |l
i \ T
RCL || g O c1
Drain Port #37, = | =5
233 AllB 2 K
T
REBIRBIELHET)
Subject to technical changes
z T3R8 SPECIFICATIONS
;@ itk JEZHTEES. piston area 112 REEEH e EREA | = mRRE
BR
;E # {8 (Extend) HiI{fl (Retract) Piston stroke Max. speed Max. pressure | Moment of inertia =~ Weight Total oil leakage
Model
i cm? cm? mm min*(r.p.m.) MPa(kgf/lcm?) kg:m? kg lit. / min.
il TK-A528 73.0 69.7 12 8000 4.5 (45) 0.012 6.2 3.0
TK-A533 73.0 69.7 12 8000 4.5 (45) 0.012 6.0 3.0
TK-C643 99.1 88.0 15 7000 4.5 (45) 0.018 7.5 3.0
TK-A646 105.0 93.9 15 7000 4.5 (45) 0.018 7.3 3.0
TK-B646 105.0 93.9 15 7000 4.5 (45) 0.018 8.6 3.0
TK-C646 99.1 88.0 15 7000 4.5 (45) 0.018 7.5 3.0
TK-B846 135.3 125.0 20 6300 4.5 (45) 0.032 12.4 3.9
TK-A853 135.3 125.0 20 6300 4.5 (45) 0.032 11.8 3.9
TK-B853 135.3 125.0 20 6300 4.5(45) 0.032 1.7 3.9
TK-A1068 170.1 155.3 25 5500 4.5 (45) 0.065 19.2 4.2
TK-A1075 170.1 155.3 25 5500 4.5(45) 0.065 18.8 4.2
TK-A1078 170.1 155.3 25 5500 4.5 (45) 0.065 17.4 4.2

b

*EKERTERIEEFSHEMWHEE - *Coolant Collector and Confirmation Device Please See Accessories pages.

\

71 AUTOGRIP




SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

’ TK B A ch ZE J0 BB BRG] (— ) BEEEEEn

ShEYR<F DIMENSIONS

A E Gl G2
Model RE B © D F H J K L L1 L2 M1 M2 M3
| DI h7 max.  min. | max. min.
TK-A528 105|141 125 125 110 | 45 12 0 38 26 | 49 77.5 123 6~M8x20 M8x55 14 M38x1.5 25 13

TK-A533 105 141 125 125 110 | 45 12 O | 38 | 26 49 | 77.5 123 6~M10x20 M8x55 14 | M38x1.5 25 13

TK-C643 128 156 | 140 140 120 65 15 0 44 29 56 85 125 12~M10x20 M8x60 12 M50x2 25 13

TK-AG646 128 | 162 147 | 147 130 65 15 O 44 29 | 56 85 | 125 12~M10x20 M8x60 12 M55x2 25 13

TK-B646 128 162 130 147 |100 65 15 | O 44 29 66 95 135 12~M10x20 M8x70 12 M55x2 30 15

TK-C646 125 156 140 140 120 65 15 O 44 29 56 85 125 12~M10x20 M8x60 12 M55x2 25 13

TK-B846 145 185 170 165130 70 20 | O 48 28 66 95 135 12~M10x20 M8x70 12 M55x2 30 15

TK-A853 145185 170|165 140 70 20 O 48 28 | 66 95 | 135 12~M10x20 M8x70 12 M60x2 30 15

TK-B853 145 185 170 165|130 70 20 | O 48 28 66 95 135 12~M10x20 M8x70 12 M60x2 30 15

TK-A1068 170 212 190 190 160 95 25 0 50 25 74 108 158 12~M10x20 M10x80 | 16 M75x2 85 15

TK-A1075 | 170 212 190 190 160 95 25 O 50 25 | 74 108 158  12~M10x20 M10x80 | 16 M85x2 35 15

TK-A1078 | 170 212 190 190 160 95 25 O 50 25 74 108 158 12~M10x20 M10x80 | 16 M87x2 35 | 15

o1 02 R s
Model N1 N2 N3 P Q1 Q2 Q3 T u VoWl w2 X1 X2 Y1 Y2 z
H8 | H8 g7 | H7

TK-A528 M39x1.5/ 25 8 35 28 79 85 30 | RC14 37 62 70 98 6 62 110 49 | M6x6 & 83 | M5x6 | 5

TK-A533 M39x15 25 8 35 33 79 85|30 RC14 |37 62 70 98 6 62 | 110 49 M6x6 83 | M5x6 | 5

TK-C643 M52x15 29 9 45 43 87 85|36 RC38 50 | 76 |8 116 95 74 | 120 64 M6x10 98 M5x6 5

TK-A646 M52x1.5 29 | 9 50 46 87 85| 36 RC3/8 50 76 8 116 95 74 | 120 64 M6x10 98 H M5x6 @ 5

TK-B646 M52x1.5/ 29 | 9 50 46 97 85 36 | RC3/8 50 | 76 8 116 95| 74 | 120 64 M6x10| 98 | M5x6 | 5

TK-C646 M52x15 29 9 50 46 87 85| 36 RC3/8 50 | 76 | 8 116 95 74 | 120 64 M6x10 98 M5x6 5

TK-B846  M58x15 30 8 50 46 97 85| 36 RC3/8 56 | 8 |96 128 115 79 | 130 73 M6x12 110 M6x6 5

TK-A853 M58x15 30 8 55 53 97 85| 36 RC38 56 | 8 |96 128 115 79 | 130 73 M6x12 110 M6x6 5

TK-B853 M58x1.5/ 30 | 8 ' 55 53 97 85 36 | RC3/8 56 | 8 | 96 128 115 79 | 130 73 M6x12| 110 | M6x6 | 5

TK-A1068 @M84x2 |34 9 70 68 110 12 40 RC1/2 81 | 108 |121 164 10 | 98 | 160 98 'M6x12 155  M6x8 5

TK-A1075 M84x2 34 9 80 75 110 12 | 40 RC1/2 81 | 108 |121 164 10 98 | 160 98 M6x12 155 M6x8 5

TK-A1078 = M84x2 |34 9 82 78 110 12 40 RC1/2 81 108 |121 164 10 | 98 | 160 98 'M6x12 155  M6x8 5

AUTOGRIP 72



’TK FBAE B ch ZE 5 R AT () BEsERED

SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

B - AAEIREREL - 2 RESEREN2/3 -

PRI LB S AE R R TR ER RS -

LRI O HERHE 2 -

Super short form, light weight large Through-Hole, just as 2/3
of typical model length.

Built-in safety check valves and pressure relief valves.

® Can screw it from the rear end of the cylinder when mounting.

aIfft MNARE AL R RS - (EREm )

Linear sensor can be attached.(optional)

B ERERZFEI Patent numbers:
&% : PATNO.M491534(Taiwan)
KEE : PATNO.ZL201420584274.5(China)

. Q1 P L2
W1 3~Mounting Hole 6~X2 25 i i 6~L1
N1 AH* i -
= _
— —
o °3| - mocNiJ__.Nz“ét;:, wl w g o o
o g8l 8§ § § O = 8 8 8§ 8§ 8
Ca
2x2~Q3 M1
Pressure Port
o, 4/
_4-Y2 |, | L
Z
\Y
RC1” @ o H Gl
Drain Port J#fFL | ;
233 Al D" K
REBIRE LR a
Subject to technical changes
$ i #31% SPECIFICATIONS
itk SEZEHTEES. piston area 772 SO EE EaEREN | = HERE
Vodel {8 (Extend) HI{8l(Retract) Piston stroke Max. speed Max. pressure ~ Moment of inertia Weight Total oil leakage
oce cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg:m? kg lit. / min.
TK-A1287 234.0 217.5 30 3800 4.0 (40) 0.092 24.8 4.5
TK-A1291 234.0 217.5 30 3800 4.0 (40) 0.092 24.8 4.5
TK-A1511 336.4 315.2 30 3000 3.5(35) 0.38 57.9 7.0
fgé TK-A1512 336.4 315.2 30 3000 3.5(35) 0.38 53.8 7.0
;g TK-A1512-35 336.4 315.2 35 3000 3.5(35) 0.38 53.8 7.0
m TK-2114 373.2 336.1 35 2500 3.0 (30) 0.54 58.2 8.0
& SN <T DIMENSIONS
ﬁI A E Gl G2
Model NEEY B © D F . . H J K L L1 L2 M1 M2 | M3 N1
h7 max. min. max. min.

1.D.

TK-A1287 200 (245|215 225 180 110 30| O 59 29 86 | 126 184 12~M12x24 M10x90 | 14.5 M95x2 | 35 | 15 M99x2
TK-A1291 200 245 215 225 180 110 30 O 59 29 86 126 | 184 12~M12x24 M10x90 | 14.5 M100x2 35 | 15  M99x2
TK-A1511 250 [ 300 | 275 275 230140 30 | O 58 28 102 156 226 12~M16x36 M12x110 | 21 M120x2| 45 | 15 M129x2
TK-A1512 250 300 275 275 230 140 30 O 58 28 102 156 226 12~M16x36 M12x110 | 21 M130x2 45 15 M129x2
TK-A1512-35 250 300 275 275 230 140 35 0 | 63 |28 102 161 231 12~M16x36 M12x115 21 'M130x2 45 | 15  M129x2
TK-2114 265 320 295 295 240 165 35 0 | 60 | 25 115 173.5 247.5 12~M16x32 M12x120 17.5 M155x2 45 20 | M2149x2
Model N2 ong o OF o ©2 P Q1 Q2 Q3 R S T u v owi w2 | x1 X2 Y1 Y2 z
H8  H8 g7 | H7
TK-A1287 38 9 90 | 87 | 1275 15 45 RC1/2 96 120 | 138 180 7 | 110 185 108  M6x10 165 M6x10 5
TK-A1291 38 9 95 91 127.5 | 15 45 | RC1/2 96 120 138 180 7 | 110 | 185 | 108  M6x10 165 M6x10 5
TK-A1511 38 9 115 | 110 153.75 17 | 50 RC1/2 126 150 170 | 227 | 7 | 134 | 210 @ 138  M6x10 § 210 M6x9 6
TK-A1512 38 9 | 125 120 153.75 17 50  RC1/2 126 A 150 | 170 | 227 7 134 210 138 M6x10 210 M6x9 6
TK-A1512-35 38 | 9 | 125 120 158.75 | 17 50 RC1/2 126 | 150 | 170 | 227 7 134 210 | 138 | M6x10 | 210 M6x9 6
TK-2114 38 9 | 145 140 170 17 50 RC1/2 146 170 190 | 250 | 7 | 145 | 210 160 H M6x10 230 = M6x10 6

*EKBRITERREEZRLSHSMHEEE - “Coolant Collector and Confirmation Device Please See Accessories pages.
73 AUTOGRIP



B AL Ch 7o EH T (2 T
SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

A K

SFARRE - AT R AL -
PRI L R B SRS K JER )0 R -

New design, short form, light weight large through-hole.
Built-in safety check valves and pressure relief valves.

I AR E AL R AR - (EFEm)

Linear sensor can be attached.(optional)

= EHFERFIR Patent numbers :
& : PATNO.M491534(Taiwan)
AP : PAT.NO.ZL201420584274.5(China)

wi exe 2> ™ P 6-L
N1 I
L — -
} —H— )( ! —
j} \ 9 ||N2 )
R \ - I
8 = * ﬂ—\,,oc‘s,_w,rg @} s wiw|o|m
1] | | 2/e|alalg 50 & 2 w3 Me® | Q| 8|8
2x2~Q3
Pressure Port #55H7FL ® == X = ULJ
Q AMA1
=
4
4~Y2 7
L Vv H G1
RC1” i X
Drain Port & HFL N G2 ‘ J
(TK-2820:M40x1.5) 233 (TK-2820:039) | |.—==—"= Tk
Dr
T B —
IREBRABIE LR
Subject to technical changes
R iili 7515 SPECIFICATIONS
itk SEZEEE Eff. piston area 112 EeEy EaERES I 58 BRRE
{8 (Extend) i) (Retract) Piston stroke Max. speed Max. pressure Moment of inertia | Weight Total oil leakage Zz
Model N
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg:m? kg lit. / min. ;;.i
TK-2416 4184 375.4 35 2000 3.0 (30) 1.12 78.0 9.0 ;@
E
TK-2416L 4184 375.4 51 2000 3.0 (30) 1.31 79.2 9.0 ;}L"
TK-2820 526.2 472.6 51 1600 3.0 (30) 2.4 134.0 10.0
9NEIR~F DIMENSIONS
A E Gl G2
Model g B © F N . H J K L M1 M2 | M3 N1 N2
A7I.D. h7 max. | min. | max. = min.
TK-2416 290 340 300 260 190 35 0 60 25 | 129 | 185.5 275 M16x32 | M180x3 | 45 | 20 M174x2 38
TK-2416L 290 340 300 260 190 | 51 0 76 25 | 145 | 201.5 291 M16x32 = M180x3 45 20 M174x2 52
TK-2820 340 395 360 | 320 235 51 0 76 25 | 152 | 2125 316 M20x40 | M220x3 | 45 20 M218x2 52
o1 02 R S
Model P Q1 Q2 Q3 T U \% w1 W2 X1 X2 Y1 Y2 z
H8 | Hs g7 | H7
TK-2416 170 @ 166 H 186.5 20 50 RC1/2 | 171 | 202 220 292 7 167 | 250 188 M6x11 260 M6x12 5
TK-2416L 170 | 166 | 202.5 20 50 RC1/2 | 171 | 202 | 220 | 292 | 7 167 | 250 188 M6x11 260 = M6x12 6
TK-2820 210 | 205 216 21 50 RC1/2 215 | 262 285 360 | 7 | 202.5 300 240 M6x12 = 320 @ M6x12 6

*EKBRITERIDEEZRLSHSMHEEE - “Coolant Collector and Confirmation Device Please See Accessories pages.

AUTOGRIP 74



’TS AL B A B o 2230 88 e R A e

SHORT TYPE ROTARY HYDRAULIC CYLINDER WITH BIG-BORE THRU-HOLE AND SAFETY DEVICE

EHIREERET - AL LB S ER G -
BAASNEEACREMIN 2 EBALNERIERX -
RS | B SR AR R R TR R -

ZERFERERHEEZ

Bigger bore through-hole design.Super short form, light weighted.
Built-in safety check valves and pressure relief valves.
Front/Rear end mounting.

O3 fE @40 5 @60 MNABEKERDE -

oI INAR M BN R RS - (EEm )

Diameter of coolant collector’ s drain port is optional.
Default : @33 ; optional : @40, J60.

Linear sensor can be attached.(optional)

=z O =n0,

B ERERZFI Patent numbers:
&% : PATNO.M491534(Taiwan) / APE : PAT.NO.ZL201420584274.5(China)

w1
2~ BRI AA
Mounting Hole
5 _
Y ) ~
F i L
o o oo
Sl=|8l%
\ i SNSRI
2x2~Q3 A —
“aomTL =Z I
Pressure Port I
=
LKL gg 2
Drain Port ~
‘(333
| |
REBRBIELAER o
Subject to technical changes Al'lB ﬁr
$ 1T #5348 SPECIFICATIONS
s Sk JEZEER Eff. piston area 1772 EeEH EaERES | 58 RS
i
SH o # {8 (Extend) HiI{8 (Retract) Piston stroke Max. speed Max. pressure | Moment of inertia Weight Total oil leakage
ode
J& cm? cm? mm min(r.p.m.) MPa(kgf/cm?) kg'm? kg lit. / min.
5% TS-539 724 67.1 15 8000 4.5(45) 0.012 6.9 3.0
;}Lr TS-866 168.0 155.5 25) 5600 4.5(45) 0.056 16.3 4.0
TS-1081 189.2 174.3 25 4800 4.5(45) 0.085 21.2 4.3
TS-1210 231.7 222.0 30 3500 3.5(35) 0.193 35.6 6.0
SR ST DIMENSIONS
A E Gl G2
Model AN B B1 © D F . . H J K L L1 L2 M1 M2 | M3
ID. h7 max. | min. | max. | min.
TS-539 107 | 143 | 141 125 125 110| 52 @ 15 0 425 275 57 91 | 124 6~M10x20 M8x60 | 12 | M45x1.5 25 | 12
TS-866 165 211 207 190 190 168 85 25 0 55 30 (72,5 107 149 | 12~M10x20 | M10x80 17.5  M75x2 @ 35 15
TS-1081 180 | 226 | 222 205 205 168|100 25 0 58 33 74 | 115 166 | 12~M10x20 'M10x80 16 M90x2 | 35 | 15
TS-1210 210 | 263 | 260 | 240 240 200 125| 30 0 64 34 | 93.5/136.5193.5 12~M10x20 M12x100 20 | M115x2 35 15
o1 02 R S|
Model N1 N2 | N3 P Q1 Q2 Q3 T U vV wl w2 X1 X2 Y1 Y2 z

(H8) | (H8) 97) | (H7)

TS-539 M44x1.5 26 42 39 85| 85 30 RC14| 42 69 | 72 103 |10 62.5 100 54  M6x10 90 | M5x12

TS-1081 M89X2.0 38 85 81 109 15 45 | RC1/2 86 113 1123 175 16 103 160 | 103 M6x12 | 160 | M6X10

8

TS-866 M74x1.5 37 | 8 72 66.5 105 12 45 RC1/2 72 100 111 154 12 95 140 88 | M6x12 | 140 M6x10
9
9

o o o o

TS-1210 | M118x2.0 47 110 | 106 131 16 46 |RC1/2 115 145 151 210 | 16 103 160 133 | M6x12 | 195 M6x11

*EKBRITERIEERLSHSMHEEE - “Coolant Collector and Confirmation Device. Please See Accessories pages.
75 AuTOGRIP



[
o
e
i
il
ftH

Cp 22 30 §5H [BR ]

ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

Y AL

=

HBEE K8 KAKLEIREHRET -

WL |7 B SHEE - oML BRI ESACE MBS - BIREBNAR
B - MEERHAERBNRIFIEY -

Super high speed, light weight large Through-Hole.

Built-in check valve which prevents the internal pressure from sudden
declining so that the workpiece will not fly out and cause a serious accident.

CIFfINAR M TE AL S AR TAE - (BREMm)

Linear sensor can be attached.(optional)

|
|
1
-
ol ww oo Q
Q M3 M2 [SIESIESIRSIERN
1
W M1
L
i w 51
\ \ \ \
(TH-428:RC3/4") / — 8 G2 — H Gl
RC1" Drain Port E% Eg
SEHA L J
@33 | (TH-428:226.5) ‘ K
7o
i
RBIBIERLIHER SH
Subject to technical changes /!
g #i1& SPECIFICATIONS @
RIS JEZEHETE Eff. piston area 1772 EeEY EaEREN | = BRRE [
848 (Extend) I8 (Retract) Piston stroke Max. speed Max. pressure Moment of inertia = Weight Total oil leakage il
Model
cm? cm? mm min(r.p.m.) MPa(kgf/cm?) kg-m? kg lit. / min.
TH-428 53.2 50.5 10 8000 4.0(40) 0.008 5.8 3.0
TH-A536 69.8 67.5 15 8000 4.0(40) 0.05 8.3 3.0
SN~ DIMENSIONS
A
Model NE B € D E | g | G |66 G, K L M1 M2 M3
ID. (h7) max. min. max. min.
TH-428 90 130 120 | 100 80 40 10 0 35 25 45 [ 127.5 155 6-M8x15 M33x1.5 25 12
TH-A536 105 | 150 & 135 | 115 100 | 48 15 0 40 25 40 118 166 | 6-M10x20 M42x1.5 25) 15
01 02 R
Model N1 N2 (H8) (H8) P Q1 Q2 Q3 @7 S T U Y w1 W2 X1 X2
TH-428 M34x1.5 | 26 30 28 1015 11 24 RC1/4 32 45 65 86 4 72 105 76 M4ax7
TH-A536 M44x1.5 | 28 38 36 1115 10 24 RC1/4 42 55) 73 98 4 80 110 83 M5x10

*EKERITEBREEZESHEMAEE - “Coolant Collector and Confirmation Device Please See Accessories pages.

AUTOGRIP 76



’ TR B 45 B oh 20 3@ §8 5 [BR T BEsENEn

SMALL TYPE ROTARY HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

S REER  ESKI -

NESAF | FREBERE 22 REEEE -

RéamA BB - AREKN - HOHIRE -

BHLEREARNHETEME - ZHEHEEE -

O ERMR I 0BT 8 -

This is a compact, short form, light weight through-hole rotary cylinder.
With patented build-in safety check valves and pressure relief valves.
Large feed port and drain port, large input and keep drain smoothly.

Can be screwed from the front end or rear end of cylinder when mounting.
For use with vertical or horizontal spindles.

aIft MNARMEE AL R AR AT - (ERBm )

Linear sensor can be attached.(optional)

=z O =n0,

B ERERZFEI Patent numbers:
&% : PATNO.M491534(Taiwan)
AKPBE : PAT.NO.ZL201420584274.5(China)

Q1 P , L2 6~L1
5 %50 6~V2 W.H - [ |
iy;‘j I }
N1 ]
g N
] - 5 N2 N3 - i
o %\ 3| o gINEFINS] [} Q8
* - 4 L= o
2x2~Q3 o - ) I
Pressure Port (11 > I
L d: ih |
—
v\ u 4~W2 L=
| 4~VVe,
b | B iy
Drain Port
L J z1
G2 K Gl
I
REBRBIE LA ETR
Subject to technical changes AllB Jr
F: T #5348 SPECIFICATIONS
Eith JEZEHETE Eff. piston area 712 EedEgy BaEREN I s BERE
w_— 848 (Extend) i (Retract) Piston stroke Max. speed Max. pressure Moment of inertia |~ Weight Total oil leakage
ode
cm? cm? mm min(r.p.m.) MPa(kgf/cm?) kg-m? kg lit. / min.
. TR-539 724 67.1 15 8000 4.0(40) 0.010 6.8 3.0
;ﬁ TR-646 105.0 93.9 15 7000 4.0(40) 0.015 9.5 3.0
53 TR-853 135.3 125 20 6300 4.0(40) 0.032 11.5 3.9
;g TR-1075 170 155 25 4500 4.0(40) 0.065 18 4.2
ﬁ_Ir TR-1291 234 217.5 30 3500 4.0(40) 0.092 295 45
SMUR <) DIMENSIONS
A E Gl G2
Model lﬁf B © D h7 F max. | min. | max. | min. H J K L L1 L2 M1 M2 M3
TR-539 107 1 143 125 125 110 52 15 0 34 19 4 97 | 133  6-M10x20 M8x60 12 | M45x1.5 25 12
TR-646 128 165|147 | 147 130 65 15 0 34 19 35 97 | 135 | 12-M10x20 M8x60 11.5 | M55x2 25 13
TR-853 145 185|165|170 130| 70 20 O | 47 27 | 45 1185 160 12~M10X20 M8x75 12 M60x2 30 15
TR-1075 170 212 190 190 160 95 | 25 O 52 | 27 | 45 1295 181  12~M10x20 = M10x85 16 M85x2 35 15
TR-1291 200 | 248 | 225 215 180 110 30 = O K 59 29 5 146 240.5 12~M12x24 | M10x95 16 = M100x2 @ 35 15
o1 02 R
Model N1 N2 N3 P Q1 Q2 Q3 S T Ul u2 V1 V2 w1 w2 A Z1
H8 | H8 g7

TR-539 M44x1.5 25 42 | 39 925 65 26 [RC1/4 42 40 103 525 55| 53 M5x8 | 90 | M5x9 RC 1/2

TR-646 M52x1.5 25 | 50 46 | 95 5 32 RC3/8| 50 | 50 116 59 62 61.5 M5x9 98 | M5x9 RC 1/2

TR-853 M58x1.5 30 | 55 53 | 114 8 34 RC3/8| 56 | 50 128 65 67 | 70 M5x10 110 | M6x11 RC 1/2

TR-1075 M84x2 33 80 | 75 1235 12 40 RC1/2 81 50 164 83 86 | 95 M5x10| 155 M6x11 RC 3/4

© | © 0 | ©
o o o o

TR-1291 M99x2 38 95 91 139 14 45 [ RC1/2 96 50 180 915 93 110.5 M6x12 165 M6x12 RC3/4

*EKERITERIDEERLSHSMHEEE - “Coolant Collector and Confirmation Device Please See Accessories pages.
77 AUTOGRIP



il
[
i
il
ft

RA b & 700 42 78 [BR ]

ROTATING AIR CYLINDER

LEEREAIRERATRESSHENAN - E8K -
LEESSRRET  EFRRESAERERERN)  ROREBESKE
® The rotary valve and cylinder body, all made of special light alloy, are light-
weight.
®  Through unique design, the rotary valve can considerably reduce the waste
in compressing air and efficiently increase its utillization.

FAR  FRAMENRE -
When used, a little oil mist should be contained.

L
A: 1.D.AFE
|/
{:":77'
I 5 _
Al ]
AT St w ol o] m
N ——-u Q1 Q, 8 9 8|
& K
/ L |
[ T I
‘15 36.5
! N
§[Ien§ner 2~RC1/4”
JHE R Pressure Port
wR
95 H G
J
REBIIEIE R HOHEF
Subject to technical changes
#1li#1& SPECIFICATIONS
itk SEZEMEME Eff. piston area 112 EeEEg BefEREN I 52 ZERAERE
{8l (Extend) HIfil(Retract) Piston stroke Max. speed Max. pressure | Moment of inertia = Weight | Air Leakage( 6kgficm?) e
Model =
cm? cm? mm min?(r.p.m.) MPa(kgf/cm?) kg-m? kg cc/sec i
53
RA-100 77.0 74.4 15 6000 0.8(8) 0.03 3.9 400 B
B
RA-130 131.2 124.7 15 5000 0.8(8) 0.05 52 400 z‘I’
RA-170 2254 219.0 20 5000 0.8(8) 0.18 8.5 400
RA-220 378.6 369.3 25 4000 0.8(8) 0.36 14.5 400
RA-270 571.0 562.9 30 3000 0.8(8) 0.75 18.4 400
SMEIR < DIMENSIONS
E G G
Model A B @ D ) F TEL ey H J K L M (H8) N
RA-100 100 130 - 80 60 22 50 35 65 160 M12x1.75 6-M8x16 13 25
RA-130 130 160 120 90 65 25 45 30 70 165 M16x2.0 6-M8x16 17 30
RA-170 170 200 140 100 80 25 45 25 85 180 M16x2.0 6-M10x18 17 30
RA-220 220 255 170 130 110 30 50 25 91 186 M20x2.5 6-M12x20 21 35!
RA-270 270 305 190 130 110 35 55 25 105 200 M24x3.0 6-M12x20 25 40

AUTOGRIP 78



il
%
s
il

Ch '8 30 5 M B ]

ROTATING HYDRAULIC CYLINDER

A RH

ft

LDEREREIRERAERESSREMNMN  E85K -
EEBAARKRET  EEABNEEERINEB R LA - MAEm S &
L IEREM -

® The rotary valve and cylinder body, all made of special light alloy, light-
weight.

® Through unique design, the rotary valve enables the inside bearing to get
sufficient lubricating and cooling and endure high-speed rotary for longer
service life.

R REB Y EEELREE  DBRESEE -
The drain port should be independently connected to oil tank to avoid back

pressure.
L
L A B L br . alo
5
RC1/4”
Drain Port S#H7L
2-P
13(RH-200:14)  Pressure Port #5387,
6
102 H G
J
et et changes
g #i1& SPECIFICATIONS
RIS JEZHE Eff. piston area 712 o aE# EaERESN I 88
e # {8 (Extend) HiI{8) (Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
/53 Model cm? cm? mm min(r.p.m.) MPa(kgf/cm?) kg:m? kg
;E RH-65 31.0 27.9 15 6000 3.5(35) 0.01 29
B RH-80 477 4238 15 6000 3.5(35) 0.01 3.4
i RH-100 75.4 70.5 20 5500 3.5(35) 0.04 4.9
RH-125 119.6 112.5 25 5500 3.5(35) 0.08 6.8
RH-200 310.0 286.3 35 4000 4.0(40) 0.38 20.4
4R ST DIMENSIONS
Model A B Cc D (hE7) FoS S w J K L (F'\";) N P Q R
RH-65 65 15 98 80 60 22 45 30 73 175 M12x1.75x30 | 6~M8x16 14 4 RC3/8 30 15 45
RH-80 80 15 1112 | 90 | 65 | 25 | 45 | 30 74 176 = M16x2.0x30 6~M8x16 17 4 RC3/8 30 15 45
RH-100 100 | 20 135 100 80 | 25 | 45 25 885  190.5 M16x2.0x30 = 6~M10x20 17 4 RC3/8 30 15 45
RH-125 125 | 25 160 130 110 30 50 | 25 | 955 | 197.5 M20x2.5x35 | 6~M12x20 21 4 RC3/8 30 15 45
RH-200 200 | 35 245 145 120 | 55 | 70 35 130 232 M36x4 12~M16x30 38 5 RC1/2 31 16 43

79 AUTOGRIP




[SEEvSRS

Py L 78 o S 28 83 M BR ]

ROTATING HYDRAULIC CYLINDER WITH SAFETY DEVICE

A RK

o EE . BEF KBEDMHEL -
o NEI IR SHIAE KR TR BR R -
o LRRUBEIKHEELY -
®  For short form, light weight and high speed rotary cylinder.
® Built-in safety check valves and pressure relief valves.
® Can screw it from the rear end of the cylinder when mounting.
R R ES Y BB ELDREE DB RES S -
The drain port should be independently connected to oil tank to avoid back
pressure.
L2
T
H— — LI
6~L1
8
i 5 =R
_ A B \_‘DI' é— SIS
&
<
RC1/4” o
Drain Port S, \
2~RC3/8" (RK-200:RC1/2") LQ
(RK-75:60) Pressure Port #5387, S
H G
2~RC1/2"
4
Pressure Port #5A7FL o P J
SYA) M
S A J
-
Q
RC3/8” ﬁL
Drain Port JEHFL R
REIEE AR RK-250
Subject to technical changes —
$ i #31& SPECIFICATIONS
Fidk JEEMETE Eff. piston area 718 ReoEg EafERER I ES
o # {8 (Extend) HiI{8 (Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight ZE
ode cm? cm? mm min(r.p.m.) MPa(kgf/cm?) kg-m? kg H
B
RK-75 44.2 371 15 6000 4.0 (40) 0.01 29 ;E
RK-100 785 715 20 6000 4.0 (40) 0.03 4.4 [
il
RK-125 122.7 1131 25 6000 4.0 (40) 0.05 6.9 &
RK-150 176.7 160.8 30 5500 4.0 (40) 0.09 9.5
RK-200 314.1 290.4 35 5500 4.0 (40) 0.28 15.4
RK-250 469.1 436.0 60 2000 5.0(50) 0.40 45.2
SMEIR < DIMENSIONS
E G G M
Model A B  C D1 D2 01 T max. min. H | K L L1 L2 H8) N N | P Q R | S
RK-75 75 15 107 90 90 65 30 | 45 30 57 148 M20x2.5  6-M8x16 M8x60 | 12 ' 21 | 35| 5 415 10 275 26
RK-100 100 20 132 115|100 80 | 30 @ 45 | 25 | 72 163 M20x2.5 6-M10x20 & M8x75 | 12 | 21 | 35 | 5 [39.5 10 28.5 32
RK-125 125 25 | 160 140 130 110 35 50 | 25 | 82 172 M24x3.0 6-M12x20 M8x85 # 12 25 45 5 385 10 285 32
RK-150 150 30 190 170 130 110 45 55 | 25 | 95 | 184 M30x3.5 12-M12x24 |M10x100 155 32 45 5 37 10 |285 32
RK-200 200 35 245220145120 55 70 | 35 115 201| M36x4.0 | 12-M16x30 M10x125 21 38 60 5 | 38 6 28.5 28
RK-250 245 60 307 275220 160 65 85 25 165 255 M42x3.0 12-M20x35 Mi16x175 28 45 65 12 33 18 6 -

autocrip 80



SiEaE

'S 0 5 M B ]

ROTATING HYDRAULIC CYLINDER

A RK-N

o pH . SiE - ESRVEEHE -
o ZERRUBERHEE -
®  For short form, light weight and high speed rotary cylinder.
® Can screw it from the rear end of the cylinder when mounting.
SEMAREBR L ERREOOEE DUBRESLER -
The drain port should be independently connected to oil tank to avoid back
pressure.
=
[
——F — L,
go; 6~L1 A~ ]
> R _
N ) @
= ~ A:1.D. A& N1
A B |Dr 3 m B:St. 718 || )
4 Sl u W o=
N - - N @l SIES]a]la) ‘é’
g ’L TS — 1 Ql Q
1 b N K
RC1/4" !
Drain Port 38587 ‘ R ‘ ‘ P
Q
2~RC3/8"(RK-200N:RC1/2") — 5\ L
(RK-75N:60) Pressure Port  #35#7L I
‘ 77 5(RK-250N:90) H G
J
(RERIEIELROHT
Subject to technical changes
#li#1& SPECIFICATIONS
£tk JEZEMETE Eff. piston area 718 REeOEY BEERAET I )
{8 (Extend) HiI{fl(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
Model
cm? cm? mm min(r.p.m.) MPa(kgficm?) kg-m? kg
i RK-75N 44.2 371 15 6000 4.0(40) 0.01 2.8
i
e RK-100N 78.5 715 20 6000 4.0(40) 0.03 43
B
B RK-125N 122.7 1131 25 6000 4.0(40) 0.05 6.8
ﬁ RK-150N 176.7 160.8 30 5500 4.0(40) 0.09 9.4
RK-200N 314.1 290.4 35 5500 4.0(40) 0.28 15.3
RK-250N 469.1 436.0 60 2000 5.0(50) 0.40 452
4MEIR < DIMENSIONS
E G G M
Model A B C DI D2 .o F 0 e H J K L L1 L2 g N NP Q R S
RK-75N 75 15 /107 90 | 90 65|30 45 30 57 134.5| M20x2.5 6~M8x16 M8x60 | 12 21 35 5 28 | 10 27.5 26
RK-100N 100 20 132 115 100 80 30 45 25 72 1495 M20x2.5 6~M10x20 M8x75 12 | 21 35 5 26 10 285 32
RK-125N 125 25 160140 130 110 35 50 25 82 | 159.5| M24x3.0 @ 6~M12x20 | M8x85 | 12 25 |45 5 26 | 10 285 32
RK-160N 150 30 190 170 130 110 45 55 25 95 1725 M30x3.5  12~M12x24 M10x100 155 32 45 5 | 26 10 285 32
RK-200N 200 35 245 220 145/120 55 70 35 115 1925| M36x4.0  12~M16x30 M10x125 21 38 60 5 30 6 |28.5 28
RK-250N 245 60 307 275 220 160 65 85 25 165 255 | M42x3.0 6~M20x2.5 M16x175 28 45 65 12 37 18 | 6 -

81 AutocriP




B 258 L i 17 A2 28 1) 22 2B 8 JRR (T AR
ROTATING HYDRAULIC CYLINDER WITH STROKE CONTROL AND SATETY DEVICE

i Rrs

WA SE - TG ERE W -

RETVO R - TIRREES - OIERVHERELIEE{FE -

PRI L B SRS R B TR RS -

LRI o HERHEE 2 -

For short form, high speed and stroke control.

With proximity sensor , the movement of the position is easy to adjust and
confirm when operating.

Built-in safety check valves and pressure relief valves.

® Can screw it from the rear end of the cylinder when mounting.

SR EB N BB RONEE DB eEESE -
TRBAEEBUEBIARUEEURFREE - (FJHm)

The drain port should be independently connected to oil tank to avoid back pres-
sure.

Stroke Detection Type can be customized to Linear Positioning System.

T
J
L2
6~L1
2x2~M5x0.8
R e R —
ALD. RN 5 r
B: St 1772 | [
_ [T :%U- w 83 o
(i mT RS ES ESIRSIRS
2 o
! B I RC1/4” _I
B 8,18 Drain Port 37, E5
78 78 27(RS-200:29.5) 5 IS
2~RC3/8"(RS-200:RC1/2") H2 H G
Pressure Port %A H4L J
RS-200 RS-75,100,125,150
RIS SRR
Subject to technical changes
Hli#1& SPECIFICATIONS
HlgR JEZEEE Eff. piston area 712 e aEg e EREN I 2
7o
Vodel #{3 (Extend) HiI{fl (Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight =5
oce cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg:m? kg ;;.i
RS-75 43.0 37.1 15 6000 4.0 (40) 0.01 3.4 ;@t
E
RS-100 77.4 715 20 6000 4.0 (40) 0.04 49 ;}L’
RS-125 121.6 113.1 25 6000 4.0 (40) 0.05 7.4
RS-150 175.6 160.8 30 5500 4.0 (40) 0.10 10.7
RS-200 313.0 290.4 35 5500 4.0 (40) 0.29 15.9
SMEIR~F DIMENSIONS
E G G M
Model A B @ D1 D2 "7) F — H H1 H2 J K L L1 L2 (H8) N
RS-75 75 15 107 90 90 | 65 30 45 | 30 57 | 42 145 202 M20x2.5 6~M8x16 M8x60 12 21 35
RS-100 100 20 132 115 100 80 30 45 25 72 42 145 217 M20x2.5 6~M10x20 M8x75 12 21 35
RS-125 125 25 160 140 130 110 35 50 25 82 41 144 226 M24x3.0 6~M12x20 M8x85 12 | 25 | 45
RS-150 150 30 190 170 130 110 45 55 25 | 95 39 142 237 M30x3.5 | 12~M12x24 @ M10x100 155 32 45
RS-200 200 35 245 220 145 120 55 70 | 35 | 115 34 14252575 M36x4.0 @ 12~M16x30 = M10x125 | 21 | 38 @ 60

* 3T%B3R8 : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

AUTOGRIP 82



’ RS-N (TEZHIREm e s

ROTATING HYDRAULIC CYLINDER WITH STROKE CONTROL

A S - (TI2EHI AR ER ] -

BTV BRR - TERERS - aERHBRILEEES -

LR HEREE 2 -

For short form, high speed and stroke control.

With proximity sensor , the movement of the position is easy to adjust and
confirm when operating.

® Can screw it from the rear end of the cylinder when mounting.

SRMAREBNEBZEOEEE  DBRELER -
RSB BN SREEN R TS - (F12m)

The drain port should be independently connected to oil tank to avoid back
pressure.

Stroke Detection Type can be customized to Linear Positioning System.

& Ny I,Dr 6-L1 L2
HeE—=—=
g |
ﬂz’%ﬂ%r - @%%él 4 888
RC1/4" yﬁ _ N
Drain Port J#5H 7, 271 | 28 =5
10 SN
2~RC3/8"(RS-200N:RC1/2") | 131RS-200N:1345) | H G
RS-200N Pressure Port  #&#FL J
Sbloct 1o ochar hanges
i #3248 SPECIFICATIONS
HlgR SEZEHEME Eff. piston area 712 B mEg e EREN I 2
#{3 (Extend) HiI{fl (Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
Model cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg:m? kg
RS-6520N 32.0 28.3 20 6000 4.0(40) 0.01 3.2
RS-6530N 32.0 28.3 30 6000 4.0(40) 0.01 8.8
fgé RS-75N 43.0 371 15 6000 4.0(40) 0.01 3.3
/5]_5 RS-7530N 43.0 371 30 6000 4.0(40) 0.013 3.7
3% RS-100N 774 715 20 6000 4.0(40) 0.04 4.8
;ir RS-125N 121.6 113.1 25 6000 4.0(40) 0.05 7.3
RS-150N 175.6 160.8 30 5500 4.0(40) 0.16 10.6
RS-200N 313.0 290.4 35 5500 4.0(40) 0.29 15.9
SMEUR~F DIMENSIONS
Model A B Cc D1 D2 (;57) F m(a;x. m?n. H J K L L1 L2 (I—';/|8) N
RS-6520N | 65 20 97 | 80 80 60 | 25 45 | 25 62 193 M16x2.0 6~M8x16 M6x70 145 17 | 30
RS-6530N 65 30 97 80 80 60 25 45 15 62 203 M16x2.0 6~M8x16 M6x80 145 17 30
RS-75N 75 15 | 107 @ 90 90 65 30 45 30 57 188 M20x2.5 6~M8x16 M8x60 12 21 35
RS-7530N = 75 30 107 | 90 90 65 | 30 45 15 72 203 M20x2.5 6~M8x16 M8x75 12 21 35
RS-100N 100 20 132 | 115 100 80 30 | 45 25 | 72 203 M20x2.5 6~M10x20 M8x75 12 21 35
RS-125N 125 25 160 | 140 | 130 110 | 35 50 @ 25 82 | 213 M24x3.0 6~M12x20 M8x85 12 25 45
RS-150N 150 = 30 | 190 | 170 130 110 45 | 55 25 | 95 226 M30x3.5 12~M12x24 M10x100 | 155 32 | 45
RS-200N | 200 35 | 245 220 145 120 55 | 70 35 115 | 2495 M36x4.0 12~M16x30 M10x125 21 | 38 60

* 3T%B3R8 : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

83 AuTtoGRIP



A R GiEeman swan

ROTATING HYDRAULIC CYLINDER WITH COOLANT CONNECTION AND SATETY DEVICE

B - EKEEEMET - o LBREIRHEATIHIK -
R I8 B SHE R R ER -

To allow coolant to be feed from the rear end of the distributor through the
rotating union
® Built-in safety check valves and pressure relief valves.

5%7‘&%?3?5%2\%3%%@55}53% B REEEE

GEKFALEIRESRIBNR  FEE -

The drain port should be independently connected to oil tank to avoid back
pressure.

The rotary cylinder should not run without liquid through coolant port.

L2
6-L1 »r—‘«
- r ]
I
RC1/4" - -
Coolant Port {£7K#, — g Is?f__?g 8
/—‘ﬁ o St. T»H«
() N e T llglslue s so
o T I “ﬁ“l-;gf SIRSIRS
© i sl TN K
RC1/8" o i o
Coolant Drain Port #7K¥L E—
< 20 H1 y
T
RC1/4” 11 5 L
13,13 E Drain Port 7, Ho H 5 =
60 C/O
1
J
(
A
C-Dr T 2~RC3/8"(RL-200:RC1/2")
A B\ Dr Pressure Port  #3#FL
PV Limit value 14400 MPa-r/m
PV BRHIE
(REBIBIERRRR
Subject to technical changes
i #31E SPECIFICATIONS
Elg SEZEMETE Eff. piston area 772 ReOE BaEREN EKA RS ERES I S
Vodel 8l (Extend) HIffl(Retract) Piston stroke Max. speed Max. pressure Co&l:;t;;r;zﬁigon Moment of inertia Weight "
@I
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg:m? kg H
BE
RL-75 42.6 371 15 6000 4.0(40) 3.5(35) 0.01 3.1 ;E
RL-100 77.0 715 20 6000 4.0(40) 3.5(35) 0.04 46 ;iii
i
RL-125 121.2 113.1 25 6000 4.0(40) 3.5(35) 0.06 71
RL-150 175.2 160.8 30 5500 4.0(40) 3.5(35) 0.10 9.7
RL-200 312.5 290.4 35 5500 4.0(40) 3.5(35) 0.30 15.6
ShEYR<F DIMENSIONS
Model A B C | DI D2 (hE7) F Gmax. Gmin. H | HL H2 J K L L1 L2 (a"s) N
RL-75 75 15 107 90 90 65 | 30 45 30 57 42 | 137 194 M20x2.5 6~M8x16 M8x60 12 21 | 35
RL-100 100 | 20 132 115 100 80 @ 30 45 25 72 | 42 | 137 | 209  M20x2.5 6~M10x20 M8x75 12 21 | 35
RL-125 125 | 25 160 140 | 130 110 35 50 25 82 41 | 136 218  M24x3.0 6~M12x20 M8x85 12 25 | 45
RL-150 150 | 30 190 170 130 110 45 55 25 95 39 134 230 M30x3.5 12~M12x24 M10x100 15.5 32 45
RL-200 200 | 35 245 220 145 120 55 70 35 115 36 | 132 | 248 M36x4.0 12~M16x30 M10x125 21 | 38 @ 60

AuTOGRIP 84



M RL-N e w

ROTATING HYDRAULIC CYLINDER WITH COOLANT CONNECTION

o B HKAVEEMEG - o] AHEREATIHIK -

o ZEFUHERHEEY -

® To allow coolant to be feed from the rear end of the distributor through the
rotating union.

® Can screw it from the rear end of the cylinder when mounting.

RSB N BB ERODHEE  DBREESE -

AKAERRERE  FYEE -

The drain port should be independently connected to oil tank to avoid back
pressure.

The rotary cylinder should not run without liquid through coolant port.

6~L1 »’L_Z‘«
o~ =
RCL/4" =
Coolant Port 7K%, ALD. N 17 g I
B:St. 71 || ..
N /I | =
. S el | [ Hﬁsil-l- o=
v/ il o | TSI CTR=TR=TRS
& ﬁ - QS
S8 ﬁ» 7| |‘: B 71‘\ N \\i(
RC1/8“ [ | i I} il o L
Coolant Drain Port J87KHL j—
- 20 28 S
RC1/4” 5 L
L 18 Drain Port J8H7. \ﬂ =
3.5 H G
60
C J
( 2~RC3/8"(RL-200N:RC1/2")
A Pressure Port  #HFL
C-Dr H-3
PV Limit value 14400 MPa.r/m A B | Dr
PV BRHIME
RGBT
Subject to technical changes
i #2148 SPECIFICATIONS
pillr JEEETE Eff. piston area 1712 EeEEg EeERES KA EEERES | 582
N Vogel 818 (Extend) HiI{fl(Retract) Piston stroke Max. speed Max. pressure CO&':?;;ZZ?:;:;O” Moment of inertia Weight
;:E cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg-m? kg
/|
2 RL-75N 42.6 37.1 15 6000 4.0 (40) 3.5(35) 0.01 3.0
o
i RL-100N 77.0 715 20 6000 4.0 (40) 3.5(35) 0.04 45
i
RL-125N 121.2 113.1 25 6000 4.0 (40) 3.5(35) 0.06 7.0
RL-150N 175.2 160.8 30 5500 4.0 (40) 3.5(35) 0.10 9.6
RL-200N 312.5 290.4 35 5500 4.0 (40) 3.5(35) 0.29 15.5
ShEYR ST DIMENSIONS
Model A B © D1 D2 (hE7) F | G max. G min. H J K L L1 L2 ('_’\é}) N
RL-75N 75 15 107 | 90 90 65 30 45 30 57 180 M20x2.5 6-M8x16 M8x60 12 21 35
RL-100N 100 | 20 132 | 115 100 @80 30 45 25 72 195 M20x2.5 6-M10x20 M8x75 12 21 35
RL-125N 125 | 25 160 | 140 | 130 110 35 50 25 82 | 205 M24x3.0 6-M12x20 M8x85 12 25 45
RL-150N 150 | 30 190 | 170 | 130 110 45 55 25 95 | 218 M30x3.5 12-M12x24 M10x100 (155 32 | 45
RL-200N 200 | 35 | 245 220 145 120 55 70 35 115 | 240 M36x4.0 12-M16x 30 M10x125 21 | 38 60

85 AuToGRIP



RL-AN ¥ 7 AU 3 e BR T B
ROTATING HYDRAULIC CYLINDER WITH AIR CONNECTION

o BE IRIEEMEL - IAHEREETESR -

o ZEFUHERHEEY -

® To allow compressed air to be feed from the rear end of the distributor
through the rotating union.

® Can screw it from the rear end of the cylinder when mounting.

FERE - FEANENHEE -

ARABRERAR  FYEHE -

When used, a little oil mist should be contained.

The rotary cylinder should not run without air passing through the air port.

6~L1 »’E‘«
1
L T

EoR
RC1/4”
Air Port E&4L AILD. A ] ) I
B: St. 1772 $H«
f— =
- — STl o =
B O o Q) a ol
() o C(ll s
"L et N
RCLA4" 1
\6%/ Drain Port SE5H7L 57 28 =1
1 13 2~RC3/8"(RL-A200N:RC1/2") | 10 > NL
Pressure Port #3HFL 1095 H G
60 | A |
J
H-33
A B | Dr
RBBIEIERAOHER
Subject to technical changes
#1li#1& SPECIFICATIONS
BISR JEZEMHTE Eff. piston area 1772 EeEEg EeEAES ARBESEREN | 5= o
. Air connection L . =
Voo 818 (Extend) HiI{fl (Retract) Piston stroke Max. speed Max. pressure Max, pressure Moment of inertia Weight S
ER
cm? cm? mm min?(r.p.m.) MPa(kgficm?) MPa (kgf/cm?) kg-m? kg ;E
RL- A75N 42.6 371 15 6000 4.0(40) 0.8(8) 0.01 3.0 [
il
RL- A100N 77.0 71.5 20 6000 4.0(40) 0.8(8) 0.04 4.5 &
RL- A125N 121.2 113.1 25 6000 4.0(40) 0.8(8) 0.06 7.0
RL- A150N 175.2 160.8 30 5500 4.0(40) 0.8(8) 0.10 9.6
RL- A200N 312.5 290.4 35 5500 4.0(40) 0.8(8) 0.29 15.5
4MNEIR < DIMENSIONS
= G G M
Model A B @ D1 D2 "7) F e | o H J K L L1 L2 (H8) N
RL- A75N 75 15 107 90 90 65 30 45 30 57 166 M20 x2.5 6~M8x 16 M8x60 12 | 21 | 35
RL-A100N 100 | 20 132 115 100 80 30 45 25 72 181 < M20x2.5 6~M10x20 M8x75 12 | 21 | 35
RL-A125N 125 25 K 160 140 130 110 35 50 25 82 191 M24x 3.0 6~M12x20 M8x85 12 | 25 | 45
RL-A150N 150 = 30 190 170 130 110 @ 45 55 25 95 204 M30x3.5 12~M12x24 M10x100 155 32 45
RL-A200N 200 @35 245 | 220 | 145 | 120 55 70 35 115 | 225 M36 x4.0 12~M16x30 M10x125 21 38 60

AUTOGRIP 86



COMPACT STYLE HYDRAULIC CYLINDER WITH STROKE CONTROL AND SAFETY DEVICE

M Re EEEEmomEwaEdD () s

SR - SRS REEHET -

NI B SR - R B RITRERILEERRE -
ZEREHEREEZ

For short form, light weight and high speed rotary cylinder.

Built-in safety check valves, pressure relief valves and proximity sensor.
Can screw it from the rear end of the cylinder when mounting.

SEMA R EBNEREOHEE  DUBRELTR -
RGBSR ETENRFESE - (F&Hm)

The drain port should be independently connected to oil tank to avoid back
pressure.

Stroke Detection Type can be customized to Linear Positioning System.

2~RC3/8” i : m—
Pressure Port A,B ! _
4 j A:|l.D. A N K
#3mA AB | HE Bijst. 712 e
s e R
wl w
g @ NI mEE] %J s & 8 8
| 15 S
H
i | |a25 - =3
RC1/4"
Drain Port ‘ f L
e REN H L
[ J G
Drf AB
REBRIBIEUAER)
Subject to technical changes
z il #31& SPECIFICATIONS
;g RIS JEZETE Eff. piston area 172 EeEEg EaERES I 582
o # il (Extend) HiI{8 (Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
i Model
a cm? cm? mm min(r.p.m.) MPa(kgflcm?) kg-m? kg
RE-110 92.7 87.9 20 6000 3.5(35) 0.02 6.9
RE-120 110.8 106 21 6000 4.0(40) 0.03 8.8
RE-130 130.4 123.1 30 6000 4.0(40) 0.03 9.1
SN~ DIMENSIONS
Cc G G M
Model A B h7) D E F TE i H J K L L1 (H8) N
RE-110 110 = 20 | 145 | 128 42 29 60 40 66 146 M20x2.5 6~M8x70 12 22 35
RE-120 120 | 21 | 168 | 145 @42 29 60 39 69.5 @ 148 M20x2.5 6~M10x75 17 22 35
RE-130 130 | 30 | 168 150 | 50 33 60 30 79.5 158 M24x3.0 6~M10x85 17 27 40

* 31$%F963 : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

87 AuTOGRIP



== A Pa =S N (= — =3 =
B ER A R R B R () SmED
COMPACT STYLE HYDRAULIC CYLINDER WITH STROKE CONTROL AND SAFETY DEVICE

A RE

5% KEEGIEEREL - FRIESERARIIAER -
NI B SR - R B RITRERILEERRE -
ZEREHEREEZ

For short form, light weight and high speed rotary cylinder, suitable for
vertical lathe.

Built-in safety check valves, pressure relief valves and proximity sensor.

® Can screw it from the rear end of the cylinder when mounting.

SEMA R EBNEREOHEE  DUBRELTR -
RGBSR ETENRFESE - (F&Hm)

The drain port should be independently connected to oil tank to avoid back
pressure.

Stroke Detection Type can be customized to Linear Positioning System.

~ L2
2x2~M5x8 (L“\
nt\ i @ ~ } _ }i
dnch
s T W
S "
1 L _
[ — 5
P K
A: 1D, A
B: St| 1712
A Siulw AN| —
- - - Q| a
g SIS
\ 1
1 O
HUU” H @\
2~RC1/2" Dr Z P 12~L
Pressure Port A,B - I -
oML A, ' | -
(RE-150:2~RC3/8™)
- H G
RC3/8" J
Drain Port JEHFL
(RE-150:RC1/4™) f
Dr 1A B
REBRBIELAETR
Subject lo‘lechmca\ ‘changes EI‘D:
2 Aif#21% SPECIFICATIONS ;Ei
fith] JEZEETE Eff. piston area 112 EeEEg EaERES | 52 ﬁ
8 (Extend) 118 (Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight =
Model
cm? cm? mm min(r.p.m.) MPa(kgf/cm?) kg:m? kg il
RE-150 174.4 160.8 30 5500 4.0 (40) 0.06 14.9
RE-200K 292.4 274.9 35 4000 4.0 (40) 0.19 29.1
RE-200L 292.4 265.4 50 4000 5.0 (50) 0.21 30.4
RE-250 465.2 438.2 60 2000 5.0 (50) 0.43 47.2
SN~ DIMENSIONS
E G G M
Model A B © D1 D2 () F P afin, H J K L L1 L2 (H8) M1 N P Q
RE-150 150 30 (205 180 130 110 45 60 30 99 177.5 M30x3.5 M12x24 M12x105 185 32 | 10 50 12.5| 114
RE-200K 195 35 257 225 145 120 55 73 38 120 239 | M36x4.0 M16x30 M16x130 27 | 38 12 | 65 15 | 150
RE-200L 195 50 257 225 170 125 65 80 30 | 135 254 | M42x3.0 M16x30 M16x145 27 | 45 12 | 65 15 | 150
RE-250 245 60 307 275 220 160 65 85 25 | 165 280 | M42x3.0 M20x35 M16x175 28 | 45 12 | 65 15 | 150

* 31$%F963 : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

AuToGRIP 88



2z
i
[
@
L
il

RS

A RE-A

— N =r
RO (—)
COMPACT STYLE HYDRAULIC CYLINDER WITH AIR CONNECTION AND SAFETY DEVICE

SREER

SR KSEERGITREEHEL - JARERHEER -
R R B SEE - RBRRE RATIE IR HT HE R -

ZERUBERHEEZ -

For short form, light weight and high speed rotary cylinder. To allow compressed
air to be feed from the rear end of the distributor through the rotating union.
Built-in safety check valves, pressure relief valves and proximity sensor.

Can screw it from the rear end of the cylinder when mounting.

SR EB N BB EOREE DB RELESEE -

ERE - FEAMERHTE -

ARABRIERER  H2EHE -

TRBAEBAUELAREEURRESE - (FJ8#m)

The drain port should be independently connected to oil tank to avoid back pres-
sure.

When used, a little oil mist should be contained.

Stroke Detection Type can be customized to Linear Positioning System.

The rotary cylinder should not run without air passing through the air port.

yri el o
| ‘ i
1 L = —
Th=— ap.m&E | N K
B: St. 7712 a
INPS s O
- 1 _ | wiw A
E { \ LI & 1 Q| 9l
8
“%Q 15
l
o R ==
12.5
H L1] WL
2~RC3/8" i J G
Pressure Port A,B N AB
#mAL A B Drain Port 88+l Dr |,
IREBIRIBIE LR
Subject to technical changes
g #i1& SPECIFICATIONS
RIS JEZEETE Eff. piston area 1712 EeEH E=ERAES ARNESERES I 5=
848 (Extend) HiI{8) (Retract) Piston stroke Max. speed Max. pressure ,:;Iir T Moment of inertia Weight
Model ax. pressure
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg:m? kg
RE-A110 91.2 87.9 20 6000 4.0(40) 0.8(8) 0.02 6.9
RE-A120 109.3 106 21 6000 4.0(40) 0.8(8) 0.02 8.8
RE-A130 128.9 123.1 30 6000 4.0(40) 0.8(8) 0.03 9.1
SR ~F DIMENSIONS
C G G M
Model A B ") D 5 F TET -y H J K L L1 (H8) N
RE-A110 110 20 145 | 128 42 29 60 40 66 146 M20x2.5 6~M8x70 12 22 38
RE-A120 120 21 168 | 145 42 29 60 39 | 69.5 148 M20x2.5 6~M10x75 17 22 38
RE-A130 130 30 168 | 150 50 33 60 30 | 79.5 158 M24x3.0 6~M10x85 17 27 43

* 3T #%BAR8 : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

89 autocRrIP




TERES AT REEHET () BREED

COMPACT STYLE HYDRAULIC CYLINDER WITH AIR CONNECTION AND SAFETY DEVICE

A RE-A

SR KSEERGITREEHEL - JARERHEER -
R R B SEE - RBRRE RATIE IR HT HE R -

ZERUBERHEEZ -

For short form, light weight and high speed rotary cylinder. To allow compressed
air to be feed from the rear end of the distributor through the rotating union.
Built-in safety check valves, pressure relief valves and proximity sensor.

® Can screw it from the rear end of the cylinder when mounting.

A REE Y EEELREE DR ESEE -

FAK  FEAMERETE -

ARABRIRBBE  BF2EHE -

TEBHEBIIEURBREEURREE - (F]Hm)

The drain port should be independently connected to oil tank to avoid back pres-
sure.

When used, a little oil mist should be contained.

Stroke Detection Type can be customized to Linear Positioning System.

The rotary cylinder should not run without air passing through the air port.

2x2~M5x8 6i‘1\ <L—2»‘
[
mﬁ i ’@** ****** +
soifipled 5
‘ o0 M — r
o
; A:1.D. A TEU_UJN
f o| 1|l Ll ne i e
S b B: St 112 ST SIESIRS
== T ™A
A e
. Hi==n 3
Pressure Port A,B p 12~L
#amfL AB a# |
(RE-A150:2~RC3/8") [N _
RC3/8” Air | H G
Drain Port S8R, — 1Oz ‘
(RE-A150:RC1/4") J
RCL4"
Air Port JERAL I
(RE-A150:RC1/8") br | AB
(REBIBIERMER
Subject to technical changes gl‘D:
1% SPECIFICATIONS s
BE
Eitl SEZEMETE Eff. piston area 772 ReEEH BafERAERE ERBRSERED I ES ;E
Vodel 848 (Extend) HiI{fl (Retract) Piston stroke Max. speed Max. pressure G;;O;Zg:iﬁz Moment of inertia Weight ;?
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg:m? kg
RE-A150 174.4 160.8 30 5500 4.0(40) 0.8(8) 0.06 14.9
RE-A200K 292.4 274.9 35 4000 4.0(40) 0.8(8) 0.19 29.1
RE-A200L 292.4 265.4 50 4000 5.0(50) 0.8(8) 0.21 30.4
RE-A250 465.2 438.2 60 2000 5.0(50) 0.8(8) 0.43 47.2
SNEYR T DIMENSIONS
E G G M
Model A B @ D1 | D2 O7) F e | i H J K L L1 L2 (H8) M1 N P Q
RE-A150 150 30 205 180 130 110 45 | 60 30 99 1775 M30x3.5 M12x24 M12x105 185 32 10 50 [12.5 114
RE-A200K 195| 35 257 225 145 120 55 | 73 38 120 239 M36x4.0 M16x30 M16x130 27 38 12 65 | 15 150
RE-A200L 195| 50 257 225 170 125 65 80 | 30 135| 254 M42x3.0 M16x30 M16x145 | 27 45 12 65 | 15 | 150
RE-A250 245 60 307 275220 160 65 | 85 | 25 165 280 M42x3.0 M20x35 M16x175 28 45 12 65 15 | 150

* 3T #%BAR8 : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

autocrip 90



2z
i
[
@
L
il

COMPACT STYLE HYDRAULIC CYLINDER WITH COOLANT CONNECTION AND SAFETY DEVICE

A RE-L FEEETicemam () senaw

5% KERSIT/KEEMRL - JEHBREATIEIK -
NP LR EREE  RER AT ESRITIERE -
ZERFEHERHEEZ -

For short form, light weight and high speed rotary cylinder. To allow coolant to
be feed from the rear end of the distributor through the rotating union.

Built-in safety check valves, pressure relief valves and proximity sensor.

® Can screw it from the rear end of the cylinder when mounting.

SERALEC SN B EEORERE DR RELESEE -

EKALERISEIB  FYEHE -

TRBAEBUELAREEURREE - (FJHm)

The drain port should be independently connected to oil tank to avoid back
pressure.

The rotary cylinder should not run without liquid through coolant port.

Stroke Detection Type can be customized to Linear Positioning System.

2~RC3/8" C
Pressure Port A,B T Pr
#melL AB - L rﬂfi
[ I |
CDr 3 1
orj AB | 1] HEE— N
. /
i ALD. AR L Lz ——
,,,,,,,, = 1 1M il TS wlwl alo
8| [10]Y¥ B: St| 1712 ,4:;@7@1 SIS
|
m f 15 8
it
RC1/8" —
Coolant Drain Port ‘ 4 I s ey S
SBIKAL — L
23.5 125 | H L1 =
J G

RC1/4”
R RC1/4”
Collant Port E7KFL Drain Port #3870,

REBRBIELAETR
Subject to technical changes

i AR1E SPECIFICATIONS

b JEZEHEE Eff. piston area 712 = aE E=ERES KA EREERES | 58
848 (Extend) HiI{8 (Retract) Piston stroke Max. speed Max. pressure Co&lant Copecen Moment of inertia Weight
Model ax. pressure
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg:m? kg
RE-L110 92.7 87.9 20 6000 4.0(40) 1.5(15) 0.02 7.2
RE-L120 109.3 106 21 6000 4.0(40) 1.5(15) 0.03 9.1
RE-L130 128.9 123.1 30 6000 4.0(40) 1.5(15) 0.03 9.5

SMEYR <) DIMENSIONS

Model A B ) D E = T -y H J) K L L1 (H8) N

RE-L110 110 20 145 128 42 29 60 40 66 169.5 M20x2.5 6~M8x70 12 22 38

RE-L120 120 21 168 145 42 29 60 39 69.5 1715 M20x2.5 6~M10x75 17 22 38

RE-L130 130 30 168 150 50 33 60 30 795 1815 M24x3.0 6~M10x85 17 27 43

* 3T%B3R8 : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

91 AutoGRIP



COMPACT STYLE HYDRAULIC CYLINDER WITH COOLANT CONNECTION AND SAFETY DEVICE

’ RE- I- 55 A0 TR R HERET () A e

o FiF KEESET/KEEMEL - lERREHRAETIHIK  HrESER
RIIFAER -
R RSB S - R B R TI2 ST -
ZERREHEREEZ -
For short form, light weight and high speed rotary cylinder. To allow coolant to
be feed from the rear end of the distributor through the rotating union, suitable
for vertical lathe.
Built-in safety check valves, pressure relief valves and proximity sensor.

® Can screw it from the rear end of the cylinder when mounting.

SORAECEH N BB ELOUNEE - DB RELES R
5$7J<%L;ﬁ§fﬁﬁ%LLH% BEHE -
TRBAEEBUEBIARUEEURREE - (FJHm)
The drain port should be independently connected to oil tank to avoid back pres-
sure.
The rotary cylinder should not run without liquid through coolant port.
Stroke Detection Type can be customized to Linear Positioning System.

2x2~M5X8 6% L2
i | T ]
2~RC1/2" ] | E% ‘ 5‘
iPressure Port A,.B il
a Il ] S
(RE L1502 ~RC3/8") il K
< . = 7
o g | A LD T =y o] =6
Q| || RIS - SIS
_% | - N L M1
12.5 | ———
Collant Port SE7KFL R 41
\ P 12~L
1P —
25 L
RC3/8”
Drain Port 837, H G
(RE-L150:RC1/4™) J
RC1/8” R
Coolant Drain Port 87K+ AHB
RBBIEIERAOHER
Subject to technical changes EE
$ 1T #3415 SPECIFICATIONS ;@
BX
BISR JEZEMHTE Eff. piston area 1772 EeEY EeEAES KA EEERES I ] 8
. Coolant connection P q &
Vodel 848 (Extend) HiI{fl (Retract) Piston stroke Max. speed Max. pressure Max. pressure Moment of inertia Weight z_l,
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg:m? kg
RE-L150 174.4 160.8 30 5500 4.0(40) 1.5(15) 0.06 15.2
RE-L200K 292.4 274.9 35 4000 4.0(40) 1.5(15) 0.19 29.4
RE-L200L 292.4 265.4 50 4000 5.0(50) 1.5(15) 0.21 30.7
RE-L250 465.2 438.2 60 2000 5.0(50) 1.5(15) 0.43 47.5
SMEIR~F DIMENSIONS
E G G M
Model A | B C D1 D2 (h7) F lmax | min. | H J K L L1 L2 (H8) M1 N P Q
RE-L150 150 30 205 180|130 110 45 60 | 30 | 99 201 M30x3.5 Mi12x24 M12x105 18.5 32 10 50 125 114
RE-L200K 195 35 257 225 145 120 55 73 38 120 264 M36x4.0, M16x30 M16x130 27 38 12 65 15 150
RE-L200L 195 50 | 257|225 170 125 65 | 80 | 30 | 135 279 M42x3.0 M16x30 M16x145 27 45 12 65 15 150
RE-L250 245 60 307 275 220 160 65 85 25 165 305 M42x3.0/ M20x35 M16x175 28 45 12 65 15 150

* 3T%B3R8 : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

AuToGRrIP 92



A EE 17 58 HME AL T S BRG]
HYDRAULIC CYLINDER WITH ROTATING JOINT

LI REasMNER

i rRC

o PLFEBIEMERLL -

o ONMEEREN®RBELEEER  FnERBRAKLPOEKWEK -
o NEMI-FIEHEE -

o O[EFCA MBS A MBS RO ETITRES -

® Center through-hole hydraulic cylinder, suitable for horizontal CNC lathes.

[ ]

Can choose an external rotary joint with either single or double paths.

® |t meets the demand for coolant through spindle and airtight pressure detect

function.

® Has a buil-in check valve for safety.
® Stroke control via proximity switch or linear positioning system.

MR RIMNEE BB ERE N EERAEER -
The proximity switch and single or double paths rotating joint are optional.

L2

6~L1
20
10 gl B
[ 5
s A: .D.AE
2-R b B: St. 1712
Pressure port A,B
%3 B é 9 | X
el I [l =
o o) [
{FHER & \\ S8 888
8 —— = (
M1
= )
oL ] M L N
Dr
23.5 ‘
Q
H
G2 J Gl
REBRIBIELAER)
Subject to technical changes
AT #21% SPECIFICATIONS
itk JEZEETE Eff. piston area 1112 EeEg EaEREN | 5=
818 (Extend) HiIffl(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
Model
cm? cm? mm min?(r.p.m.) MPa(kgflcm?) kg-m? kg
7o
:E RC-85 43.8 481 20 5000 3.5(35) 0.01 6.8
;g RC-100 65.6 64.4 20 5000 3.5(35) 0.02 9.2
a RC-125 109.8 108.5 25 5000 3.5(35) 0.03 1.1
ﬁ RC-145 152.2 143.9 30 5000 3.5(35) 0.03 14.6
RC-200 279.3 273.6 35 4000 4.0(40) 0.26 35.5
SMEUR T DIMENSIONS
Model A B C1 Cc2 D E (h7) F G1max. G1min. G2max. G2min. H J K
RC-85 85 20 120 116 100 65 30 45 25 28 8 70 150 M20x1.5
RC-100 100 20 135 131 115 80 40 45 25 28 8 72 158.5 | M30x1.5
RC-125 125 25 160 156 140 110 40 50 25 33 8 78 164 M30x1.5
RC-145 145 30 187 183 165 110 50 55) 25 38 8 89.5 169.5 | M40x1.5
RC-200 195 35 257 257 225 120 55 73 38 51.5 16.5 120 222.5 | M36x4.0
Model L1 L2 M(H8) M1 N P Q Q1 R s1 s2 T1 T2
RC-85 6~M8x75 12.5 20.5 10 40 14 4 3 RC3/8 31 M4x10 48 M5x9
RC-100 6~M8x75 12.5 32 10 50 14 4 3 RC3/8 31 M4x10 48 M5x9
RC-125 6~M8x80 11 32 10 50 14 4 3 RC3/8 31 M4x10 48 M5x9
RC-145 6~M10x90 18 42 12 57 14 4 8 RC3/8 31 M4x10 48 M5x9
RC-200 6~M16x130 26 38 12 65 15 6.5 4 RC1/2 35 M4x10 60 M5x11

93 AuTOoGRIP




HYDRAULIC CYLINDER WITH ROTATING JOINT

’ RC 3 8 452 OB SN B 10 e S JBR AL BT

o OEEENIERBALENL -
® Rotating joint and Proximity switch with bracket type.

With single path rotating joint (Fixed type) With double paths rotating joint(Fixed type)

A .
AW e o
H—Ej /U @ X Inper Opter|
s
|
iy il L [ [1] L
M1 BE - EmE M2 BET - &ma
With single path rotating joint(Moving type) With double paths rotating joint(Moving type)

Inner Outer|

B MR AN AN SR S RN R

linear Sensor with bracket Proximity switch with bracket

2z
i
[
@
L
il

« I iERIR S T R S * The proximity switch and rotary joiint are optional.
* OEIEFT S B INEREY - * Choose and attach the appropriate type.

* AT ENER T AR R - * Please contact AUTOGRIP for more detailed drawing.

AuTocGrIP 94



Y 4:1) B4 300 LI P 2849 030 98300 R i

DOUBLE ROD ROTATING CYLINDER WITH SAFETY DEVICE

o P . KE . BIRIVEEREG -
o NEF IR B SHAAE KR TR BR R -
®  For short form, light weight, double rod rotary cylinder.
®  Built-in safety check valves and pressure relief valves.
SR EB N BB EORERE DR RELESEE -
The drain port should be independently connected to oil tank to avoid back
pressure.
,,,,,,,,, Cylinder A CylinderB  6~M12x1.75x24
A:1.D. AR q
P M42x1.5
. (L
B: 1.D. AL 35h _
| £ M20x2.5
I o -
e Q U | TR B s
% (e = §°°
= RCL4" W ! 35
1343 Drain Port 2L 2 40.5 51,
0 — ]
] 2-RC3B
60 Pressure Port #5584l 90 C F
D E
{REBIRIE BT
Subject to technical changes
g #i1& SPECIFICATIONS
J&EZ ETEES. piston area
BISE 718 ReOEY EeERRT | E3
pa #{8 (Extend) Hi1fil(Retract)
;EH‘ A B A B Piston stroke Max. speed Max. pressure Moment of inertia Weight
J& Model
4} cm? cm? cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg:m? kg
®
£ RD-120 122.7 126.1 116.1 113.1 20 5000 3.0(30) 0.14 11.3
RD-125 122.7 126.1 116.1 113.1 25 5000 3.0(30) 0.15 11.5
SMEIR < DIMENSIONS
Model A B © D E max. E min. F max. F min.
RD-120 125 130 137 227 60 40 35 15
RD-125 125 130 147 237 55 30 & 10

95 AuToGRIP



g RO-N  EEmEmaEd -

DOUBLE ROD ROTATING CYLINDER

R R WISENEHEE -
For short form, light weight, double rod rotary cylinder.
SRR EBNERELOINERE DBRELER -

The drain port should be independently connected to oil tank to avoid back

pressure.
Cylinder A ?ylinder B 6~M12x1.75x24
. 1
ALD. Wff ﬁ M42x1.5
B: I.D. A& ‘ 35*;’
i o ‘ j M20x2.5
| o
(é‘% %j} A B LDF ﬂ o — o o '.E ol o
N — © / O < | ~
= 5 o S I I
% 10| L%Ji Q
L RC1/4" L I 35
Drain Port EH7FL H
27, 28 5.1
13113 0 —=
[ 2~RC3/8” R
Pressure Port %Rl 77 C F
60
D E
REBBREEL T
Subject to technical changes
H1li#1& SPECIFICATIONS
JEZ HEES. piston area
itk 712 B ==ERES | E
{8 (Extend) HI{8l(Retract) pac]
A B A B Piston stroke Max. speed Max. pressure Moment of inertia Weight ?
Model i
cm? cm? cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg:m? kg C|
#
RD-120N | 1227  126.1  116.1 | 1131 20 5000 3.0(30) 0.14 1.2 &1
RD-125N = 122.7  126.1 | 116.1 1131 25 5000 3.0(30) 0.15 11.4
ShEIR T DIMENSIONS
Model A B © D E max. E min. F max. F min.
RD-120N 125 130 137 214 60 40 35 15
RD-125N 125 130 147 224 55 30 85) 10

AuTOGRIP 96



Y 4.

B2 30

A SHEERY

HYDRAULIC ROTARY VALVE

BET e EICREZE MR REEDRHE -
OEM[AEESHRRE  EEEEHIKNES  BEARRBH -
Iﬂ?\%—?_ﬁf‘ R EHIF R E1F -

ER @RS - ol RIiEHIR R E1F -

Rotary valve is used for clamping cylinder on rotary table.

Through unique design, it can make the rotary housing be rotated light force
and is free from oil leaking.

| Type is a single circuit which controls the clamping.

® || Type is a double circuit which separately controls the clamping.

= RVERRHAREZVEBELME  DBeERE R
= The drain port of RV type should be independently connected to oil tank to
avoid back pressure.

4~M8 2x4~RC1/4”
Screw hole Distributing port
- BHA pAinb::EiN 4~M8x11

M | RC1/4”

ﬂ%ﬂ “ﬁﬁﬂ Drain Port 7,

Tl

0134
040 h7
—
i
@
L
01%

i m i

=
=
{ -

:]:7 I
5 12‘ 40.5 ‘ 25 ‘ 18 2(4)~RC1/4”
L T 1 ="
P Port #&#FL
136 ressure Fol I II
REBRIBIE AR
Subject to technical changes
K 1li#1& SPECIFICATIONS
Eskr DRE EaEREN 2
o Max. pressure Weight
Model Distributing
MPa(kgf/cm?) kgs
RV-31H 4@ (TJEIH®) 4.0(40) 7.4
RV OJRHEE - (Note:RV can be custom-made.)
7C [Bf 2 / \IZ= EBE 7T EX F
RV-A ZE BRI 88 73 7 ) =g
AIR ROTARY VALVE
4~M8 2x4~RC1/4”
Screw hole Dlstnbutlng port
12T PapiidiiE
T & | 2~M8x11
N 7
1| 77 5=
ol iz A A | 1e
5 8 NZ 8
e 8y | " T
i =
| — 1 1 2(4)~RC1/4" :
i==p Pressure Port #&5fL
5 12‘ 37.5 25 18
125 I I
RBIRIEIE AR
Subject to technical changes
K17 #1& SPECIFICATIONS
il Papint EaERERN 2
o Max. pressure Weight
Model Distributing
MPa(kgf/cm?) kgs
RV-A31H 4@ (oJET &) 0.8(8) 4.8

2t RV-A T2 =% - (Note:RV-A can be custom-made.)

97 AUTOGRIP



L AR EEE R
COOLANT ROTATING JOINT

A rRJ-80

SR - SRNRALARDEEE -

REBLE KA ERBES S RIBEREMRY - MEFRREULE -

Coolant joint for high speed, high pressure. Usable for oil and water-soluble coolant.
Seal bushing inside is made of cemented carbide and ceramics, which provide
higher wear-resistance.

EKEERASEBE  BEHE -

The joint should not run without liquid through coolant port.

M16x1.5 LH 25

£ (or 5/8-18UNF - LH)

0~ g®

(N o it
NI i @ —

. \«%ﬁ / T s N
RC1/8"(Dr) \Q// 4 ‘“ i | ‘12 d s 19
45’ \28 RC1/4"(IN) o1 ‘ 65 ‘
12

IREBIRIEIE AR Subject to technical changes

iR+ SPECIFICATIONS

AlgR PVIEHI{E MPa- r/m &= 1 B Z IMPa(kgf/cm?) MtH £ (BB A 50 kgflem?) SEREEH(np.m.) E2(kg)
Model PV Limit value MPa- r/m Max. pressure MPa(kgf/cm?) Delivery amount (at 50 kgf/cm?) Max. speed (r.p.m.) Weight (kg)
RJ-80 14400 6.0(60) 28 I/min 8000 0.5

S AR E R AR LK 7 B B B ER S

COOLANT ROTATING JOINT WITH AUTOMATIC ON/OFF SEAL

A RJ-92

S EEER  ESKI -

SEY - SEORALAREERE -

ANER KA FERBES S RIEZMEARKY - MEFEMRE -
EESMERRES - AIIEKEEERE - FIEKEAREZEmSE
Short form, light weight coolant rotating joint.

Coolant joint for high speed, high pressure.Usable for oil and water-soluble coolant.
Seal bushing inside is made of cemented carbide and ceramics,which provide
higher wear-resistance.

®  The seal will depart automatically if no liquid passes during,operation, and will not
be dmaged due to dry touching.

B/)\BIEN B 7] 4kgficm? -
Min. pressure is 4kgf/cm?.

o

3

v M16x1.5LH%E F

:T*’Q: @8(0ut)
P N = Vel >
9] St E S S

/H 1NN ; 0
RC1/4(IN) 9 24.2 RC1/8(Dr) 9| 185
98.5

IREBIRIEIE AR Subject to technical changes

TR+ SPECIFICATIONS

itk PVIRHIE MPa: r/m e ERES MPakgfiem?) | MHE (ERES 50 kgflem?) | BEEREER (rp.m.) | &AOBEES MPakgficm?) = E= (kg)
PV Limit value Max. pressure Delivery amount Min. pressure .
hece) MPa: rfm MPa(kgflcm?) (at 50 kgflcm?) v s (i) MPa(kgflcm?) Wil ()
RJ-92 17500 7.0(70) 28 I/min 10000 0.4(4) 0.46

AuToGrIP 98




Jth ER N0 5 Sk Al
’ SR-02 HEEFIGSE o
SELF-CENTERING STEADY RESTS
o AREFBNESEHE -
o IRAT(ERSRRET -
o HREE- BB/ B/ H+ R
o  NEIILFEESHEE -
o EBMZERFHKMIBRET - MIPUBAZEATRER -
o HHIEBESE -
® High Clamping Force and High Concentricity.
® Enclosed Main Body Design.
®  Central Lubrication: Grease/Oil/Oil + Air.
®  Built-in Check Valve Locking Mechanism.
® Compressed Air Waterproof and Chip-Resistant Design: Prevents
chips from entering the main body during machining.
®  Chip Guarding Device.
RC1/8" . 279.5
) - RC1/8" AirPort
Centralized lubrication PR
RCL/E' SR RCLE" 2. 4x314
$
2 T 8
R
RC1/4" ~
R g 2 £ 5
i —| —| o
S =
N
on
N~
RC1/4" -
= (0
RC1/8" Coolant Drain Port 33
RC1/8" JBIKAL, 84.5
@35
‘®21‘
© é% aEQE
RBIDAGERIER
Subject to technical changes
BHT#E SPECIFICATIONS
RIS TEEEE Cﬁji%a BRARST BRBRARRE | SAEREN EOBE EERE RIFES )
. BA =/\ | Max. clamping Max. roller Clamping Repeat clamping :
Model Eff. piston area Max. Min. force surface speed Wl [pressine accuracy accuracy weight pieight
cm? mm mm kN (kgf) M/min. bar mm mm kg kg
SR-02 19.6 101 8 4.5(459) 800 70 0.002 0.005 450 17.3

99 AuToGRIP




SR SR 2 e
SELF-CENTERING STEADY RESTS

RIFNEBEVE -

£ E8R0ET -

OB B/ B/ B+ T8

PO R L 7 B S -

BREaKBBR  MIPTBRSEAEER -
VHIEBREE -

High Clamping Force and High Concentricity.

Enclosed Main Body Design.

Central Lubrication: Grease/Qil/Oil + Air.

Built-in Check Valve Locking Mechanism.

Compressed Air Waterproof and Chip-Resistant Design: Prevents
chips from entering the main body during machining.

®  Chip Guarding Device.

A
¢(7
m
el ° e
Compressed Air Port
SEERRTEGILM12"]
N —— -
¢ o8 -
SR ZS 1 — el
, =B o+ =
9
@ (% ﬁﬁfﬂ%‘ing%rt ©
Ja &( N mssn G1/8
D& AN AN | Tobrication Port
T
F G
B C
FE O, SRR
Undamifiii%o?t Clampﬁg Port,UEclamping Port
M SR-02A G1/4
Gomangpon  OR03 Gl/4
5 . PrE SR-04 G3/8
x| 4 GEED
Compressed Air Port
\ - oo SR-02A G1/8
@@@ SR-03 G1/8
3 SR-04 Gl/4
RIS IERIONER &g@ B miEn
Subject to technical changes SR-02A M10 Compressed Air Port
BTG SPECIFICATIONS
RIS EEEE Cr?jiznag%ia BAKRET] | RREAKREE  SAFERERSN EOEE BERBE RIEFES E
) =K &=\ Max.clamping  Max. roller Clamping Repeat clamping <
Model SB[ eI Max. Min. force surface speed M R accuracy accuracy weight Weight
cm? mm mm kN (kgf) M/min. bar mm mm kg kg
SR-02A 19.6 102 8 4.59(468) 900 30 0.02 0.005 459 19
SR-03 38.5 152 12 10.2(1040) 750 60 0.02 0.005 1000 39
SR-04 63.5 245 30 15(1529) 760 75 0.05 0.007 1500 98
4MYR~T DIMENSIONS
Model A B c D = F G [¢]
SR-02A 279 197 82 205 170 85 70 70
SR-03 427 307 120 290 262 135 95 115
SR-04 603 448 155 405 365 240 110 146
L M
Model K (Width of rollers) | (Diameter of rollers) P P1 P2 S T \Y
(BREE) (RmER
SR-02A 35 19 35 102 51 51 14 68 54
SR-03 45 25 47 130 55 75 18 93 89
SR-04 60 25 52 150 75 75 23 105 128

autocrip 100



’ SRR SHBRRRILZE e
SELF-CENTERING STEADY RESTS

i

o EEA -

o ARREEI - EAHEE -

o TOJ/RIE - BENMLERER -

o HIE/K/ANEIE(ER) - SANTNEE -

o HiE : 12-245mm -

®  Precision Type.

® Sealed body design for low maintenance.

®  Programmable, suitable for automated assembly lines.

®  Equipped with water/air sprays for debris, coolant-proof, and chip-proof.
[ ]

Range: 12-245mm.

BfE=REn

Compressed Air Port

HRRRMRRIL
Proximity switch
mounting hole

Q@‘E o°
& — 9
=

©
©

@
@

C :
BEO G1/8

Lubrication Port

T
G
B C
RO
Unclamping Port FEEO, REEO
Clamping Port,Unclamping Port
M B ot SRR-03 G1/4
T 5 SRR-04 G3/8
x _ll 1
{ J ~ - BEEEED
L ] Compressed Air Port
é* SRR-03 G1/8
— — SRR-04 G1/4
JEP— M12 lifting hole Compressed Air Port
Subject to technical changes
BTG SPECIFICATIONS
’e . I ELE - e - S - - -
RIS JEEEE Chucking Dia BRAKFT BREARRE | BAERESH EOEE SEBE RiFES 58
. BA &/V | Max. clamping Max. roller Clamping Repeat clamping :
Model Eff. piston area Max. Min. force surface speed W DRSS accuracy accuracy weight Weight
cm? mm mm kN (kgf) M/min. bar mm mm kg kg
SRR-03 38.5 152 12 10.2(1040) 750 65 0.04 0.007 1000 39
SRR-04 63.5 245 30 15(1529) 760 60 0.05 0.007 1500 98
4N R~F DIMENSIONS
Model A B © D E F G (@]
SRR-03 427 307 120 290 262 135 95 115
SRR-04 603 448 155 405 365 240 110 146
L M
Model K (Width of rollers) = (Diameter of rollers) P P1 P2 S| T \Y
(RHEE) (RRER)
SRR-03 45 25 47 130 65 65 18 93 89
SRR-04 60 25 52 150 75 75 23 105 128

101 autocriP



A& mER R

SHEEFILER

SELF-CENTERING STEADY RESTS

SHELRIE P OZR -

KEE2 T - ([EAEE -
wIEK/mBEE (BE) - LA -
R~/ #88% -

& : 12-245mm -

Side-Mounted Hydraulic Cylinder Steady Rest.

Fully Sealed Body, Low Maintenance.

Optional Water/Air Jet for Chip Removal and Cooling Functionality.
Compact Size and Structure.

Range: 12-245 mm.

A
q)‘—)
Fe e o T
@ + //_H ;F’%r;&xfiﬁ?/}sﬁw%zkmountinghole
{ ; / 1 —~ f M12*1
* * =~ a
B — ﬁ%@_, I S e wlo LN N -
oy
N I
* @ © &
@ # BfE=rEn
o | Compressed Air Port
i + \7’( é'/é‘ HREO 6L/
{}@ @ (I Y Lubrication Port
v ‘7 T
0] F
B C G
ot
Clam?fi??foa Unclamping Port
é g REEO, KRR
Clamping Port,Unclamping Port
55 SRB-03 G1/4
SRB-04 G3/8
M BRE=mE0
Compressed Air Port
s SRB-03 G1/8
«| : SRB-04 G1/4
k:d = Bl 2
M12/B8E7] q
le C%ﬁ%rii% Air Port
RERRIELHIETR)
Subject to technical changes
M SPECIFICATIONS
e
RS TEEEE C$§i1gia BAKRE] | RREAREE SAEREN EIOMEE BEBE RIFES B8
) RK &\ Max. clamping Max. roller Clamping Repeat clamping ;
Model SB[ L] Max. Min. force surface speed Ml preeLite accuracy accuracy weight Weight
cm? mm mm kN (kgf) M/min. bar mm mm kg kg
SRB-03 38.5 152 12 10(1019) 850 55 0.04 0.007 1000 44
SRB-04 63.5 245 30 15(1529) 750 75 0.05 0.007 1500 115
4MEIRST DIMENSIONS
Model A B @ D = F G (0]
SRB-03 352 307 45 290 262 135 204.5 115
SRB-04 480 448 32 405 365 240 245 146
L M
Model K (Width of rollers) = (Diameter of rollers) P P1 P2 S] T \Y
(RHEE) (BHETR)
SRB-03 45 25 47 130 65 65 18 95 89
SRB-04 60 25 52 150 75 75 23 110 128

Autocrip 102



T T RRRI 23
’ GFS-IOO GRIP_{DING FORCﬁI;ESENSOR

EFS0EHETE BARWED 5.0 #ilf - BREFEENEEN -

Type-C REBF) : L& Type-C RE - EAREBMEE -

SRS  IRHERNEMBRE  ELELETESREVESHEE -

iE Andr0|d M i0S : fﬁﬁk\ﬁﬁﬁﬁ’]m Android &2 i0S &4t - GFS-100 &

BEAISEERE  EEmAERER

. TPEE% 2 B 3 TUR1E - RBEHWBEREK - GFS-100 ol B ES 2 N
3 3 TRME - 12 Eﬁﬂ’]ﬂﬁf@k

o JERE—RKIFTAHEAZR (GFS-100) FEE A3 F SRR 28 (GFS-100)
APP “REEHFA -

o i0S %% : Apple iOS 16.1.2 hk &Ll £ - Android Z#5 : Android 12 fRAE

PlE -

® Stable Bluetooth 5.0 Transmission: Equipped with the latest Bluetooth 5.0
technology, ensuring stability in wireless connections.

® Convenient Type-C Charging: Supports Type-C charging for added convenience
in recharging.

® High-Performance Lithium Battery: Provides a longer-lasting battery life,
eliminating concerns about power during work.

®  Supports Android and iOS: Whether you use Android or iOS systems, the GFS-
100 is perfectly compatible, offering a seamless experience.

® Configurable for 2-Jaw or 3-Jaw Operation: Based on your specific needs, the
GFS-100 can easily be configured for either 2-jaw or 3-jaw operation, providing
greater flexibility.

® Note: The first-generation gripping force sensor (GFS-100) and the second-
generation gripping force sensor (GFS-100) APP are not compatible and cannot
be used interchangeably.

® |OS System: Apple iOS 16.1.2,Android System: Android version 12.

aG

I @A - 52858 Short
g 4o N B 8 @B - FAIZE Middle
i @C - EIFE Long
BRIEE
Testing heads
E
F
RBIRAZIEHBIEF Subject to technical changes
BTG SPECIFICATIONS
BER RAKEFI(EM) REEE FesFEE HEFRRE
Max. Load (1-jaw) Max. Speed Gripping range
Model Accuracy
(kN) (r.p.m.) (mm)
GFS-100 100 6000 70,84 ,104 +2%
%
(TN MR~ DIMENSIONS
Qi: Model A B © D E F G H
H
t GFS-100 70 84 104 63 54 57 20 68

103 autocriP



REEN(—)

STANDARD SOFT BLANK JAW

SJ

|
1 NN F
T T 1
| |
S i
S-1
S-6 S-7 S-8 S2
- ‘ ‘ i
= S0 w w
3% | T[] |
w | |
BRI | |
[ [_ __ J o ‘
‘ e L e U
S-9 B8N sS4
LN
9I\§I:JETI DIMENSIONS IREBIRIEIE AR Subject to technical changes
ASR HrEagnEE ol ST —“MES
S1  S2 S3 S4 S5 S6 S7 S8 S9 S10 S11 S12 S-1 o ) 3 Jaw Weight
MODEL Serration Pitch Matching Chuck -
SJ-04 52 23 23 10 510 14 28 9 | 14 13 | M8 3 1.5x60° 3H-204, 3P-04 0.5
SJ-05 62 25 30 10 5 10 | 14 38 9 14 20 M8 35 1.5x60° 3H-205, 3L-205, 3P-05, 3M-05 0.8
SJ-06 73 31 36 12 515 20 38 |11 | 17 | 24 | M10 14 1.5x60° 3H-206, 3L-206, 3P-06, 3M-06 1.5
SJ-08 95 35 37 14 5 24 25| 46 13 19 22 M12 16 1.5x60° 3H-208, 3L-208, 3P-08, 3M-08 2.4
SJ-10 110 40 42 16 530 30| 50 13 19 27 M12 18 1.5x60° 3H-210, 3L-210, 3P-10, 3M-10 3.7
*Q | N 3H-12, 3H-212, 3L-212,
SJ12H | 130 50 50 21 5 | 40 | 30 60 |17 | 25 | 30 | M16 23 1.5%x60 3V-12, 3P-12, 3M-12 6.3
3H-12, 3H-212, 3L-212,
SJ12P | 130 | 50 50 18 |5 40 | 30 60 16 23 30 Mi14 23 1.5x60 3V-12, 3P-12, 3M-12 6.5
R 3H-15, 3H-215, 3H-18, 3L-15,
SJ-15H | 165 62 62 | 22 8 37 43 8 |21 32 37 M20 - 1.5x60 3P-215, 3P-218, 3V-15, 3V-18 12.6
" N 3H-15, 3H-215, 3H-18, 3L-15,
SJ-15P | 165 62 62 255 6 37 43 85 |21 32 | 37 | M20 | - 1.5x60 3P-215, 3P-218, 3V-15, 3V-18 12.5
N 3H-221, 3H-224, 3H-232,
SJ-21 180 | 64 | 70 25 9 40 | 60 80 |21 32 | 45 M20 K - 3.0x60 3P-221, 3P-224, 3V-21, 3V-24, 3V-32 15.8
*SJ-12H 73 12" JREAH BEEC# - (12"Chucks are originally equipped with SJ-12H.)
* 8J-15P % 15" ZKEEHMIACHE - (15"Chucks are originally equipped with SJ-15P.)
3U AKX PE 7 #Z %4 [T STANDARD SOFT JAW FOR 3U CHUCK
F ﬂE L L
N | |
1 | ] < oy
(6] | AR
ST+ & -
e BNy -
\ G < 1
] m)
m H Q JK
— LW/
S for 3U-203
ShEYR < DIMENSIONS (RERIABIEREI A Subject to technical changes
£l
A B c D E F G J K L
MODEL
3U-203 55 11 9.5 66 12 C3 7 26 7 15
3U-204 6.6 11 11 84 17 C4 11 32 9.5 20
3U-205 9 13.5 14 108 20 C4 12 41.5 13 24
3U-206 11 15 17 129 30 C6 20 50 17 30
5=
3U-208 13 17 20 156 34 C6 22 63 20.5 35 @
3U-210 15 20 22 187 39 C6 24 74 23 40 =
5]
3U-212 15 18 22 234 44 C6 29 72 23 40 =

=3

autocrip 104



SJ ZEEN ()
STANDARD SOFT BLANK JAW

2D/3D MR EE ZIEAES T\ Standard Soft Jaw for 2D/3D chuck

- — ?\L}“\T__
)

=

D

] | —
T B (T [T

I
G o G_|__|_H LMJ_j

@) _I_J H | T‘F_LT
for 04”"~06" for 08"~15"
o i st changes
MR ~F DIMENSIONS
RgE
VEREL A B © D E F G H J K L M N
3D-04 22 13 25 52 17.5 1 19 8 19 - 25 8 5.5
3D-05 27 15 25 56 20 13 23 8 23 - 30 8 5.5
3D-06 34 21 3 70 23 155 27 10 27 - 35 10 6
3D-08 44.5 29 35 84 19 13 31 12 18 26 40 16 7
3D-10 49.5 32 35 100 22 15 38 15 22 32 50 18 7
3D-12 54.5 36 35 120 26 18 42 17 24 36 60 20 7
3D-15 65 40 5 165 26 18 60 20 40 40 70 24 10

3E KgE Z1ZEXEAS T Standard Soft Jaw for 3E chuck

B

= ]
|| _

T | [
F R x @FQ 8’?ﬁﬂﬁgzI

a‘ A ~
— — T
oC S5 v&:
E
|—|
TR TAR AL TBEL
REBRIBIEL M ER TYPE A TYPE B
Subject to technical changes
MBI R~ DIMENSIONS
idl
A B © D E F G H J K L L1
MODEL
3E.05 AR 20 1 6.6 16.5 10 c5 25 22 29 34.5 39 -
B & 20 11 6.6 15 25.5 c5 25 30 29 425 39 69
= AR 23 11 7 19 13 c5 31 275 44 46 54 -
= 3E-06
i B & 23 11 6.6 18 36 C5 31 375 44 56 54 92
ez AR 30 14 9 25 15 c6 35 36 50 56 62 -
Bl 3E-08
o B & 30 14 9 24 41 c6 35 56 50 76 62 112
m AR 35 175 1 26.5 17.5 cs 40 40 60 64.5 70 -
3E-10
B & 35 175 1 26 475 c5 40 71.5 60 96 70 129

105 autocriP



FEEN (=)

STANDARD SOFT BLANK JAW

ad s’

3R R BE ZIZX#EA T Standard Soft Jaw for 3R chuck

REBRBE LR

Subject to technical changes

ShEY R <F DIMENSIONS

]
A B © D E F G H J K L M N P Q R $ T
MODEL
3R-08 29.5 13 3.5 82 20 14 27 12 55 30 5 14 26 90 2 40 16 7
3R-10 305 | 15 35 | 102 23 16 37 15 65 30 7 21 32 90 2 40 18 7

3W A EE Z1Z X4\ Standard Soft Jaw for 3W chuck

& &
+
[ag
L
M N M N
D D
oE L oE L
| | | T |
<9 J ‘ ‘ <o QJ ! ‘
F ‘ ‘ F ‘ ‘
bt 1 ‘
) (07! ] i 1 t T ‘ | 1
[ ] [ [ T 1 I T OL
o o P #) o oLH e
TREA AL RS TIBEY
TYPE A TYPE B
IREBHIBIEUAIMEF]  Subject to technical changes
9hNEIR T DIMENSIONS
itk
A B [ D E F G H J K L M N P Q R S
MODEL
AR 60 44 3.5 80 20 13 35 12.68 30 120 57 16 38 7.94 7 -
3W-08
B R 60 48 3.5 80 17 11 35 12.68 30 120 57 19 32 7.94 7 12.5 32
AR 64 49.5 35 100 20 13 40 19.03 30 120 70 17.8 | 444 12.7 7 -
3W-10
B R 64 50 3.5 100 17 11 40 19.03 30 120 70 22 36 12.7 7 17 36
AR 64 49.5 35 100 20 13 40 19.03 30 120 70 17.8 | 444 12.7 7 - =
3w-12 it
B R 64 50 3.5 100 17 11 40 19.03 30 120 70 22 36 12.7 7 17 36 #
3t

3w RFIERTIATHEECIREM, RETHREERRENAR, STREE,

*3W series Carbide gripper is optional. * The type of the gripper is selected according to the work-piece conditions.

Autocrip 106

\
/t

=3




TAEF
’ SJ iTA%DARrDr\S(()Fg B)LANK JAW

3MF BB Z1ZXE4 T\ Standard Soft Jaw for 3MF chuck

| K J
D
JE M
i |
m aF i
< =[]
[[1 LL E _ I
© LN N
G
REBIRIEIERARR
Subject to technical changes
9NEIR~F DIMENSIONS
Eihr =/MEL (kg)
MODEL A B C D E F G H J K L M N P 3 Jaw Weight
3MF-20 70 48 6 160 25 17 80 19.03 | 76.2 41.9 M16 50 12.7 11.5 10.4
o oh
AP g8 71224 T Standard Soft Jaw for AP chuck
| 51 |
S6 ST . S-8 .
5 . il
o | [
I 1
1 o [
bt ! H——
[ i
[ S-9 Serration S-4
S-12 /1 z3=100
REBIRIEERER
Subject to technical changes
ShEUR~F DIMENSIONS
B3 HrEEiiE EFREE =/MELE (kg)
S-1 S-2 S-3 S-4 S-5 S-6 S-7 S-8 S99 | S-10 | S-11 | S-12
MODEL Serration Pitch Matching Chuck 3 Jaw Weight
SJ-185 165 | 62 62 255 9 37 43 85 21 32 38  M20 3.0x60° AP-145, AP-185 12.2
SJ-275 180 | 64 70 1 255 9 40 60 80 21 32 45 | M20 3.0x60° AP-230, AP-275 16.1
SJ-320 210 | 75 80 30 9 40 60 110 26 38 55 | M24 3.0x60° AP-320, AP-375 24.7

o
%
£

\|
/A

o

\
/t

=3

107 autocrip



HJ EERE (—)

STANDARD HARDENED JAW

H-13

H-11

M
v

v

M

H-3

—

~ Serration
H-12 AN

(REBIBA BT Fid. 1

Subject to technical changes

MBS R <) DIMENSIONS

Rigk L ERE “MEE 2%E
3 Jaw

MODEL H1 H2| H3 H4 H5| H6 | H7 | H-8 | H9 | H-10 H-11 | H-12 | H-13 Se;ation e G Weight | Reference

itch kg Drawing

HJ-05 542 23 28 10 4 311 | 14 231 85 135 10 | M8 3.6 | 1.5x60° 3H-204, 3H-205 1 Fig.2

HJ-06 676 31 36 12 5 402 20 274 11 17 12 M10 9.3 | 1.5x60° 3H-206, 3P-06 1.7 Fig.2

HJ-08 861 35 51 14 5 335 25 184 13 19 12 M12 14 | 1.5x60° 3H-208, 3P-08 2 Fig.1

HJ-10 100 |40 54 16 | 5 395 30 225 13 | 19 | 13 Mi12| 15 | 1.5x60° 3H-210, 3P-10 3 Fig.1
. . 3H-12,3H-212, 3L-212, !

HJ-12H 1002 50 | 52 21 5 647 30 355 17 25 17 M16 31.5| 1.5x60 3V.12.3P-12, 3M-12 35 Fig.2

*HJ12P 1002 50 52 18 5 647 30 355 15 23 17 Mi4 315 15xe0c o 12:8H-212,3L-212, 3.6 Fig.2

3V-12,3P-12, 3M-12

L . | 3H-15, 3H-215, 3H-18, 3L-15 .
HJ-15H 1407/ 62 86 | 22 8 625 43 34 21 32 20 M20 43 | 1.5x60 3V-15, 3V-18,3P-215, 3P-218 9.6 Fig.1

3H-15, 3H-215, 3H-18, 3L-15

*| = o .
HJ-15P 1407 62 86 255 6 625 43 34 | 21 32 | 20 M20 43 | 1.5x60 3V-15, 3V-18,3P-215, 3P-218 9.5 Fig.1
3H-221, 3H-224, 3H-232,
HJ-21 1535 80| 90 25 9 /103.7 50 498 21 32 40 M20 56.5| 3.0x60°  3P-221, 3P-224, 3V-21, 14.3 Fig.2
3V-24, 3V-32
*HJ-12H ~ HJ-12P ~ HJ-15H ~ HJ-15P EEFARIATERS H-4 RS -
* For HJ-12H, HJ-12P, HJ-15H, HJ-15P, please confirm the dimension of H-4 before placing the order.
dh
3MF 1ZZERE T\
STANDARD HARDEN JAW FOR 3MF CHUCK
LA oA s
BTN SR
H-7 H-7
H-1
H-6 H-8 H-2
|
I [
— L
< H+10 I
T =
® ‘ I I
T ‘ =
3 2 19 ;
T = ‘ i
—— ) ===
:H H-15 H-9 H-4 =
H-12 4
IREBIRIEIE AR Subject to technical changes {q:
SMELR ST DIMENSIONS 5|
pith A oE =NEE kg =
H-1 H-2 H-3 H-4 H-5 H-6 H-7 H-8 H-9 | H-10 | H-11 | H-12 | H-13  H-14 H-15 h
Model Matching Chuck | 3 Jaw Weight
3MF-20 135 50 76 12.7 9 70 38.1 65 17 26 40 M16 40 32 19.03 3MF-20 6.7

Autocrip 108



RN (—
’ HJ STANDARD Hg\RDE?\lED JAW

AP 1ZZEf& 1L STANDARD HARDEN JAW FOR AP CHUCK

k@ VoY M e -

Clamping range

IREBIREIECLHI#ER Subject to technical changes

ShEY R T DIMENSIONS

BI5E Hreasfih HEAREE =MEL kg
H-1 | H2 H3  H4 H5  H6  H7 Al S

Model Serration Pitch Matching Chuck 3 Jaw Weight kg
HJ-145 191 55 73 255 9 92 | 38 30-125 420 3.0x60° AP-145 125
HJ-145 191 | 65 | 73 (265 9 92 38 35-165 460 3.0x60° AP-185 12,5
HJ-145 191 55 73 255 9 92 | 38 55-240 535 3.0x60° AP-230 12.5
HJ-145 191 | 65 | 73 (265 9 92 38 100-285 580 3.0x60° AP-275 125
HJ-320 243 75 82 30 9 | 110 | 50 105-300 658 3.0x60° AP-320 24.6
HJ-320 243 75 82 30 9 | 110 50 165-375 738 3.0x60° AP-375 24.6

o
%
£

\|
/A

o

\
/t

=3

109 autocriP



A T-NuT R

450 45°
_ _ 71.0_» 1 *2[
2~T8 N2~T8
e 15 |76 T4
T5 | T6 T10 | =
T4 =
1 T 1 m _}
o = TN2-12:45° =
L ] ||| B o | L LA mese] :
1 L1 1 Il 60° — 1 L1 1 | 60°
1 /N 11/
T1 ™ T1 T2
N1 N2
(< e | (O & ~A
— \ T ——\_T8
T8 T8
] 1o ]
TN3-21 TN4-221 T4
aT1 T4 oT1 T4
] ] = =T
i ] [T 7 i e
. d . il T 1T 607\
N2/ N7 = (1]
@15 T2 aT5 T2 T1 T2
TN3 TN4 TN5
REBRE R
Subject to technical changes
ShEYR~T DIMENSIONS
£l EI=P] =RE=2
TL | T2 T3 T4  T5 | T6 | T7 | T8 | T9 | Ti0 | T 3 Pcs Weight
Model Matching Chuck
kg
TN1-04 26 14 15 10 14 6 95 | M8 5 - - H-204, H-205, P-04, P-05, L-205, M-05, SP-304 0.06

H-206, P-06, L-206, 1L-06, M-06, 3N-06, AP-52,
TN1-06 36 17 185 12 20 8 11 | M10| 6 = = RAP-306, SP-306 0.15

H-208, P-08, L-208, 1L-08, M-08, 3N-08, 4T-08, AP-66,
TN1-08 465 20 205 14 25 105 12 M12 10 - - RAP-308, SP-308 0.27

H-210, P-10, L-210,1L-10, M-10, 3N-10, 4T-10,
TN1-10 @ 51 22 | 215 16 30 11 13 Mi12 | 11 - - AP-86, RAP-310, SP-310 0.36

*TN1-12 | 555 295 28 21 30 12 167 M16 13 - - | P-12,L-12,M-12 0.63

TN2-12 555 295 28 21 30 12 167 M14 13 18 45 P-12,L-12,M-12 0.63

*TN1-15 | 80 | 35 395 255 43 | 17 205 M20 14 - - 3’;'1'51'5{/_31';'183’ P-15, P-215,P-218, L-15, M-215, M-218, ) o3

TN2-15 80 35 395 255 43 17 (205 M20 14 22 6 \2['1'51'5\‘/_31';'188' P15, P-215, P-218, 115, M215, M218, 4
*TN1-212 56 295|235 21 30 12 | 12 M16 10 @ - - | H-12, H-212,L-212, V-12, 4T-15, AP-115 0.63

TN2-212 | 56 295 235 21 | 30 | 12 12 M14 10 18 4  H-12, H-212, L-212, V-12, 4T-15, AP-115 0.63
*TN1-215 | 80 | 35 | 34 255 43 17 19 M20 14 - -  3H-15, 4H-15, 3H-18, 4H-18, H-215, L-215, SP-316 1.32

TN2-215 | 80 35 34 255 43 17 19 M20 14 22 6 | 3H-15,4H-15, 3H-18, 4H-18, H-215, L-215, SP-316 1.29

TN3-21 | 46 |375 45 | 25 | 26 | - | 26 M20 - - | -  P-221,P-224, M-221, M-224, V-21, V-24, V-32, 1.84

TN4221 45 36 38 25 28 - 22 |M20 19 | - | - | H-221, H-224, H-232, SP-320, SP-324 0.63 %
TN5-185 | 32 | 35 30 255 - | - 19 M20 - - | - | AP-145, AP-185, AP-230, AP-275 0.15 g
TN5-320 36 42 39 30 | - | - 24 M24 - - -  AP-320,AP-375 0.24 &

=3

*TN1-12 & TN1-212 73 12" 3egE H BIECHE - (12" Chucks are originally equipped with TN1-12 & TN1-212.)
*TN1-15 & TN1-215 %3 15" Z58 L BREC & - (15" Chucks are originally equipped with TN1-15 & TN1-215.)

autocrip 110



FL DN

CHUCK ADAPTORS

Counter Bore Counter Bore Counter Bore
443705 4430
U $2443TRE T, U 8245088 7L U 240088 A
/
© = (I J/ 0=y, qu 4‘;
77 305(l =] 7°7'30 T
7°7'30"{Z>i * ]
o~ ol o~ | —
419l O T [aRNG] oo <
388 SIRS 88 i Q& 88 SIRSIES]
E Tap hole
E1 Screw hole E1 Tap hole aaane 4
" ==\ Lg# E1 L B#A
RIS B O B
Subject to technical changes
FL1 FL2 FL3
4MEIR < DIMENSIONS -
s el
Model A © D D1 D2 B El L U R " Weight
emark (ka)
FL3-04A24 | 110 85 70.6 63.513 826 8 28 M10 M10 3H-204, 2H-204 1.12
FL3-04A25 140 85 70.6 82.563 104.8 55 32 M10 M10 3H-204, 2H-204 2.28
FL1-05A24 - 110| 82.6 | 63.513 | 96 - | 15 |[M10 M6  3H-205, 2H-205, 3L-05, 2L-05, 3J-05, 2J-05 0.65
FL3-05A25 | 135 110 82.6 82.563 104.8 6 30 M10 M10 3H-205, 2H-205, 3L-05, 2L-05 1.99
15 2H-206, 4H-206, 3H-206, 3P-06, 2P-06, 3M-06, 2M-06,
FL1-06A25 - 1140/104.8| 82.563 | 116 @ - M10| M6 | 3E-06, 3D-06, 2D-06, 3N-06, 3J-06, 2J-06 0.96
*18 *3L-206, *2L-206
2H-206, 4H-206, 3H-206, 3L-206, 2L-206, 3P-06, 2P-06,
FL3-06A26 | 165 140 104.8 106.375 133.4 6 35 M10 M12 3M-06, 2M-06, 3E-06, 3D-06, 2D-06, 3N-06, 3J-06, 2-06 3.12
3H-208, 2H-208, 4H-208, 3P-08, 2P-08, 3M-08, 2M-08,
4T-08, 3E-08, 3D-08, 2D-08, 3N-08, 3J-08, 2J-08,
FL2-08A25 - 1170 133.4 82.563 104.8| - 23 |M12 M10 3R-08, 3W-08, 30-08 2.7
*3L-208, *2L-208,
17 2H-208, 4H-208, 3H-208, 3P-08, 2P-08, 3M-08, 2M-08, 4T-08,
FL1-08A26 - 170 133.4 106.375 150 @ - mM12 me | 3E-08, 3D-08, 2D-08, 3N-08, 3J-08, 2J-08, 3R-08, 3W-08, 3Q-08 1.55
*23 *3L-208, *2L-208
4H-10, 3P-10, 2P-10, 3M-10, 2M-10, 3H-12, 2H-12, 4H-12,
FL2-10A26 | - 220 1714 106375 1334 - | 25 M16 M12| -- 212 2L-12,3P-12,2P-12, 3M-12, 2M-12, 4T-10, 4T-12, 5.02

3E-10, 3D-10, 2D-10, 3N-10, 3J-10, 2J-10, 3R-10, 3Q-10,
3W-10, 3W-12

2H-210, 4H-10, 3H-210, 3L-210, 2L-210, 3P-10, 2P-10, 3M-10,
2M-10, 3H-12, 2H-12, 4H-12, 3L-212, 2L-12, 3P-12, 2P-12,
FLI-10A28 | - 2201714 130719 190 - 18 MI6 M8 Zom ' o e 10, 4D10, 2D-10, 3N-10 2.73

3J-10, 2J-10, 3R-10, 3Q-10, 3Q-12, 3W-10, 3W-12

3H-15, 3H-212, 2H-15, 4H-15, 3L-15, 2L-15, 3P-215, 2P-15,
FL2-15A-8 - 300 235 139.719 1714 - 33 M20 M16 3M-15, 2M-15, 4T-15, 3H-18, 4H-18, 3P-218 12.52

3H-15, 3H-212, 2H-15, 4H-15, 3L-15, 2L-15, 3P-215, 2P-15,
FL1-15A211 - 300 235 | 196.869 260 - | 22 M20 M10 3M-15, 2M-15, 4T-15, 3H-18, 4H-18, 3P-218 6.03

FL2-21A-8 - 380/330.2| 139.719 1714 - 33 M24 M16 3H-215, 3P-221, 3P-224 22.05
= 40 3H-215
it FL2-21A211 | - 380 330.2 196.869 | 235 - M24 | M20 16.28
s *27 *3P-221, *3P-224
£ FL1-21A215 | - 380 330.2 285.775 330.2| - | 27 M24 M12| 3H-215, 3H-18B, 3H-221, 3P-221, 3P-224 8.6
H
%& FL2-40A215 - 520 463.6 285.775 330.2| - 40 M24 M24| 3H-224 43.26
FL1-40A220 | - 520 463.6 412.775 463.6| - 27 M24 M12| 3H-224, 3H-232 13.55

“” SCERRNIZBAE RIS, MIREMHMAE, (Models with ™" mark are produced only by order.

1M auTtoGrIP



CT/CT-s Frmunrimzs
COOLANT COLLECTOR WITH STROKE CONTROL

o TIMfMTREREEMRMBMNEE(ERK) -
®  The proximity switch and linear Sensor are optional.

TI2MERREEE - (L ) The proximity switch is optional.

BE BEAE RS
Power supply Switching cap. Output tpye
DC 10/30V 100mA NPN

I %% Terminal Connections

+V OP1 oV
#* BROWN BLACK & BLUE
BERANKELRTEE )
linear Sensor installation drawing
+ +Vv
* * o +DC10~30V
HAH
OUTPUT op1
* an
LOAD
_ - pael’ ® OVDC
CT-S
0.0
{;ftﬂ A
o ]
w
= - Q
w| 1
F kil
R e + i
‘ e L
2| pro] 1N e
— CT-04/05: =
== \pPTaw
233 15 D | Y
(CT-04/05:926.5) c = =
(REBRI SRR CT-24/28: @60
Subject to‘techmfa\ changes ( @ ) %ﬂ(% ;%7](%@{@‘&1%
Coolant Collector Coolant Collector with Detecting Ring
SNEYR<T DIMENSIONS
E 2 Weight (kg) RS
Model A B c D E F G
CT CT-S Matching cyl.
CT-04/CT-04S 87 110 60 29 110 57 79 0.9 1.1 TH-428
CT-05/CT-05S(TH) 87 110 60 29 110 57 84 0.9 1.1 TH-A536
CT-05/CT-05S(TK) 87 110 60 29 110 57 84 0.9 1.1 TK-A528, TK-A533
CT-06/CT-06S 100 125 74 | 36 | 120 | 645 94 | 12 | 16 | JKCB43,TK-ABG, TK-B646, TK-CBas,
TR-646
CT-08/CT-08S 110 138 80 39 130 71 105 1.3 1.8 TK-B846, TK-A853, TK-B853, TR-853
CT-K10/CT-K10S 158 185 = 88 43 | 160 945 145 19 26 | JKAL068,TK-ALO7S, TK-ALO78,
TR-1075
CT-12/CT-12S 158 185 88 43 160 94.5 145 1.9 2.6 TK-A1287, TK-A1291, TR-1291 Eﬁ
CT-15/CT-15S 206 235 100 50 210 121 190 3.1 4.3 TK-A1511, TK-A1512,TK-A1512-35 (o
B
CT-21/CT-21S 226 255 100 50 210 131 210 3.3 4.6 TK-2114 —
CT-24/CT-24S 250 270 100 50 230 154 248 15 5.5 TK-2416, TK-2416L th
CT-28/CT-28S 310 330 100 50 260 181 305 4.3 7.2 TK-2820

AuTocrip 112



SKEETIEREIEKE
COOLANT COLLECTOR WITH STROKE CONTROL

A c1-sB/cT-SBS

o O MTEERESMERUEMMES(ER) -

o MAMBIKEEFEDA0MO60(EEmM) -

o O60HKEREREAMNCT-S08B ~ CT-S10B * CT-S128B -
®  The proximity switch and linear Sensor are optional.

®  Drain port @40 and @60 are optional product.

®  Drain port @60 only use to CT-S08B,CT-S10B,CT-S12B.

TIEMEREE - (E ) The proximity switch is optional.

BE BERE [fasysnties
Power supply Switching cap. Output tpye
DC 10/30V 100mA NPN

It #81% Terminal Connections

R B +V OP1 ov
BERAEELERRE N "
: ; i . #* BROWN 7 BLACK E BLUE
linear Sensor installation drawing
+ +v +DC10~30V
BV
OUTPUT oP1
° &
LOAD
—~ - « Y e OVDC

CT-SB

|l

=il
/

Q
QTN
Ll .
F1
|
L.
i
|

CT-SBS
T o T 11
2

i m|< A
@40 SIS
@ 40 HEKE A = e ® i
Drain port
AR i RN ] 5
5] ‘ la=
DX )| o =
I ] e
I 1 - PTl" /E%
ooz 2c 2 D
260 @33 CT-S12B:5 c
060 ikE
rain por -
R £XKE SXKEHEBHIR
SR Only use to Coolant Collector Coolant Collector with Detecting Ring

CT-S08B/CT-S10B/CT-S12B)

IREBRABIERORER]
Subject to technical changes

SMEY R <) DIMENSIONS

&= 2 Weight (kg) &R EEET
Model A B © D B F F1 F2 G Gl G2 H J
CT-SB | CT-SBS Matching cyl.
= CT-S05B/CT-S05BS 97 120 68.3 33.3 96 49.6 56 - 25 32 - 62 86 1.1 1.6 TS-539, TR-539
It
a3 CT-S08B/CT-S08BS 133 160 82 @ 40 130 49.6 56 63 25 32 52 82 | 130 0.9 1.4 TS-866
B
H CT-S10B/CT-S10BS 160 188 88 | 43 | 148 49.6 56 63 25 32 52 96 | 148 1.16 2.9 TS-1081
th
CT-S12B/CT-S12BS 205 234 87 435 171 49.6 56 63 25 32 52 ' 121 190 4.3 5.6 TS-1210

113 Autocrip



FV 3 s il B SHRE

STATIONARY CYLINDER LOCK VALVE FOR AIR STATIONARY CHUCK

Model:FV-01
2~M6
Screw hole ~ 20+0.2 ©
[ ‘ ‘ Ny
N NVNZNS L ] )
TN\ Y J(\L
‘ = o
: © ) N _F
| i TN =
T ull-Niil M s
Ai C iB 45+0.2 ‘ 3~@5
RC1/8" 70
Airtight detection port
REBAAL
A CB
Circuit drawing Model:FV-03
T
§~M6h | 600.2
crew hole
BEa7l = = 9
Dol O R e
N (] A Q
2 @l D
i HEinn N
null I »-0s | I g B
Al C B £ =2 68+0.2
105
RC1/4"
Airtight detection port
KREBIMIL

RE BB E R

Subject to technical changes

o
%
£

\|
/

\
/t

=3

Autocrip 114



DENRREFE

THE CALCULATION OF DRAW TUBE LENGTH

DRAW TUBE

Piston Cylinder Adaptor Chuck Adaptor
WE L ERER HEGAE R
c -
g Cylinder Draw Pipe -
M1 " K max. BT /ﬁlﬁi
—t 7 / j

SI 7/’/
ST

M3, M2

thZEHI 12 5% [B Detail of Draw Tube
L=A+G2max.+H-G1max.+M2+M3

RERABIELROEF]
Subject to technical changes

1T #R31% SPECIFICATIONS

HREEFRIE DGR Gl G2 o1 K E
H M3 | M2 M1 H1 L

Chuck type Cylinder type max. max. (f7) max. min.
3H-12 A8 TK-A1291 30 23 | 12 35 | 28 M100x2 35 95 883? M100x2 5 A+56+12
3H-15 All TK-A1512 30 33 12 | 45 33 M130x2 45 125 :gggg M130x2 5 A+81+12
3H-18 All TK-A1512 30 33 12 | 45 33 M130x2 45 125 gggg M130x2 5 A+81+12

TEGERAE WBERE G1 G2 o1 K E

H M3 | M2 M1 H1 L

Chuck type Cylinder type max. max. (f7) max. min.
3H-204 A4 TK-A528 12 145 10 25 315 M38x1.5 20 35 :8855 M38x1.5 5 A+59+10
3H-205 A4 TK-A533 12 17 10 25 16 M38x1.5 25 35 :8855 M45x1.5 5 A+46+10
3H206 A5 TKAG46 15 14 10 25 28 Mss2 20 50 O%° Meo 5 A+52+10
3H-208 | A6 TK-A853 20 165 12 @ 30 | 335 M60x2 20 | 55 882 M75x2 5 A+60+12
3H-210 A8 TK-A1075 25 21 12 35 285 M85x2 25 80 :882 M95x2 5 A+59.5+12
H212 ALl TKAIS12 30 23 12 45 32 M3k 30 125 000 wmuse 5 A+T0+12
3H-215 A8 TK-2114 35 33 17 45 | 44 M155x2 40 @ 145 :gggg M115x2 5 A+87+17
3H-215 All TK-2114 85 33 17 | 45 51 M155x2 40 | 145 :gggg M155x3 5 A+93+17
3H-215 Al15 TK-2114 35 33 17 45 38 M155x2 40 @ 145 :88;2 M155x3 5 A+81+17
3H-18B | A15 TK-2416 35 | 35 | 17 | 45 | 45 M180x3 40 | 170 gggg M175x3 5 A+90+17
3H-221 Al5 TK-2416 35 34 17 | 45 | 42 M180x3 40 | 170 :gggg M190x3 5 A+86+17
3224 A2 TK2820 51 35 17 45 42 M20x3 40 210 000 M225x3 5 A+T1+17
3H-232 A20 TK-2820 51 37 17 | 45 51 M220x3 45 | 230 :gggg M295x3 5 A+82+17

7 2H4H BI 2 MR REETERE 3H - 3H-2 B4 - (Note:To calculate the draw-tube length of 2H,4H as 3H,3H-2.)

o
%
£

\|
/A

o

\
/t

=3

115 autocrip



PEHIE R E
DRAW BAR THEECALCLTLA\'?I(ﬁ\InOF#ISRAW BAR LENGTH

Cylinder Adaptor Draw Pipe Chuck Adaptor
IR RLEER HIR /H@EE%W
L
] 4 1
K1 K2 = \ e %
|
{
gl ! 7
i 53 /i
c B S |
L gyhnder J_LI
EEGT J
R
G1 max. (3P-04,3P-05) | (G2)min. *
1
thEHI1185% 8 Detail of Draw Bar G2 min. (j::hgléd(
AR
L=A-G1max.-G2min.-4+C A
RBIRIE SRR
Subject to technical changes
$ 1T #5348 SPECIFICATIONS
FEEER T WEFT AT G1 G2
B C D K1 K2 L
Chuck type Cylinder type max. min.
3P-04 RK-75(N)/RA-130 30 30/20 | 30/25 45 3 M20x2.5/M16x2 M10x1.5 A-22/A-32
3P-05 RK-75(N)/RA-130 40 30/20 = 30/25 45 -6 M20x2.5/M16x2 M12x1.75 A-13/A-23
3P-06 RK-100(N)/RA-170 40 30/25 | 30/25 45 81.5 M20x2.5/M16x2 M16x2 A-101/A-106
3P-08 RK-125(N)/RA-220 40 40/30 | 35/30 50 106 M24x3/M20x2.5 M20x2.5 A-120/A-130
3P-10 RK-125(N)/RA-220 40 40/30 = 35/30 50 133 M24x3/M20x2.5 M20x2.5 A-147/A-157
3P-12 RK-150(N)/RA-270 40 40/35 | 45/35 55 133 M30x3.5/M24x3 M20x2.5 A-152/A-157
3P-215 RK-200(N)/RH-200 60 55 55 70 69 M36x4 M30x3.5 A-88
3P-218 RK-200(N)/RH-200 60 55 55 70 57 M36x4 M30x3.5 A-76
3P-221 RK-200(N)/RH-200 60 55 55 70 62 M36x4 M30x3.5 A-81
3P-224 RK-200(N)/RH-200 60 55 55 70 62 M36x4 M30x3.5 A-81
& 2P BB 7R REETENR 3P 23 - (Note:To calculate the draw-bar length of 2P as 3P.)
JEERIT, LWEFIAT G1 G2
B @ D K1 K2 L
Chuck type Cylinder type max. min.
3M-05 RK-75(N) 40 30 30 45 -2 M20x2.5 M12x1.75 A-17
3M-06 RK-100(N) 40 30 30 45 81.5 M20x2.5 M16x2 A-101
3M-08 RK-125(N) 40 40 35 50 106 M24x3.0 M20x2.5 A-120
3M-10 RK-150(N) 40 40 35 50 135 M24x3.0 M20x2.5 A-148
3M-12 RK-150(N) 50 40 45 55 40 M30x3.5 M24x3 A-59

oM B AR REFTEE 3M 23 - (Note:To calculate the draw-bar length of 2M as 3M.)

o
%
£

\|
/

\
/t

=3

AuTocrip 116



NOTE




NOTE




AUILGp

AIFEEmmE, SQBREERBREEZEN, IEEENRSITE.
We reserve the right to modify the specifictions without prior notice.

(=
GIE=

®

%= o ) S8, HIX 42 o\ —
1ZEEFRAR P HFR S
AUTOGRIP MACHINERY CO, LTD.
513006 EZ1CRAIH/OMPEAEE IR —ER 22058
No. 229, Sec. |, Mingsheng Rd,, Puxin Township,
Changhua County 513006, Taiwan

T +886-4-822-8719

F +886-4-823-5719

E sales@autogrip.com.tw
www.autogrip.com.tw V.2025.05TW



	AUTOGRIP_Cover_20250515_1
	Foreword_20250718TW
	AUTOGRIP_01動力夾頭
	AUTOGRIP_02特殊動力夾頭
	AUTOGRIP_03橡膠筒夾
	AUTOGRIP_04立置式夾頭
	AUTOGRIP_05轉盤用氣壓夾頭
	AUTOGRIP_06手動夾頭
	AUTOGRIP_07動力定心虎鉗
	AUTOGRIP_08展刀搪溝頭
	AUTOGRIP_09同步夾具
	AUTOGRIP_10空油壓迴轉缸
	AUTOGRIP_11迴轉分流閥迴轉接頭
	AUTOGRIP_12油壓中心架
	AUTOGRIP_13零附件與其他
	AUTOGRIP_Cover_2025.0515_2

